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33121180/506 wpjwt Gustut swihdwy uwpp (nnundbwnp) Q<L hwwn 4200 80 336.0
33141110/509 Uhpwlwuybp QL hwn 48.7 30000 1461.0
33141110/510 Uppwlwwbp 9L hwn 97 1000 97.0
33141111/501 Yuysnit uwybinwuhtip q< hwiwn 103 6000 618.0
33141115/501 pdoluljwl pwdpwly L hwn 172 5000 860.0
33141129/506 nhuwly G hwwn 5.976 50000 298.8
33141129/507 nhuwly 9< hwtn 85 1000 85.0
33141131/503 Uppniu Yepgubnt dwwwybl wdpwlubipny (dgnun) G huwin 270 100 27.0
33141136/523 Ywpbwnbpubp Q< hwin 39.2 1000 39.2
33141136/524 Ywpbwnbpubp < hiutn 38.8 6000 232.8
33141136/525 Ywpbnbpubp G huun 37.8 15000 567.0
33141136/526 Ywpbnbpubp G hwwn 40.9 15000 613.5
33141136/530 wpbnbpubp q< hwn 8000 70 560.0
33141138/501 Yulynyw 9L hwtn 105 1000 105.0
33141138/502 Lyuutynyu 9L hwuwn 293 200 58.6
33141142/509 ubipwplhstbp QL hwn 12.5 30000 375.0
33141142/511 Ubpuplhstbp q< hwn 8.75 20000 175.0
33141142/512 ubipwpypsubp < hwiwn 9.3 100000 930.0
33141142/513 ubpwplhsubp < hwin 14 60000 840.0
33141142/514 ubipwpyhsubp a< huwwn 15.5 100000 1550.0
33141142/515 ubipwplypsubin < hwwn 20.75 60000 1245.0
33141142/516 ubpwplhsubip SL huun 22.7 30000 681.0
33141142/517 ubipwplhsubip 9L huwitn 58.9 30000 1767.0
33141142/518 Ubpwplhstbp qc huwin 68.9 500 345
33141144/510 pdolwlwl wubnubp YL hiutn 13.85 30000 415.5
33141144/511 pdoluljwls wubnubp qc huwtn 20 300 6.0
33141144/512 ndoluiljuwls wubnubp qc hutn 6.5 10000 65.0
33141144/513 pdolpwlwt wubnubp G< hwn 4.7 40000 188.0
33141156/502 pdolwlwl dbnungubip 9L hwin 8.7498 400000 3499.9
33141158/502 Yppwpnidwlwl sbnungutp < qnyg 75 20000 1500.0
33141160/502 ununghby 250,0 <L huiwn 189.84 500 94.9
33141178/508 nbnbph Ubpwpldwl hwdwlwpgbp q< huitn 38.9 50000 1945.0
33141178/509 nbnbiph tbpwpydwu hwdwlwngbp G huwwn 130 40000 5200.0
33141211/687 pdolwlwl wy gnpdhplibp — Wwpwqubp Q< huin 95 15000 1425.0
33141410/501 wnwpw wiwhgh hwdwp unbphy, 1004 < huwin 39.984 500 20.0
33141410/502 inwipw wiwihgh hwdwp unbiphy, 1004; L hwn 42 8000 336.0
33161220/504 sujwinb) thuwjnk QL hwn 3.2 4000 12.8
33191260/501 wpjwu thnfulbpwpydwl sunwinhyubn 9L hwtn 13900 30 417.0
33191310/527 thnpéwunpubp L hwin 16.8 120000 2016.0
33191310/528 thnpdwlinpubip < hwin 16.8 50000 840.0
33191310/529 thnpawlinpubp 9L hwwn 25 10000 250.0
33191310/530 \hnpawlinplbp q< hutn 39 25000 975.0
33191310/531 thnp&wunpubp < huin 38 2000 76.0
33191650/504 paolwlwl hwgnwin QL huwin 135 15000 2025.0
33191650/505 pdolwlwl hugnuwn L huwin 6 7000 42.0
33691423/501 (wpnpwnp wgnwynitp (nbwgkuntbn) puqdwlndwynbbln Q< (gl 2600 100 260.0
38411200/509 obipdwswihbin QL huun 600 50 30.0
38431720/513 wpenghubiph dwpulwiubp L hwtn 1.59 80000 127.2
38431720/514 YwpenghYubph dwjpwlwubp < hwin 0.63 350000 220.5
24311530/503 gnwdlih whpopuhn QL thup 599 300 179.7
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31651200/506 E4G dwwull pnue qL huwn 639 600 383.4
33141110/511 yhpwlwwbp 9L huwn 850 3000 2550.0
33141111/502 Luysnit uwybinwhubp < hwin 140 15000 2100.0
33141111/503 Yusntt uwybinwhtbp QL hwn 83 1000 83.0
33141118/506 whiabinnghljubp qc huwin 9.3 60000 558.0
33141118/507 wGtinnghljubin Q< hwtn 4.1 70000 287.0
33141143/501 uywph$hlywinnp G< hun 3.33 30000 99,9
33141144/514 pdoljuiljwt wubnubp g£ huwin 1130 1000 1130.0
33141144/515 pdoljwlw wubnubp Q< huin 6800 300 2040.0
33141144/516 pdolwlwy wubnubp Q< hwiwn 10000 200 2000.0
33141144/517 pdoljwlwt wubnubp G< hwin 7500 25 187.5
33141144/518 pdolwlwl wubnubp 9L huin 4750 800 3800.0
33141144/520 pdoliwlwl wubnubp QL huin 1500 1000 1500.0
33141144/525 pdauwliwt wubnubp QL hwin 1500 300 450.0
33141144/526 pdoljwlwt wubnubp G huwwn 1500 300 450.0
33141144/527 pdalulput wubinubp 9< huitn 250 1000 250.0
33141144/528 pdalwiluwt wubinubp G huin 400 50 20.0
33141211/710 pdolwlwi wy gnpdhpubip — wWwpwgqubn QL hwwn 1960 15000 29400.0
33141211/711 pdolulyut wy| gnpdhplbp — wwpwgwbp < hwtn 1345 1000 1345.0
33141211/712 pdolwiliwt wy gnpdhputin — wwpwgubn QL hwwn 6280 96 602.9
33141211/713 pdolwiljwi wy) gnpdhpubin — wWwpwguubnp QL hwn 1680 200 336.0
33141211/714 pdolwlwt wy| gnpdhplibip — wwpwguiibp < hwin 200000 72 14400.0
33141211/715 pdoluljwl wy gnpdhplbip — wwpwgwbp QL hwin 100000 300 30000.0
33141211/716 pdolwiluit wy) gnpdhpubip — Wwpwguwbp QL hwn 6800 500 3400.0
33141211/717 pdoljwiljwt wy gnpdhpubip — wwpwguwbp L hwin 8800 500 4400.0
33141211/719 pdaoljwljwt wy gnpdhplibp — wwpwgutibp QL hwn 425 3000 1275.0
33141211/721 pdoluiluit wyl gnpdhpubin — Wwpwgubp Q< hwn 179.41 5000 897.1
33141211/722 pdoljwlwi wy| gnpdhpubip — wWwpwgwbp q< hwun 67 15000 1005.0
33141211/729 pdoluljwl wy gnpdhplbp — wwpwgwubp 9< hwn 3300 100 330.0
33141211/730 pdobwlwl wy gnpdhplibp — wwpwgwubp Q<L hwn 102000 1 102.0
33141211/731 pdolwlwl wy gnpdhplbp — wwpwgwubp 94 hwn 160000 3 480.0
33141211/732 pdolwlwl wy gnpdhplubp — wwpwgwlbp L huwn 99.48 4000 397.9
33141211/733 pcalulywt wyy gnpshpubp — wwpwgwbn 9L hwuwn 696 100 69.6
33141211/734 paolwlywl wy) gnpdhpubp — wwpwgwbp 9L huwwn 104 1000 104.0
33191310/532 thnpdwunpubp TG huwin 11.5 40000 460.0
33191310/533 thnpéwunpubp G< huin 14 18000 252.0

Ubinhwupphu MediScreen 10/Utigh dbig guniyngh, wpjub,

uwhunwlnigh, pH, Yawmnuubiph, nbuwlwpwp Yanh,
33211110/502 Uhmnhmubnh, lEYynghwnutiph, nmn[nph'uhq_b'uh - phmnmph.uh Q< huwin 24732 40 98.9

npnpdwt phue unphwibinh hwdwpwédnt
33631241/504 pinphbipuhnhuh [nwdnyR QL Lhnp 1350 800 1080.0
33631241/505 pinphbpuhnhp (dnyp Q< |hunp 150 400 460.0
33631250/504 tpwuny d08ax08, v03ab16, v03az01 QL |hup 1100 700 770.0
33631250/505 Lpwung d08ax08, v03ab16, v03az01 G< hwp 970 1000 970.0
33691167/501 {wpnpwinnp odwunuly — ghunwlwl Unyetbn QL hwn 15000 120 1800.0
33691167/502 {wpnpwinhp edwtinwly — ghnwlwi Unyabp q<L hwn 12000 180 2160.0
33791300/522 |WpnpWnnp wywyjw wpnwnputip 9L hwwn 14200 500 7100.0
38431491/501 wuywlt whinphh puu a<l huwin 33.7 10000 337.0
39821100/501 dwppnn Uiniebip winuhwlh hhdph pw qc huwitn 100 30 3.0
44423600/503 Lugsnit dwwywgbutbp Q< hwn 3.28 20000 65.6
18311190/503 huwwpe qc hwitn 447 100 44.7
33141114/501 pdohulwl pwugh$ (Jwpyuw) jwijunygniup' 90ud L dbwnp 68 2000 136.0
33141121/503 Uhpwpnidwlwu phibp < hwwn 315 30 9.5
33141121/504 Uppwpnidwlwl phibp L hwn 315 30 9.5
33141121/505 Uppwpnidwlwu phjbp q< hwn 315 100 31.5
33141121/506 Uppwpnidwlw phjbp 9L hwiwn 315 100 31.5
33141121/507 Uhnwpnidwlwt phjbp q< hwn 140 30 42
33141121/508 Uhpwpnidwipwl phbp < huwin 140 30 4.2
33141121/509 Uhpwpnudwlw plhjbp 9L hwitn 140 300 42.0
33141121/510 Yhpwpnidwlwl phjbp QL huwin 140 300 42.0
33141121/511 Yhpwpnidwlwl phibp G< hutn 140 50 7.0
33141121/512 Yhpwpnidwlwl phbp QL hwin 20 0.0
33141121/513 Uhpwpnidwliwl phijap q< huwtn 20 0.0
33141121/514 Uhpwpnidwljwl phykp q< huwn 30 0.0
33141136/534 Ywpbwnbpubp 9 huin 50 0.0
33141157/502 ugtnwpubp — uwypbip G huwin 23 200 4.6
33141157/503 Uptnwplibip — uwjpbp q< huwun 3 200 4.6
33141173/501 dtigh wnnwpwyubp 9L huitn 102 700 71.4
33141173/502 dbgh wmnwpwlubp SL hwn 32 500 16.0
33141182/503 Uppwithnntp (qpbuwdubp) ac huiw 20 0.0
33141182/504 Uppuithnntp (npbwdtpn) q< huwiwn 15 0.0
33141182/505 Uphpwithnnbip (npbuwdubip) L hwiwn 15 0.0
33141182/506 Uhpwihnnbip (npblwdlbn) q< huwwn 18000 20 360.0
33141184/501 dhpwthnnbph (npbuwdubph) wwpwquitibn < hww 4000 50 200.0
33141202/504 Pdoluljuls HELwnpnqubp 9< huwwn 2 0.0
33141211/735 pdolwljw wy) gnpdhpubp — Wwpwgwubp L hwtn 550 30 16.5
33141211/736 pd2lwlwl wyj| ghpdhplibp — wwpwgwlbp G< hwn 550 30 16.5
33141211/737 L huwin 5000 10 50.0

pdoljulwt wy| gnpéhpliip — Wwpwgquiutp
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33141211/738 pdolwljwt wy| gnpdhplbn — wwpwgwbp 9L hww 10500 5 52.5
33141211/739 pdoywlwt wy) gnpdhplbip — wwpwqwbbn 9L hwn 11000 2 22.0
33141211/740 pdolwlwts wy gnpdhpubip = wwpwqubp 9< hwin 45000 1 45.0
33141211/741 pdolwiliwl wy gnpdhpubip — wwpwgwutp L hwin 1790 20 35.8
33141211/742 pdalwlwy wy gnpdhpubip = wwpwgwbp 9L hwin 1795 30 53.9
33141211/743 pdolwlwts wy) gnpdhplbip — wwpwgwlbin 9L hwwn 5 0.0
33141211/744 pdolwlwt wy gnpdhpubip — wwpwawbip Q< hwiwn 1300 5 6.5
33141211/745 pdolywluits wy) gnpdhplibip — wwpugqwbip QL hww 800 150 120.0
33141211/746 pdolwlwl wy gnpdhpubp — wwpwgwubp GL hwn 64920 24 1558.1
33141211/747 pdolwlwl wy gnpdhpubp — wwpwgwubp Q< hwwn 54960 24 1319.0
33141211/785 pdoljwlwl wy gnpdhpubip — wwpwawbn 9L hwun 49920 24 1198.1
33141211/786 pdoywljwt wy) gnpdhpubip — wwpwgwbn QL hwin 45000 24 1080.0
33141211/787 pdalwlwl wj gnpdhpubp — wwpwgwbp 94 hwn 3 0.0
33141211/788 pdoywlwl wy) gnpdhpubip — wwpwgwubp < hwin 200 0.0
33141211/789 pdolwlwl wy gnpdhpubp — wwpwgwubp q<L hwwn 100 0.0
33141211/790 pd2ywlwl wy gnpdhplbip — wwpwqwubp L hwuwn 6960 100 696.0
33141212/512 pdolwlwl wy Wnyabp G< hwwn 30 0.0
33141221/501 Uhpwithnnbp (npbuwdubiph) pwqdwyndwynubiun ywpwqubnp G< Inwlwqy 1992.43 40 79.7
33141223/545 pdaywljwl wy| gnpdhpubin — wwpwquutp pugqdundwynubun ag Inwhwigy 3500 100 350.0
33171400/521 Ubpwybunwuwgdwu nhdwy Q< hwwn 1 0.0
33171400/522 Ubpwlbunuwuwgdwi nhdwly a< hwiwn 1 0.0
33171400/523 Ubpwlbtinuuwgdwt nhdwy < hwwn 1 0.0
33171500/503 bwhnnipw) wuqguugdwy hwdwpwdniutp Yud thwpbptbn 9< huwin 2706 10 27.1
33791300/523 |WpnpWWNND wwlyjw wpnwnpuip 9L huwin 6 15000 90.0
33791300/524 |wpnpuwwnng wwwljw wpnwnpwp QL huin 1.26 100000 126.0
39298110/501 wiyilyl upwljubp S< huwiwn 142 5000 710.0
33141136/536 Ywpbnbpubp QL hiwn 167 20 3.3
33141136/537 Ywphbwnbpubp L hwwn 167 20 3.3
33141136/538 Ywphwnbputp L hwn 167 20 3.3
33141136/539 Ywpbnbpubp GL hutn 167 150 25.1
33141136/540 Luwpbinkpubp q< hwn 167 200 33.4
33141136/541 Luwpbnbplbp 9< hwwn 167 180 30.1
33141136/542 Ywpbwnbpubp L hwwn 167 20 3.34
33141136/561 Lwpbinbipubp q< hwtn 202 20 4.0
33141183/518 gnunbp QL hwwn 65 20 1.3
33141183/519 gnunbp L hwtn 65 30 1.95
33141183/520 gnunbp G hwin 65 30 1.95
33141183/522 gnunbp L hwn 65 30 1.95
33141183/524 qnlintin q< hwwn 65 30 1.95
33141183/525 gnuntn < hwwn 65 40 2.6
33141183/526 qnuntip qL huwiwn 65 ] 0.3
33141202/505 Pdolwlw kilinphntp q< hwun 29.5 6000 177.0
33141207/522 Punnpwghwih wwpwquwbp 9L hwiwn 10 0.0
33141207/523 huwnnipwghwih wwpwgwubp QL huwn 10 0.0
33141207/524 buwnnipwghwih wwpwguwbp &< huwin 20 0.0
33141207/525 hlinnipwghwih wwpwgquwiibp G< huwun 1000 10 10.0
33141207/526 hnnipwghwih wwpwgubp QL huwin 1000 20 20.0
33141207/527 blunnipwghwih wwpwgqwlbp G< huwwn 1000 20 20.0
33141207/528 hlnnipwghwih wwpwqubp G< hwwn 1000 20 20.0
33141207/529 huwnnipwghwih wwpwgwbp L huin 1000 20 20.0
33141207/530 hunnipwghwih wwpwgqwubp Q< huwn 1000 50 50.0
33141207/531 hlunnipwighuh wwpwgwbp < husn 1000 100 100.0
33141207/532 hlnnipwghwih wwpwgwlbp QL hwn 1000 10 10.0
33141211/791 peoliwlwl w)) ganpdhpubip — wwpwguwubp QL hwwn 15000 30 450.0
33141211/792 pdolpwljwt wy gnpdhplbp — wwpwquilibp <L hwn 18000 50 900.0
33141211/793 pdolwliwl w)) gnpshpubip — Wwpwgqutn 9L hwn 549 500 274.5
33141211/794 pdolwiluwt wy gnpdhpubp — wwpwgqwubp L huwitn 549 1000 549.0
33141211/795 pdolwiliwl wy gnpdhpubip — wWwpwguwubn e hwn 549 500 274.5
33151220/501 pRUwstwht nhdwly L hwtn 260 500 130.0
33151220/504 ppUwalwhl nhdwl qc huwtn 350 100 35.0
33151220/505 pRYwalwhl nhuwly a< huwwn 480 100 48.0
33171400/527 UbpulbUnuwliwguwl nhuwly < hwwn 7000 2 14.0
33171400/528 UbpulEunwiwgdwl nhiwy q< hwwn 7000 2 14.0
33171400/529 Ubpwlbunwuwgdwu nhiwy 4L hwwn 7000 20 140.0
37411330/502 nhdwlubp, jwunbp Gud suswwlwl unnnjwlubp 9L hwin 800 10 8.0
37411330/503 nhdwlubip, jwunbp Gwd stuswnwlwy unqndulubp 9L hwwn 800 10 8.0
37411330/504 nthdwljubip, jwunbp Gud uswnwlwy unnnywlubip aL hwwn 800 10 8.0
15991700/501 $hnph pounpe q< Uhingpud 6000 2 12.0
24311530/504 opwdlih whpopuhn q< |htnp 600 10 6.0
24311570/502 phpwd gnip < {hinp 799.9 500 400.0
31651200/502 E4S dwwwybl pninp < huin 1490 15 22.4
33141136/501 Ywphunbpubp 9L hun 70 100 7.0
33141136/511 Ywpbwbpubp S< huin 70 100 7.0
33141136/512 Yuwpbwnbpubp L huin 158 250 39.5
33141136/514 Ywpbnbpubp S huin 7999 100 799.9
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33141136/515 Ywpbwnbipubip AL hwin 11800 100 1180.0
33141144/501 pdoluiljwils wubnubp q< huwiwn 1.9 2000 23.8
33141144/502 pdowlwt wubinubin G< hwn 5200 100 520.0
33141202/502 Pdolwlwl bjaywnpnntbn QL hwn 33 2000 66.0
33141211/502 pdolwlwl wy gnpdhpubp — wwpwgubp L hwn 540 400 216.0
33141211/503 pdoywlwl wy) gnpdhpubip = wwpwquibp QL huwin 12000 10 120.0
33141211/504 pdolwlyw wy gnpdhplbip — wwpwquubip G< hww 390 500 195.0
33141211/505 pdolwlwb wy gnpdhpubip — wWwpwgwbp QL hwwn 127 5000 635.0
33141211/506 pdolwlwl w) gnpdhpubip — wwpwgwbnp QL hwn 48 5000 240.0
33141211/507 pdolwlwt wy gnpdhpubip — wwpwgwbp L hwwn 45 1000 45.0
33141211/508 pdolwlwl wy) gnpdhpubip — wwpwqwlbp b hwwn 45 3000 135.0
33141211/509 pdoliwlwl w) gnpdhpubp — wwpwqubp 9L hwwn 858 200 171.6
33141211/510 pdaljwilput wy gnpdhpubip — wwpwquikp Q< hunn 858 200 171.6
33141211/511 pdolwiljwi w)) gnpdhpubip — wwpwgqubn QL huwin 858 200 171.6
33141211/512 pdolwliwl wy gnpdhpubip — wWwpwgquitibp QL huin 60000 2 120.0
33141211/515 pdolwliwl wy gnpdhpubip — wwpwquiubp QL hwin 24.51428571 7000 171.6
33141211/516 pdolwiljw wy gnpdhpubip — wWwpwgquwubn L hwwn 12.98 7000 90.9
33141211/517 pdolwlyuts wy| gnpdhplibp — wwpwgwbp 9L huwn 150 1000 150.0
33141211/518 pdoljwlw wy gnpdhplbp — wwpwgubnp QL hwwn 2300 2 4.6
33141211/520 pdlwlw wy gnpdhpubp — wwpwgqulbp 9L hwin 370 6000 2220.0
33141211/521 ndoljwljwt wy) gnpdhpubip — Wwpwgwbp QL hwtn 124 15000 1860.0
33141211/522 pdalwlwl wy| gnpdhplibp — wwpwgqwlbp QL hwwn 35000 30 1050.0
33141211/523 pdolywlwls wy gnpdhplibip — wwpwgwtibp q< hww 1270 800 1016.0
33191310/504 thnpéwunpubn <L hwwn 350 6000 2100.0
33191310/505 thnpdwunputbp q< hwn 32 7000 224.0
33191310/506 thnpdwunpubp G huwin 66 2100 138.6
33191310/507 thnpdwunpubp QL huwwn 98 500 49.0
33691176/584 wyj nhinnpuwgp G< huin 70 100 7.0
33791300/504 jwipnpwnnn wwwljw wpunwnpup QL hwin 98 16000 1568.0
33791300/505 jwpnpuwinng wwwljw wpnwnpuup QL hwwn 4 12000 48.0
33791300/512 JWRNPWNRP Wywljw wpnwnputip Q<L huuwn 1.8996 5000 9.498
35111320/501 dhgniluyht — nwhnnghwlwl wwanuwinye)wl hwgnwn q< hwtn 177000 3 531.0
38431710/502 uw[angﬂmbn G hwin 14 8000 112.0
38431710/503 wenghyubip Q<L hwn 16899 6 101.4
38431710/505 Ywpnghlubp 4L hwwn 16899 6 101.4
38431720/501 Ywpnghlubph dwypwlwjubp L hww 13.625 42240 575.5
38431720/502 Yuwrenghlubiph dwipulwiubp 9< huwitn 12.375 42240 522.7
38431720/504 Lwpenghbubph dwjpwlwbp 9L huwin 0.8 30000 24.0
38431720/507 Ywpenghlubph dwjpwlwiubp < huin 0.45 25000 1.3
38431720/508 Lwpnghliubiph duwypwiwubp QL huwin 84 19200 1612.8
33131220/501 winwduwpnidwlwu niubhubp L hwwn 1430 3 4.3
33141143/502 ulwphbhlywwnp 9 huun 80 1000 80.0
33141157/504 Uptnwpibip — uwpbp q< hwin 990 2 2.0
33141182/507 uUppuithnntip (npbwdutin) q< huwin 8800 15 132.0
33141182/508 Uppwihnntp (npbuwdutp) 9 huwiw 8800 15 132.0
33141202/506 Pdolwlyw Eyllyinpnnutn q< hwiwn 5000 2 10.0
33141211/527 pdalwljw wy gnpdhpubip — wwpwguwlbp 9L hwwn 6900 200 1380.0
33141211/528 pdoljwlwt wyp gnpdhpubip — wwpwqwbp <L huwtn 8900 100 890.0
33141211/530 pdolwlwl wy gnpdhpubp — wwpwgubn L hww 468 5 2.3
33141211/531 pdolwlwl wy gnpdhpubp — wwpwguibip G< hunn 62 2000 124.0
33141211/532 pdolwluts wy| gnpdhpubip — wwpwgwubip YL huwin 12000 1 12.0
33191310/509 thnpdwunpubp S< huin 2.52 2500 6.3
33191310/510 thnpawnpubn G hiin 27 600 16.2
33191310/51 thnpdwlnpubp L hwn 23.84 100000 2384.0
33191312/501 wuywl Ynpw 9L huin 2500 3 7.5
33191312/502 wwywl Ynjpu qc hwin 3000 3 9.0
33191312/503 wwwll Lnjpus 9l hwin 5000 3 15.0
33191316/501 wiyws swiphs dbugnipw’ hnlidws Yghyny L hwin 2256 4 9.0
33191318/501 wwwl swihhs pudwly pudbbswdging 1004 < huwn 500 2 1.0
33191318/502 wwwlb swihhs pudwl pudubsunpng 1004 a< huwwn 648 2 1.3
33191318/503 wuywlb swihhs pwdwl pwdubswihng 1004 Q< huwin 900 2 1.8
33191318/504 wuywly swithhy pwdwl pwdtbiswiging 1004 QL hwiwn 1400 2 2.8
33191318/505 wwwlb swithhs pudwly pwdubiswihng 100d) L huwin 1600 2 3.2
33191318/506 wiywll swihhs pwdwl pwdubzwing 1004] Q<L hiuwn 1800 2 3.6
33191318/507 wwywlb swihhs pwdwly pudubswihng 1000 9L hiuwn 1500 g 3.0
33191560501 Juswnniajwl gniguiuwinpbip (Zuswnnypjwt tjuwndwdp ac — 2300 30 69.0
hulnnnueinit hpwlwuwglbgnt hwdwn)
33691160/691 phupwlwl wqrwunipbp (nbwgbnutbp) SGL hwwn 1399 20 28.0
33791300/513 {wpnpwinhp wwywljw wpmnwnputip HE hwin 1200 2 2.4
33791300/514 (wpnpwinnp wuwljw wpnwpuup 9L hwun 2000 2 4.0
33791300/515 (wpnpuwnnp wujwlyw wpnwnpulp 9L huwn 1440 4 5.8
38311100/501 Eyblunpintiuhl pbinplip — wwpuwqubp q< huitn 29500 2 59.0
44163112/502 npBuwdwiht hwdwYwpgbp q< huitn 33000 20 660.0
< 0.0
ququjht uynebkp
24111160/501 pd7iulwls htinnily wgnin ac ul 470000 9 4230000.0
33691141/502 prYwdhu v03an01 QL hiuwn 2300 3000 6900000.0
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33611130/504 wnpnwhu a03ba01, s01fa01 G huiwn 69.9 1500 104.9
33611170/501 npnunwytpht a03ad02 GL huwin 375 1500 56.3
33611170/502 npninwdtipht a03ad02 9 hwwn 6 500 3.0
33611310/507 huunyht 4L hwtn 4999.8 10 50.0
33611320/501 Ubipwpldwl htunyht (nidynn) al0ab Gl huwtn 5199 60 ne
33611320/502 ubipwpldwl htunypt (nddnn) alOab Q<L hwin 5499 30 165.0
33611472/504 Shgbny, dndhljubp q< huwin 90 400 36.0
33611472/505 Hhgbpny, dndhlubp 9L hwwn 87 200 17.4
33621160/501 wihbwhwwpnuwpent b02aadl q< hwwn 800 200 160.0
33621360/506 gihgbiphy inipunpwin (Upnpngihgbipht) c01da02, c05ae01 9L hwn 799.8 200 160.0
33621390/501 whnnwpnt c01bd01 Q< hwn 196 150 29.4
33621720/501 phunwpnini c07ab07 < hwn 9 400 3.6
33621740/501 wdjnnhwht c08call 9L hwin 5.6 800 4.5
33621761/501 wgbiinpjuwihghjwpeent, dwqubghnwdh hhnpopuhr BOTAC30 q< hwin 10.5 10000 105.0
33631180/501 wpdwpeh unypwhwahtd06ball 9L hwin 1080 20 21.6
33631370/501 winpwynippnud pbighjwin m03ac04 QL hwn 270 150 40.5
33631410/501 winyniphtng m04aa01 S< hwn 44 20000 880.0
33631430/505 nbpulitnnwpndbl (nbipultninupn$buh npndbunwdng MOTAET7 q< hunn 187 2400 448.8
33631430/506 nbpulibtnnypndbt (nbpulinnupndbuh npndbunwdng MOTAET? &< hunn 129.9 300 39.0
33651111/501 wiiopuhghipt j01ca04 o< hww 168 500 84.0
33651112/503 wiopuhgh|pti+pjuwyni-jwiwppnt j01cr02 QL hwin 1480 5 7.4
33651125/501 wghppndhght j01fal0, sOlaal6 QL hwwn 258 500 129.0
33651163/502 wilhlwghu d06ax12, j01gb06, sO1aa2l < hwn 1520 700 1064.0
33661115/503 pruughywluypt n01bbOT q< hwn 229 70 16.0
33661142/501 wihuiphuywnhiht n062a09 q< hwin 9 300 2.7
33661151/501 wghlnyhp d06bb03, j05ab01, s01ad03 QL hwn 14.6 40000 584.0
33661151/502 wghlnyhp d06bbA3, j05ab01, s01ad03 9L hwwn 2499 100 249.9
nbipuwdbipwgnl a0lac02, c05aa09, d07ab19, d07xb05, d10aal3,
— hg2ab0§6 r01ad03, 5018.301 ,05.501%%]], s02ba06, 523£agld A hic ol o e e
nbpuwdbipwgnu a0lac02, c05aa09, d07ab19, d07xb05, di0aal3,
SaeeHsa/N hg?abﬂl r01ad03, s01ba01 bssmcbﬂi, SOEEaUG, 503hagld 5 ¥ oy 8 o 18400
nbpuwdbpwgnl a0lac02, c05aa09, d07ab19, d07xb05, di0aal3,
eRAIE0 h02ab02, r01ad03, s01ba01, s01cbO1, s02ba06, s03ba0t < husn >4 300 i
33671114/501 widhundhihu r03dads 9L hwin 35.72 1500 53.6
33671125/502 wdppopun| (wdppopunih hpnpnpinphn)  ROSCBO6, ROSCB G hutn 15 300 4.5
33671130/501 nhpEuhhnnwdhl d04aa32, d04aa32 qc hwn 21.9 20000 438.0
33691121/501 wpbunwgn)p02cal3 Gl hwin 171 30 5.1
33691136/504 uinphnidh pnphin al2ca0l, b05ch01, b05xa03 ac hww 213.9 1000 213.9
33691136/505 Lwwnphnuwh pinphn al2ca01, b05¢b01, b05xa03 < hwwn 220.9 4000 883.6
33691136/506 uwwppnuh pinphr al2ca01, b05cb01, b05xa03 QL huwwn 226.8 90000 20412.0
33691136/507 uwwphnuwh pinppry a12ca01, b05cb01, b05xa03 a< hwwn 1300 2000 2600.0
33691136/508 uwwnphnwdh pinphry al2ca01, b05cb01, b05xa03 QL huwn 237.8 4000 951.2
33691136/509 uwwphnuwh pinphn al2ca01, b05cb01, b05xa03 QL huwin 1400 5000 7000.0
33691136/510 Uwinphnwh pinphry al2ca0l, b05cb01, b05xa03 o< huitn 530 200 106.0
33691138/504 gniyng b05¢cx01, v04ca02, v06dcO1 Q< hwn 237.9 9000 2411
33691138/505 gyniyng b05cx01, v04ca02, v06dcO1 G< hwn 231.9 2000 463.8
33691176/569 w)| nbnnpw)p L huuwn 29980 150 4497.0
33691176/571 wy| nhnnpwjp 9 huwin 4200 500 2100.0
33691176/572 wj| nbnnpwjp G< hwtn 88.8 1000 88.8
33691176/573 w)) nbnnpwp 9 hwin 2200 700 1540.0
33691176/574 wy| nhnnpwp q< hwwn 516 2000 1032.0
33691176/575 w| nhnnpw)p q< hwin 227.8 1500 341.7
33691198/503 wnbdbnpnupl - A16AAD2 < hwtn 1899 5000 9495.0
33691727/501 nbipunpng (nbpuwnpngh dntinhhnpwin) VO6DCO1, BOSCXO1 Q<L hwin 36.22 10000 362.2
33691731/501 nhnudtiyunhn AQ7BCOS G< huin 149 2100 312.9
33691811/501 phuwbinnhy 9< hwin 36 700 25.2
33141166/501 hbiwwipht < hwwn 974 1000 974.0
33611100/501 odtiupwgn| a02bc01 L huwiun 9.2 70000 644.0
33611120/503 Swdninhnhu A02BAD3 S< huiwn 368 3000 1104.0
33611140/503 ounwlutitipnt a04aa0l Q< hwn 270 30000 8100.0
33611140/504 ounwuutitipnt a04aa01 G huin 649 2000 1298.0
33611160/501 dtwnnlynupwidhn a03fa01 < huwin 40.98 1500 61.5
33611420/507 Lwighnwih gyniyntiwin al2aa03, dl1ax03 9L hwtn 87 10000 870.0
33611420/508 Lwighnuwih gyniyntiwin al2aa03, difax03 G< huwitn 129 10000 1290.0
33611470/502 wwlnnwpwgn] 9L hwin 33.21 2000 66.4
33611470/503 Wtinnupwgn| 9L hwiun 1290 800 1032.0
33621120/501 Fuopuwwwpphu b01ab05 L hwitn 1069 13000 13897.0
33621230/503 $njwppnt b03bb01 9L hwwn 5 1500 7.5
33621590/501 $nipnubidhn c03call SL huwin 22.286 20000 445.7
33621610/504 Jwhtnng a06ad16, b0Sbc01, b05cx04, r05cb16 L hwin 512.7 1500 769.1
wnbnuhgnint a07ea0l, c05aa04, d07aa03, d07xa02, h02ab06,
HPIRISR r01ad02, s01ba04, s01cb02, s02ba03, s03ba02 i, huin 497 120000 i
33651118/501 ghibuphwpunts j01dd04 L huin 103 8000 824.0
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unypwibipopuwgn| + tiphdbpnwphu j01ee01, j01ee02, j01ee05,

33651131/504 i01ee07 q< hwiwn 13.2 40000 528.0
33651131/507 ;Jor;t:t;;dbpogumqn[ + nphdbpnwphd [01ee01, j01eel2, j01ee05, ac huitn 567 50 98.4
33651134/502 ghwpndiopuwghts j01ma02, s01ae03, s02aal5, s03aa07 9L hwwn 27 10000 270.0
33651138/501 |-n$jopuwights j01mal2, s01ae05 Q<L hwwn 79.8 5000 399.0
33651140/502 ghibtiwhu j01de01 9L hwwn 399.8 10000 3998.0
33651143/504 dbpnwubd j01dh02 q< hwwn 2132 200 426.4
33651143/506 dbpnubutad j01dh02 QL hwin 1970 1000 1970.0
33651150/503 $yniintiwgn) d0facl5, j02ac0l, j02ac01 q< hwwn 3390 500 1695.0
33651150/504 $byniyntiwign) d01act5, j02ac01, j02ac0] < hwun 54 30000 1620.0
33651150/505 byniyntiwign| d01ac15, j02ac01, j02ac01 9L hwwn 99 8000 792.0
33651318/503 Lhubignihn G< hwtn 4500 400 1800.0
33661112/501 wpnwndn| n0lax10 <L hwun 444.9 1500 667.4
33661114/502 $tUwnwupy n01ah01, n02ab03 9L hwwn 450 400 180.0
33661116/505 {hnnluwyht c01bb01, c05ad01, d04ab01, n0Tbb02, r02ad02, ac i 720 200 144.0
s01ha07, s02da01
33661116/506 hnnluwihts c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac Wiiih 9694.9 20 53.9
s01ha07, s02da01
33661116/507 thnnluwiht c01bb01, c05ad01, d04ab01, n01bb02, r02ad02, ac hutn 94.8 200 19.0
s01ha07, s02da01
33661116/508 Lrér::l.;;u;h't:oc;::g?h c05ad01, d04ab01, n01bb02, r02ad02, ac _ 7.8 3500 132.3
33661120/504 dnp$hu n02aall G< huwin 450 400 180.0
33661120/505 Unpdhu n02aa01 G< huwin 6000 150 900.0
33661122/506 wwpwghnwdng n02be01 9L huwin 2200 1000 2200.0
33661122/507 wwpwgbnuidng n02be0 QL huin 6.78 2500 17.0
33661127/501 dtinwdhgn) (Ubwnwidhgnih wnphnid) NO2BBO2 G< huin 34.7 10000 347.0
33661135/503 dhnwgnjwy n05cd08 QL hwn 511 300 153.3
33661185/501 Ytunpnpwl (Yawnpnpwlh tnpndbunwidng < huin 89 1500 133.5
33691112/505 Ubwpnuprwgng a0lab17, d06bx01, g01af01, j01xd01, p01ab01 Q< hwin 212 2500 530.0
33691112/506 dbinpnupnugng a0labl7, dO6bx01, g01af01, j01xd01, pOtabOl g huin 5.02 800 4.0
33691112/508 Ubtinpnupnwgng a0labl7, d06bx01, g01af01, j01xd01, pOlabO1 9L huuwn 1600 150 240.0
33691135/502 uwwnphnwh phljwppnuwn b05xa02 q< hwin 960 20000 19200.0
33691145/501 :i;::ggghmﬁh unybwin a06ad04, al2cc02, b05xa05, ditax05, ac huitn 20.8 2000 89 4
33691154/501 hnhbpunv08ab02 L hwin 8700 700 6090.0
33691176/576 wy| nbnnpuyp < hwuwn 6888.8 400 2755.5
33691176/577 wy nbnnpwp G hn 333.8 5000 1669.0
33691176/578 wyj| nEnnpw)p QL huwin 77 1000 77.0
33691176/579 wy)| nbnnpwp 4L huin 147.85 2000 295.7
33691176/580 w)| nbnnpuwip G< huwwn 1388.8 1500 2083.2
33691176/581 w)| nhnnpw)p 9L hwin 1857 150 278.6
33691176/582 wy| nbnnpw)p S< huun 89 2100 186.9
33691202/502 Euinwdghjwn - BO2BX01 SL humn 154 15000 2310.0
33691202/503 Euinwdghiwen - BO2BXO1 < hwwn 34.8 6000 208.8
33691226/507 wpwdwnn) (npwdwnnih hhnpnpinphn)-NO2AX02 < hwwn 17 100 1.7
33691226/508 wnpwidwnn (wpwdwnnih hhpnpinphn)-NO2AX02 Q< hun 56.7 200 1.3
33691226/509 wnpwiwnn| (inpwdwnnih hhnpnpinphn)-NO2AX02 S< hwin 154 1500 231.0
33621290/503 bwhtubi$phu (wpbuw|hu) a0lad01, b02bc09, cOlcald, rOlaal4, q¢ il 94 1000 94.0
r03aall, s01eall
33621330/502 Uplpwdhn,  RO7ABO2 qc huwin 152 50 7.6
33621360/502 q(hatiph) bnlipwnpuwin (Upwpngihglinh) c01da02, c05ae01 QL hwn 660 100 66.0
33621730/501 Ubpuwwwdhy c08da0i L huwin 88 50 4.4
33651124/501 ghbinwghnhd j01dd02 G huun 2997 100 299.7
33651126/505 gbuwnwdhght d06ax07, j01gh03, s01aall, s02aal4, s03aa06 L huin 67 3000 201.0
33651137/501 Juwlilnuhght a072a09, j01xa01 qc huwtn 1420 800 1136.0
33651224/501 Ubpnnpbpuwn 101ba01, 104ax03 L huun 90 100 9.0
33651224/502 Ubpnupbpuwn 101ba01, 104ax03 YL huuwn 3990 100 398.0
33651224/503 Ubpnupbpuwwn 101ba01, 104ax03 L huwin 13999.8 600 8399.9
33651224/504 Ubpnupbpuwwn 101ba01, 104ax03 <L huwn 22500 100 2250.0
33651227/502 nwlwppwghu 101ax04 <L hwin 2000 0.0
33651230/503 nopunnniphghts 101db01 QL hwwn 13397 200 2679.4
33651230/504 nopunnniphght 101db01 L hwin 5724 500 2862.0
33651231/501 funnuynghn 101cb01 q< huwwn 3150 ];?'?[? ng{?o
33651232/501 Yuwppnwwwnpu 101xa02 q< hwwn 800 0.0
33651238/502 ghlynbnudwidhn 101aal1 G< hwin 1000 0.0
33651238/503 ghlyin$nubwdpn 101aa01 QL huiwn 2000 0.0
33651238/505 ghyn$nudwdhn 101aaldl 9L hwun 700 0.0
33651239/502 ghwunwpwpht 101be01 < hwn 1999.8 300 599.9
33651239/503 ghwwpwpht 101bc01 L huiwn 4190 2000 8380.0
33651242/501 nngtitnwputy 101ed02 3L huwiwn 300 0.0
33651243/501 wwlhinwputs 101cd01 9L hww 14899.8 500 7449.9
33651245/502 qhdghwnuwipht 101bc05 L hwiwn 6588.8 600 3953.3
33651248/503 opuwhuywinfiu 101xa03 o huww 17499.9 800 13999.9
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33651248/504 oputwlhuywwnhu [01xa03 Q< hwn 3160 100 316.0
33651251/501 uighnuh $njhtiwnl0fcbOl o< hwin 1000 0.0
33651256/502 ghlnuwnphts 104ad01, sD1xalB < huwin 60999.9 40 2440.0
33651312/502 $ynipwpwpht < hwiwn 28300 20 566.0
33661115/502 prwyhywlwght n01bb01 9L hwiwn 319.8 70 22.4
33661115/504 pruyhywlwght n01bb01 L hwwn 1999.8 50 100,0
33661136/503 nhwgbiwwd n05ba0l L hwwn 101 200 20.2
nbpuwdbpwgnt a0lac02, c05aa09, d07ab19, d07xb05, di0aal3,
i h02ab02, r01ad03, s01ba01, s01cbOt, 025206, s03ba0 * e i b4
33661159/501 U ESphl (PhuhESphub hhnpnpinphry) CO1CA06 q< huwin 77 150 1.6
33691133/502 ubpwnplydw gnip v07ab 9< hwin 22.9 6000 137.4
33691176/505 wj| nbnnpwyp < hwin 15297 100 1529.7
33691176/506 wy)] nbnnpuwip L hwn 25900 90 2331.0
33691176/507 w)| nbnhpwip 9L hwwn 262.5 800 210.0
33691176/508 w)| nbnnpuw)p < hwiwn 200 0.0
33691176/509 wj| nbnnpwp 9L hwwn 45000 350 15750.0
33691176/510 w) nbnnpuw)p QL hwin 600 1000 600.0
33691176/514 wy| nbnhpw)p 9L hwin 6840 500 3420.0
33691176/515 wj| nbnnpwp < hwwn 8460 600 5076.0
33691176/516 wy| nbinnpuwjp q< hwun 13299 800 10639.2
33691280/501 ghuwwinpt 1 dg/d) 50 ] q< huwu 6800 450 3060.0
33691500/504 npwubpuwdwpent a< hwn 375 1500 562.5
33691500/505 npwlbpuwdwppnt 9L hwiwn 1899 3000 5697.0
33611180/502 |wlnnyng a06adil L hww 1690 1500 2535.0
33611390/502 whphnopuht allha02 4L hww 29.9 1000 29.9
33611474/502 Uhutnplynt q< huwtn 28 1000 28.0
33611474/503 Uhdbwnhlynt SL huitn 1370 150 205.5
33621100/502 hbwwpht bwwnphnd b01ab01, c05ba03, s01xal4 < huin 3395 30 101.9
33621510/501 Yuwwunnwnhy c09aa01 Q< huwin 2.5 2000 5.0
33621620/502 uwhpntnjuilinnt c03da01 QL hwn 47.94 1000 47.9
hhnpnbnpuihgnt a0lac03, a07ea02, c05aa01, d07aa02, d07xa01,
33621640/501 h02ab09. s01ba02. s baOl L huin 216 10 2.2
33621690/503 Lwnubnhing c07ag02 QL hwin 13.2 1170 15.4
33621760/503 Fuwjwuyphy c09aa02 QL hwtn 4.4 100 0.4
33621777/502 MHhiwpopuwpl 9L hwin 157.1 252 39.6
33621783/501 Unpunpbwihl nwpupuwn Q< hwin 1790 100 179.0
33631200/501 pinpwdbbuhyny, dbphpnipwghy DO6C < hwwn 239.7 120 28.8
33631230/501 :tér;:rlnanh jnn d0Bag02, d09aa09, di1ac06, gOlax1l, r02aal5, ac i 2900 70 203.0
33631290/501 hpniypnbu c0lebl6, g02¢c01, mO1ae01, m02aal3 < hwwn 4.1 1000 4.1
33631290/502 hpniypn$bit c01ebl6, g02¢c01, mO0lae01, m02aal3 QL hwwn 649 50 32.5
33631310/502 nhlyn$hliwl dilaxi8, m01ab05, m02aal5, s01bc03 < bt 114 150 17.1
33631310/503 nhlndbuwl difaxi8, m01ab05, m02aal5, s01bc03 9< hwwn 69 200 13.8
33631360/501 unipuwdbipnupnd m03ab01 a< hwin 189.9 200 38.0
33631460/501 "Hapuyjwpbung DO3AX03,RO1AX10 9L huwin 3500 50 175.0
Phnwdbpwgnt (phnwdbpwgnuh thypnughnliun),
R Yinnphdwgny, ghunwdhght (gbbunwdhghtp unybwin) DO7CCOI ¥ L 2 10 e
33642220/505 dbphiwpbnupgnint d07aa01, d10aa02, h02ab04 9L huwin 7900 10 79.0
33642250/503 dnuwnbniywun L huwin 247.91 150 37.2
33651117/501 ghi$hpupd j01dd08 G< huin 333.9 1000 333.9
33651128/501 upwnpn$nipwtiininih j01xe01 GL huin 4 200 0.8
33651134/503 ghwpn$jopuwight j01ma02, s01ae03, s02aals5, s03aal7 QL huitn 374.9 300 112.5
33651134/504 ghwpn$iopuwght j01ma02, s01ae03, s02aalS, s03aa07 Qs hwn 414.8 30 12.4
33651148/501 Yinunphdwign) a0lab18, d01ac01, g01af02 G< huin 576 10 5.8
33651148/502 Yininphdwgn) aOlab18, d0lac01, g01af02 QL huwiwn 192 10 1.9
33651195/501 dwpnnt unpdwy pintungnpnypt j06ba < huin 48000 50 2400.0
33651280/503 uhdnipopuwghn AO7AX03 4L huwin 89.5 1000 89.5
33651280/505 Uh$nipopuwghn AO7AX03 S< huwn 1999 70 139.9
33661110/501 han$nipuili n01ab06 o huitn 78000 10 780.0
33661122/501 wwpwgbnwiding n02be01 < huwin 26.4 400 10.6
33661122/504 wwpwgbinwdng n02be01 S< huin 360 50 18.0
33661128/501 Luwppwdwgbwhu n03af0l 9 hwin 20 1000 20.0
33661137/501 (npugbivywyd n05ba06 QL hwtn 14 100 1.4
33661147/502 ubinuwhguh n07aal1, s01eb06 Q< hwin 49.8 150 75
33661149/501 wgbnwgnwihns0lecOt < hwin 76.2 300 22.9
33661170/502 Tpnlwiht (wpnluhth hinpnpirphn) NOTBAO2 < huwtn 550 100 55.0
33661181/502 Ulingjnipuwl a< hwin 48000 15 720.0
33661183/502 ghuwwnpwyniphnd (ghuwwnpwyniphnd plighjwn) < hwn 960 100 96.0
33671113/503 uwpnunwdng r03ac02 9< hwin 1190 15 17.9
33671116/505 puhndbitnwgnihu r01aa07, rO1ab06, s01ga03 QL hwun 468 100 46.8
33671124/502 innppwihght, nbpuwdbpwgnu  SO1CAOL <L hwwn 1009 50 50.5
hupwwnpnwhnwh ppndhn (huypwnpnwhnuh ppndhnh
33671139/501 ntunbbnpuuen), ambnng (Samnkpogh hhnpnanndhn q< hwn 4026 10 40.3
33691112/507 dtunpnupnugng a0labl7, d06bx01, g01af0l, j01xd01, p01ab01 a< huwin 480 20 9.6
33691176/517 wj| nannpw)p L hwn 1537 40 61.5
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33691176/559 wy| nbnnpwp 9L hwn 864 20 17.3
33691176/583 wy)| nnnpwjp 9< hwn 7050 560 3948.0
33691191/503 $nubnjhwhnubp (Fubughw))-EHL AO5C < hwin 590 280 165.2
33691198/504 wnbbwpnupl - AT6AAD2 G< hwn 462 1500 693.0
33691199/501 uhihtwpht - AOSBAO3 q< hwn 20.63 5000 103.2
33691201/501 Yuwwnywfuninh ngbpnipd - NOSCMO9 pnuwlw dwquiwl ntin 9< hwwn 125 100 12.5
33691212/502 nhnudht, hiuwbiphnhu-COSCAS3 9L hwwn 74.5 120 8.9
33691223/501 uwnpnujwphtih Yuyghnudwlwl wr- BOIABOG L hwn 874.9 100 87.5
33691223/502 uwnpnuwwphuh Ywighnwiwlwu wn- BO1ABO6 Q< huwun 1254.9 100 125.5
33691231/503 Yuyghnuwh Ywppntwwn, funjbliwighbtinn) A12AX 9L hwin 45.05 2000 90.1
33691236/502 E‘;E::‘gg“‘"h“ FRInTHBPANRY AhRIpR, REGACHS, o< huith 107 500 535
33691600/501 |-binhpwghnwd q< hwin 109 1000 109.0
33691730/503 tplwpeh hhnpopuprh nbipunpwiwihu hwdwhp BO3AC q< huitn 668 200 133.6
33611110/505 wynwihthnwih hhnpopuhn + Jwqubighnwh hhrpopuhn a02aa04 LUz i 40 0.0
a02ab01 g04bx01

33611150/502 wwuypbwinht a09%a EUs huwiin 500 0.0
33611170/503 npnunwytipht a03ad02 EUS huwin 800 0.0
33611320/503 ubpwpldwl puunyhl (midynn) alOab [a huwin 50 0.0
33611350/503 wulnpphuwppent g01ad03, sO1xal5, aligall EUs huwin 1000 0.0
33611360/503 funblyugh$bpng allcc EUns hwin 300 0.0
33611370/502 phwdht allda0l EUA hwtn 300 0.0
33611470/504 Wwtinnwpuign) i) hwin 500 0.0
33611470/505 wwlnnwpuign EUS huwtn 3000 0.0
33611472/502 Fhglipng, dndhlubp EUS hwin 400 0.0
33611472/506 Hhglipny, dndhlubp EUS hwin 400 0.0
33621240/503 ghwunlnpuywdhu bO3ba01 EUS hwin 500 0.0
33621250/504 nbpunpui b05aa05 EUs hww 250 0.0
33621340/502 Unbtht bwwinphnwh phugnwn NO6BCO1 EUs hun 100 0.0
33621620/505 uihpnuniuljinnt c03da0l EUS hwiwn 100 0.0
33621690/504 Ywpybinhing c07ag02 EUS huwin 1280 0.0
33631150/502 ghulh opupn DO2AB [m¥a) hin 10 0.0
33631310/504 nhlnbhuwy dilaxl8, mO1ab05, m02aal5, s01bc03 EUS huwtn 100 0.0
33631350/502 wpwtiynipnuhnuih ppndhn m03ac06 [=¥1a) hwwn 75 0.0
33631430/501 ntipulinnupnbl (Rhpulbinnwpnbuh wpndbnwdny) MOTAET? EUs hwwn 300 0.0
33642220/506 Ubphiwpbnupgnint d07aa01, d10aa02, h02ab04 EUR huwiwn 500 0.0
33642220/507 dbphpypbnuhgninu d07aa01, d10aa02, h02ab04 EUS huwin 10 0.0
33651134/505 ahwnnbiopulight j01ma02, s01ae03, s02aal5, s03aa07 EUS huin 10000 0.0
33651149/502 upunwwht a07aa02, dO1aa0l, g01aa01 EUn hwin 6000 0.0
33651163/503 wihlwght d06ax12, j01gb06, s01aa2i EUS huuwn 700 0.0
33651195/503 dwpnnt unpdw) hintungjnpnypt j06ba EUS hiuwn 70 0.0
33651229/503 nwniunnniphght 101db02 EUS huwin 200 0.0
33651237/502 Uhtlphuwnpl 101ca02 EUS huwin 1000 0.0
33651256/503 ghlynuwnppu 104ad01, sO1xal8 Eun hwn 40 0.0
33651256/504 ghlynuwnpht 104ad01, s01xal8 [xka) huwtn 1000 0.0
33651312/503 bynunpwpwpht [=¥7a) hwin 50 0.0
33651318/502 Lhutignihn [=¥1a) hwin 400 0.0
33661111/504 Ybwnwdhu n01ax03 EUs huwn 30 0.0
33661113/504 phnujbunuw n01af03, n05¢cald EUS huin 100 0.0
33661120/501 Unp$ht n02aall EUS huin 500 0.0
33661120/506 dnpbh n02aa0! EUS huwin 150 0.0
33661122/505 wwpwgblnwiing n02be01 EUs huwin 1500 0.0
33661128/502 Yuppwdwgbwhl n03af01 EUS huwiwn 1000 0.0
33661151/503 wghlyndpp d06bb03, j05ab01, s01ad03 EUS huwtn 20000 0.0
33661151/504 wghlynihp d06bb03, j05ab01, s01ad03 EUS huwtn 50 0.0
33661161/501 ojwbiquwht -NOSAHO3 [x01a] hwn 120 0.0
33671113/504 uwipnunwing r03ac02 EUS hwn 400 0.0
33671116/506 puhndbnwgniht r01aa07, r01ab06, s01ga03 [x¥7a) hwin 10 0.0
33671125/503 wiippepuny (wdppopunth hhnpnpinphry) - RO5CB06, ROSCB tuns hwun 600 0.0
33691112/509 dbinpnuhrwgny a0labl7, d06bx01, g01af01, j01xdO1, p01ab01 EUB hwwn 1500 0.0
33691112/510 dtnpnupnwgn| a0lab17, d06bx01, g01af01, j01xd01, p01abO1l EUs huwn 30 0.0
33691136/511 Lwunphnuwih pinppry al2ca01, b05¢b01, b05xa03 EUs hwin 4000 0.0
33691136/512 Lwwnphnup pinppn al2ca0l, b05cb01, b05xa03 EUS huitn 50 0.0
33691154/502 hnhbpunv08ab02 EUS hn 500 0.0
33691176/587 wij| nbnnpuwjp EUs hwin 100 0.0
33691176/588 wy)| nbnnpuwp EUS hwin 2500 0.0
33691176/589 wy| nbnnpwp [x(81a) hwin 1120 0.0
33691176/590 w)| nbnnpuwp EUS hwwn 10 0.0
33691176/591 wy| nbnnpw)p EUS hutn 10 0.0
33691176/592 w)| nbnnpuwjp EUG huiwn 150 0.0
33691176/593 wy| nbnnpuyp [(81a} hwn 5 0.0
33691176/594 w)| nhnnpw)p EUS hwn 4 0.0
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33691176/595 wy| nhnnpw)p EUS hwn 100 0.0
33691176/596 wy| nhnnpw)p EUS huwn 100 0.0
33691176/597 w)| hnnpuwp Lus huwn 170 0.0
33691176/598 wy| nhnnpwp [xika) hwin 300 - 0.0
33691176/599 wy| Ennpwp [=ita) huwwn 10 0.0
33691176/600 w| nhnnhplpe [=¥Fa) hutn 1000 0.0
33691176/601 w)| nhinnpwjp Eus hwwn 200 0.0
33691179/501 dndbbnh| dhyndbunjwin L04aal6 EUBS huwin 800 0.0
33691200/502 ubinghnutip A,B — AO6ABOG pnwwlwi dwguwl nbn EUn huwn 1000 0.0
33691226/503 wpwidwnnf (wpwidwnnih hhnpnpinphn)-N02AX02 [ a) hun 800 0.0
33691600/502 |~btnhpwgbinwd EUS huutn 2000 0.0
0.0
(wpnpwinnp b phdhwlwt wenwinipbp (nbwgbuntbp)
33141211/689 pdolwlwt wy gnpdhpubip — wWwpwgwbp 9< hutn 84000 4 336.0
33141223/529 pdalywljwt wj ghpdhpubin — wwpwqwubn pwqduwlndynbbtn q< Inwljugy 40000 60 2400.0
33141223/530 pdoljwlwit wy) gnpdhpubp — wwpwgwubp pugdwlnduntibun QL (nwiljug 39999 2 80.0
33141223/531 pdalywljwt wj) grpdhpubin — wwnpwqwlbn pugdwyndwynubn q< Inwljuqu 39999 2 80.0
33141223/532 pdolwlwl wy gnpdhpubp — wwpwqwbn pugdulndwynubun q< Nl 849999 2 1700.0
33141223/533 pdolwlwt wy| gnpdhpubin — wwpwguwubn pugiwyndwnubun a< [nwilywgd 240000 2 480.0
33691162/1136 (wpnpuwmnp wgruwniphp (nbwgblntbpn) q< huitn 72999 2 146.0
33691162/1137 |wpnpwiinnp wgnwuniehp (nbwgblnubp) L hwwn 51999 2 104.0
33691162/1138 {wpnpwinnp wgnwlnyatp (nbwgbunubp) G< hun 63999 4 256.0
33691162/1139 {wpnpwiwnnp wnunigetp (nbwghbunubp) G< huin 89000 80 7120.0
33691162/1140 {wpnpwinnp wgnwupniphp (nbwgbunubp) L hwn 130000 80 10400.0
33691162/1141 {wpnpwinnp wgnwunighp (ntwgblnubn) < hwn 50000 80 4000.0
33691162/1142 |wpnpwinnp wgnwiynipbp (nbwgbuwnubp) QL hwn 58000 80 4720.0
33691162/1143 |wpnpwwnnp wgnutynyebp (nbwgbtnlbip) 9L hwin 138999 2 278.0
33691162/1144 (wpnpwwinp warwiympebp (nGwgblnubp) QL hwin 91999 4 368.0
33691162/1145 jwpnpuwwnnp wonwtynebp (nbwgblntbp) a< hwn 67998 2 136.0
33691162/1146 |wpnpwinnp wgnwnipbp (nbwgbntbn) &< hww 104000 3 312.0
33691162/1147 |wpnpwinnp wgnwuniphp (nbwgblnubp) 4L hwiwn 654999 5 325.0
33691162/1148 Jwpnpwinnp wgnugniphp (nbwgbuntbp) QL hwiwn 61999 4 248.0
33691162/1149 Jwpnpwnnp wgrwbyngebn (nbwgbuntbp) L hwiwn 798000 4 3192.0
33691162/1150 {wpnpwnnp wgnwunehp (nbwgbiinubn) QL huwn 60000 3 180.0
33691162/1151 (wpnpwinnp wgnubynyabip (nbwgbnbp) QL hwin 84999 2 170.0
33691162/1152 |wpnpwnnp wqnuwynyebip (nbwgblwnibp) L hwun 84999 2 170.0
33691162/1153 |wpnpwinnp wgntynipbp (nbwgblntbip) QL hwwn 84999 2 170.0
33691162/1154 |wpnpwwnp wanuwyntp (nBwgbnlbip) qL hwwn 33075 2 66.2
33691162/1155 (wpnpwwnnp wqnuwtyngabp (nGwgbuntbip) L huwiwn 84000 2 168.0
33691420/639 |wpnpwwnp warwtynietbp (nbwgbunlbn) puqduyndwnubun q< [Puwljuqu 69000 1 69.0
33691420/640 |wpnpuunp warwtynebp (nbwgblnubn) puguuyndynubtm Q< [Pwiljuq 42000 3 126.0
33691420/641 wpnpiunnp wanwniebp (nbwgbunlbn) puquwyndynubin G (nwbjuwgud 69000 3 207.0
33691420/642 {wpnpuinnp warwbgnptbn (nbwgbunubn) puqdwlndwnttiin QL [nwiljug 69000 3 207.0
33691420/643 (wpnpunnp wqrwgnyebp (nbwgblnutp) pugdulnduntbn Qg [nwiljuugud 40000 3 120.0
33691420/644 [wpnpwnnp wqnwynyzbp (nbwgblnubp) pugqdulnduntb; Q< Inwlugd 108000 2 216.0
33691420/645 [wpnpwwnnp wanwiynyptin (nbwgbtntbn) puquwlndunubun q< nwljugd 214998 2 430.0
33691420/646 (wpnpwnnp wanwiyniebn (nbwgblntbng pugqdwyndwnubun Qg (nwljwgy 36999 2 74.0
33691420/647 |wpnpnnp warwgnipbp (nBwgbuntbn) puquuindynubtn }< [nwljuqd 33000 2 66.0
33691420/648 (wpnpuwnnp wanuighiptbn (nbwgbuntbp) puquwyndyntln QL (g 69000 5 345.0
33691420/649 (wpnpwwnnp wanuwijnypbn (nbwgbntbp) pwquwynduntbun QL [nwlgy 32499 5 162.5
33691420/650 [wpnpwnnp wanwinipbp (nbwgbunttip) pugdwlyndyntbiin q< Inwluqd 32499 5 162.5
33691420/651 |wpnpwnnp wqnubnyatip (nbugblntbp) puqiwlnduntibbn QL Inwluqu 42000 2 84.0
33691420/652 (wpnpwwnnp wqruwbynietp (nbwgbtinutn) pugdulndyntbn < [nuljwigd 42000 2 84.0
33691420/653 (wpnpwinp wanwgntebn (ntwghklnubin) pwquwlndwnubun Q< [nwluqd 55998 2 112.0
33691420/654 {wpnpwinnp worwbnebn (nbwgbunlbn) pugiwlndwnubiun QL Inwlwgd 76998 2 154.0
33691420/655 phpwnnp wanwynipbn (nbwgblnutn) pugqiulyndyntttn QL (pwlwad 42000 5 210.0
33691420/656 [wpnpwinnp wanwnpbp (nbwgbunbn) puquiwlndwnutiin QL [nwljuwgd 47000 3 141.0
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33691420/657 |wpnpwinhp wgnwunpbp (ntwgblnubn) puqiulndunubun QL (g 42000 2 84.0
33691420/658 |wenpwinnp wanuwbnipbp (nbwgbunubn) puquwyndynutitun qg [nwluugl 104000 3 312.0
33691420/659 [wpnpwinnp wanwynebp (nbwqblnubp) pwqiwyndynubin Q< nwhwgd 202000 3 606.0
33691420/660 (wpnpwinnp wanwinipln (nbwgbtnttn) puqduindyntibiin 9< (nwhwaqd 202000 3 606.0
33691420/661 |\wpnpwinnp wanuwbnipbp (nbwgbunubn) puqdwlnduntbiin Q< nwljuwgu 35499 2 71.0
33691420/662 |wpnpwwnnp wanwiniptn (nbwgbnttn) puquuwlyndyntbiin G [wlwgd 103998 2 208.0
33691420/663 (wpnpwnnp wanuwiniebp (nbwgbuntbp) pwgdwlndunubun QL [nwiljugu 58998 2 118.0
33691420/664 (wpnpwnnp wanwnipbn (nbwgbunubp) pugiwlndyntbun QL Inwluqd 354999 4 1420.0
33691420/665 |wpnpwwnnp wanubynebp (nbwgbtintibip) pugdwlndyntbn QL nwligd 99999 2 200.0
33691420/666 (wpnpwwnnp waruwiymetp (nbwgbunttp) puquulyndwynubln G [Nl 63000 2 126.0
33691420/667 [wpnpuwnnp wanwynyptn (nbwgklntbn) pugdwyndwnubln < Inwlwgd 32000 60 1920.0
33691420/668 |wpnpwwnnp warwbniebp (nbwgbtnlbp) puguwyndynubun Q<L Inwlwgu 32499 10 325.0
33691162/1156 |wpnpwinnp wanwuniebp (nbwgbUnubn) qL hwwn 470 200 94.0
33691162/1157 |wpnpwinnp wgnwynyehp (nbwgblnbp) < hwn 470 200 94.0
33691162/1158 {wpnpuwinnp wgrwnystp (nbwgbunubp) G< huin 700 200 140.0
33691162/1159 {wpnpwitnhp wgnwnebp (nbwgbunubpn) Q< huwiwn 1980 110 217.8
33691162/1160 {wpnpwinnp wgnwuiniphp (nbwgbunubn) QL hwin 1650 100 165.0
33691162/1161 |wpnpwinhp wgnwunyebp (nbwgblnbn) QL hwiwn 900 230 207.0
33691162/1162 {wpnpwinnp wagnwuniehp (nbwgbinubn) QL hwiwn 5280 20 105.6
33691162/1163 |wpnpwinnp wgnwnyebp (nbwgbuwnubp) L hwwn 2040 20 40.8
33691162/1164 (wpnpuwinnp wgnwiynabp (nbwgbunubp) QL hwwn 4600 20 92.0
33691162/1165 (wpnpwwnnp wgnwiynietip (nbwgbinubp) GL hwn 1150 100 115.0
33691162/1166 |wpnpwwnnp warwiynystin (nbwagbtunbp) < hwwn 2800 35 98.0
33691162/1167 |wpnpwnnp wgnuitynipbp (nbwgblnlbp) 9L hwn 12000 30 360.0
33691162/1168 |wpnpwwnnp wgnutyniphp (nbwgbbntbp) QL hwwn 67000 10 670.0
33691162/1169 |wpnpwinnp wanwtynipbp (hBwgbbnbp) Qg huwwn 6600 2 13.2
33691162/1170 |wpnpuinnp wgnuuniebp (nbwgblnbn) G huwwn 21000 2 42.0
33691162/1171 (wpnpunnp wgrwignyebp (nbwgblntbp) G< hutn 30000 2 60.0
33691162/1172 jwpnpwinnp wanwuniphp (nbwgblnubp) G huwn 15600 2 31.2
33691162/1173 jwpnpwinnp wanwpnyehp (nbwgbunubn) G huuwn 35000 2 70.0
33691162/1174 |wpnpuwwnp wgnwtynipbp (nbhwgbunubp) Q<L hwn 22800 2 45.6
33691162/1175 |wpnpwinnp wgnwiynipbp (nbwgbiunubip) QL hwn 57000 2 114.0
33691162/1176 [wpnpwinnp wgnutynipbip (nbwgbUnlbp} QL hwn 47000 2 94.0
33691162/1177 |wpnpwwnnp wgnitynebp (nbwgblbntbp) 9L hwin 18000 2 36.0
33691162/1178 |wpnpwnnp wgnuwynysbip (nbwgbnlbp) QL hwwn 48000 2 96.0
33691162/1179 |wpnpwnnp wgnuitynipbp (nbwgbUnbbp) < hwn 34800 2 69.6
33691162/1180 (wpnpwwnnp waruwbyngatp (nGwgblnttip) <L hwin 33000 2 66.0
33691162/1181 (wpnpwwnnp wanuwynitp (nbwgblntibipg L hwn 97000 2 194.0
33691162/1182 |wpnpwwnnp wgrwiynyatp (nbwgbinubp) 9 huwin 2 0.0
33691162/1183 (wipnpuwwnp wanuwtyniebp (nbwgbuwnlbp) 9L hwwn 20000 2 40.0
33691162/1184 |wpnpwwnnp wgnwuniekp (nbwgblnbp) &< huwin 21600 2 43.2
33691162/1185 (wpnpwwnnp warwlyniebp (nBwgblntbp) Q< hwwn 24000 2 48.0
33691420/669 wpnpuwwnnp warwlnipbp (nhwgbunlbn) puquwndynutiin Q< [nwlywaqd L :g 21%43'0
1210000 20 24200.0
33691420/670 (wpnpwinnp warwbynebp (nbwgbunubin) puquwlndynutun Qg [nwjug 20 0.0
33691420/671 (wpnpwwinnp wanwinipbn (nbwgbtnlbp) pwqdwlndyntbin QL [nuijugud 215000 8 1720.0
33691420/672 [WpnpWNp Wenwiynebn (nbwgbtntitip) pugiwlnduyntbln 9L [nulugu 151200 1 604.8
33691420/673 (wpnpwwinp wanuwymptn (nbwgblntbp) pugiuyndynubun q< Inwlugy 363000 1 363.0
33691420/674 [wpnpwwnnp warwnebp (nbwgbunlbp) pugdwyndwnubun q< Inwlwuqy 175998 1 176.0
33691420/675 wpnpwinnp wanwnietin (nbwgbunubn) puqdwlndwnubtn Q< Inwlwqu 157998 1 158.0
33691420/676 {wpnputnnp wanwniepbp (nbwgbunlbn) puqiwndynubiin QL ipwlwgd 85999 4 344.0
33691421/522 jwpnptnnp wanwbgnpbp (nbwgbunubp) hinndy L [ptnp 0.5 0.0
33691422/568 (wpnpuwnnp wanwinyebn (nhwgbnbibn) hingh Ywd gpuitinybip QL lpingpwd 0.5 0.0
33691422/569 |wpnpwnnp wqrwgnptip (nbwgbunttip) thnzh Yud gpuiunigubp q< Lhinagpuwd 1200000 0.1 120.0
33691422/570 |wpnpwnnp wgrunyetp (nbwgblnttip) thngh Yud gpuwiunyttp aC Ypngpuwd 1140000 0.1 114.0
33141211/690 pdoljwlywt wy) gnpdhpubip — wWwpwqwubip 9L hwun 246000 8 1968.0
33141211/691 pdolwlwl wy) gnpdhpubip — wwpwgwbip L huwwn 110300 4 441.2
33141211/692 pdaljwlwl w)) gnpdhpubp — wwnwguubn a<L hwwn 6100 60 366.0
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33141211/693 pdolwlwl wy| ghpdhplibip — wwpwgwbp QL hwin 57100 2 114.2
33141211/694 paslwlwl wy) gnpdhpubp = wwpwgwbibp QL hwwn 2500 4 10.0
33141211/695 pdolwljwl wy| gnpdhpubip — wwpwguwbp < huwin 1000000 1 1000.0
33141211/697 pdolwlwl wy gnpdhplbip — wwpwgqwbp QL hwwn 960000 2 1920.0
33141211/698 pdolwlwl wy gnpdhplbip — wwpwgqwbp G< hwwn 246000 6 1476.0
33141211/699 pdolwlwl wy ghpdhplbip — wwpwgwbp 9L huwn 1195000 2 2390.0
33141223/534 pdolwlwl wj gnpdhpubip — wwpwawtbp pugluyniyntibun gL [nwlwad 44600 6 267.6
33141223/535 pdalwlwl wj| gnpdhplbp — wwpwgwubp puqiwindynutun QL (g 33300 12 399.6
33141223/536 pdalwljwl wy| gnpdhptbin — wwnwqubp pugdwlndynubun QL (nwiljugd 648300 4 2693.2
33691162/1186 (wpnpwinnp wanwiynipbip (nbwgbunubp) G< hwwn 19875 28 556.5
33691162/1187 (wpnpuwnnp wgnwiyniebip (nbwgbunubp) L huwin 7540 75 565.5
33691162/1188 (wpnpwinnp wgnwignipbp (nbwgblnltbp) 9L hwn 13846 65 900.0
33691162/1189 (wpnpwunp wgnwiynizbp (nbwgbunubp) QL huin 17143 70 1200.0
33691162/1190 {wpnpwnnp wgnwuniphp (nbwgbunubn) QL huin 14200 60 852.0
33691162/1191 Jwpnpwinnp wgnwunehp (nbwgbunubp) L huwitn 16800 50 840.0
33691162/1192 (wpnpwinnp wanwiunyabip (nbwgbunubp) < hwwn 13875 40 555.0
33691162/1193 \wpnpwinnp wgnwupngelp (nbwgbUnubp) < huin 18750 12 225.0
33691162/1194 Jwpnpwinnp wgnuunyebp (nbwgbuwnubn) q< huwin 15800 60 948.0
33691162/1195 |wpnpwinnp wgnwumphp (nbwgbunubn) G< huin 15800 60 948.0
33691162/1196 |wpnpwitnnp wgnwuniphp (nbwgbunubn) 4L huin 20182 55 1110.0
33691162/1197 |wpnpwiinnp wgnwupniphp (nbwgbunubn) 4L huwiwn 32000 3 96.0
33691162/1198 |wpnpwnnp wgnwiniplbp (nbwgbuwnubp) < huwin 14357 7 100.5
33691162/1199 (wpnpwinnp wgnwiynyebp (nbwgbunubp) QL hiwn 31417 18 565.5
33691162/1200 (wpnpwwnp wagpwiynyatin (nbwgbunubp) QL hwn 139113 75 10433.5
33691162/1201 |wpnpwwnnp wgnuynysbp (nbwgbunubp) QL hwin 11645 55 640.5
33691162/1202 |wpnpwnnp wanuitynypbp (nbwgbwnutip) QL hwwn 46900 55 2579.5
33691162/1203 |wpnpwnnp wgnuynyshp (nbwgbunubip) GL hun 15000 10 150.0
33691162/1204 |wpnpwwnnp wanwynyplip (nbwgbnttp) Q<L hwn 93900 6 563.4
33691162/1205 |wpnpuwwnnp wgnutynyebip (nbwgbuntbp) QL hwwn 14675 60 880.5
33691162/1206 |wpnpwwnnp wgnutynipbp (nbwgblnbp) QL hwn 5308 65 345.0
33691162/1207 |wpnpwwnnp wgnwbynehp (nbwgbtinubp) < hwn 13333 45 600.0
33691162/1208 |wpnpwwnnp wgnutyniphp (nBwgbintbp) L hwin 27300 70 1911.0
33691162/1209 |wpnpuwinnp wignwynuatip (nGwgblnlbn) < hwin 8375 12 100.5
33691162/1210 |wpnpwwnnp wqnwiyngabip (nbwgblnubp) 9< hwwn 40000 5 200.0
33691162/1211 Jwpnpwwnnp wgnwniehbp (nbwgblnubp) a< huwn 27500 8 220.0
33691162/1212 |wpnpwinnp wgnwuniphbp (nbwgblntn) QL hwn 26700 15 400.5
33691162/1213 |wpnpuinnp wygnwinyebp (nbwgbuntbp) S< huin 15750 2 31.5
33691162/1214 |wpnpwiinnp wgnuniphbp (nbwgblnlbp) QL huwn 25875 2 51.8
33691162/1215 |Wwpnpwinnp wgnwuniphbp (nbwgbUnbp) G< hun 20500 7 143.5
33691162/1216 (wpnpwinnp wgnwuniphbp (nbwgblnbn) 9L huwwn 18370 15 275.6
336911621217 |wpnpwiwnng wywiyngabp (nbwgblntp) 4L hwwn 10125 4 40.5
33691162/1218 |wpnpwinnp wgnwunehp (nbwgblnbp) G< huwiun 43600 3 130.8
33691162/1219 jwphpwinnp wgnwuniphbp (nbwgbuntbn) < huwn 77400 1 77.4
33691162/1220 |wpnpuwitnnp wgnwnyebp (nbwgbuntbp) SL huwin 50500 4 202.0
33691162/1221 |wphpwitnhp wgnwuniphbp (nbwgbuntin) QL huwin 40100 6 240.6
33691162/1222 Jwpnpwwnnp wgnwuniphp (nbwgblnubn) QL huwwn 133100 6 798.6
33691162/1223 |wpnpwinnp wgnwynipbp (nbwgbunubp) S< huwin 263400 6 1580.4
33691162/1224 [wpnpwnnp wanwnietp (nbwgbuntp) q< huin 329400 6 1976.4
33691162/1225 |wpnpwinnp wanwniehbp (nbwgbinubip) QL huin 159900 16 2558.4
33691162/1226 wpnpwunnp wgnuwiynyabn (nbwgbunubp) q< huwn 138600 8 1108.8
33691162/1227 |wpnpwwnnp wgnwunysbp (nbwgbnubip) Q<L hwin 120800 8 966.4
33691162/1228 |wpnpwwnnp wanwiynyebin (nbwgbiinutbip) 9L huwn 124400 8 995.2
33691162/1229 |wpnpwinnp wgnwynipbp (nbwgblntbp) QL hwwn 172400 72 12412.8
33691162/1230 |wpnpuwwnnp wgnwiynysbip (nbwgbinubp) G< huwwn 15100 6 90.6
33691162/1231 (wpnpwnnp wanwiyniatip (nbwgblnubp) QL huwwn 24720 2 49.4
33691162/1232 |wpnpwinnp wgnitynebip (nbwgblnttip) <L hwin 22500 2 45.0
33691162/1233 jwipnpwinnp wgrutynyatin (nbwgblntbn) G hwin 41550 10 415.5
33691162/1234 |wpnpwnnp wgnutynysbip (nbwgbntbip) QL huwin 66000 5 330.0
33691162/1235 |wpnpwnnp wgnuitnipbp (nbwgbUntbip) QL hwwn 38000 15 570.0
33691162/1236 |wpnpwnnp wgnutynipbp (nbwgblintbp) SL hwn 67000 1 67.0
33691162/1237 |wpnpwinnp wgniutyniplip (nbwgbUnttp) QL huwitn 115000 4 460.0
33691162/1238 |wpnpwnnn warwtnyetin (nbwgblnubn) L hwn 73000 8 584.0
33691162/1239 |wpnpwinnp wgntynipbp (nbwgbbntbp) Q< huwn 250000 50 12500.0
33691162/1240 |wpnpunnp wgnuynyabp (nbwgblintbn) L hwn 100000 1 100.0
33691162/1241 (wpnpwwnnp wgnwtynyabip (nbwgblntibp) 9L hwn 58000 3 174.0
33691162/1242 |wpnpwunnp wgnuwiynyatip (nbwgbntibp) 9L hwiwn 58000 10 580.0
33691162/1244 |wpnpwwnnp wgnutynipbp (nbwgblntbp) 9< huwin 27000 8 216.0
33691162/1245 |wpnpwwnnp wantynipbp (nBwgbbnbbp) <L hwn 40000 5 200.0
33691162/1246 jwpnpwwnnp wgnuunipbp (nbwgbbnbbp) < hwtn 103000 2 206.0
33691162/1247 |wpnpwinnp wgnwunipbp (nBwgbbnbp) Q< hwn 29000 12 348.0
33691162/1248 {wpnpwinnp wgrwiynyatip (nbwgblnubp) < hwin 18000 40 720.0
33691162/1249 \wpnpuwitnnp wnwingabp (nbwgbuwmubp) 9L hwn 18000 40 720.0
33691162/1250 jwpnpuwinnp wonwiynipbp (nbwgblnlibp) qL hwwn 86000 4 344.0
33691162/1251 wpnpuithnn wgnwtgnyebp (nbwgbunbnp) QL hwin 53000 7 371.0
33691162/1252 jwphpuwitnnp wantniebp (nbwgbunlbn) G hwin 77000 9 693.0
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33691162/1253 |wpnpwwnp wgnutynipbp (nbwgbtntbip) QL hwtn 40000 9 360.0
33691162/1254 |wpnpwwnnp wouwtynetip (nbwgbntibp) QL hwwn 20000 15 300.0
33691162/1255 [wpnpuwnnp wanuitynyabp (nbwgbntbp) q<L hiwn 21000 6 126.0
33691162/1256 |wpnpwunp wgnwynyatip (nbwgblnbbn) 9L hwn 165000 3 495.0
33691162/1257 |wpnpwnp wgrwtynyabp (nBwgbnlbn) 9L huwin 89000 3 267.0
33691162/1258 jwpnpwwnp wgrnwityniyabp (nbwgbtintbp) 9L hwin 21000 4 84.0
33691162/1259 [wpnpwinp wanwnabip (nbwgblnubp) < hwin 36000 1 36.0
33691162/1260 |wpnpwwnnp wanuwynyatip (nGwgbntibip) < hwin 67000 1 67.0
33691162/1261 (wpnpwunp wanuwtynatp (nBwgbtntibip) 9L hwin 157000 2 314.0
33691162/1262 jwpnpuwwnnp wanwtynipbp (nbwgbiintbp) QL hwn 170000 1 170.0
33691162/1263 |wpnpwwnnp wgnuwtynipbp (nbwgbntbp) LY hwwn 22500 1 22.5
33691162/1264 |wpnpwnnp wanitynypbip (nbwgbtntbp) QL hwwn 40000 1 40.0
33691162/1265 |wpnpwwnnp wgrwtynyatin (nbwgbtunbp) G hwin 131000 1 131.0
33691162/1266 Jwpnpwwnnp wgnwtynipbp (nbwgbbntbp) QL hwn 11000 15 165.0
33691162/1267 jwpnpwwnnp wgnwiyniphp (nBwgbuntbn) QL hwn 43000 2 86.0
33691162/1268 Jwpnpwwnnp wgnwtynipbp (nbwgbbnbn) q< hwn 20000 60 1200.0
33691162/1269 Jwpnpwwnnp wgnwinipbp (nbwgbbntbp) QL hwn 4000 60 240.0
33691162/1270 |wpnpwinnp wgnutynipbp (nbwgbbntbp) QL hwn 6000 5 30.0
33691162/1271 |wpnpwwnnp wgnwtynyebip (nbwgblntbn) 9< hwwn 8000 2 16.0
33691162/1272 Jwpnpwwnnp wgnuiynipbp (nBwgblnbp) QL hwin 17000 35 595.0
33691162/1273 [wpnpuwnn wanubnipbp (nbwgblnbibp) q< huwtn 277000 1 277.0
33691420/677 |wpnpwnnp warwniebp (nbwgbbnubn) puglwlyndwynubun ag nuljugd 44100 1 44.1
33691420/678 |wpnpwinnp warwuniebp (nbwgblnutn) puquwlyndwynubun 9 Ny 21400 4 85.6
33691420/679 |wphpwinhp wanwjniebp (nbwgbunubn) puquwyndynutun QL (nwlwaqd 47800 6 286.8
33691420/680 (wpnpwnnp warpwbyniebp (nbwgbtnubn) puquuwyndynubin QL [nwywagd 42500 12 510.0
33691420/681 {wphpwitnhp wgnwuniphp (nbwgbnutn) puqiwindwyntbun %< [nwlwaqd 21700 6 130.2
33691420/682 |wpnpwnnp wgnwunipbp (nbwgblnubn) puqdwlndynubun Q< [nwbjugd 114900 8 918.2
33691420/683 [wpnpwnnp wgnwnebp (nwgbunubp) pwgdwlndynubiin QL [l 46875 4 187.5
33691420/684 |wpnpuwnnp wgnuwtynyebip (nbwgbunbp} puqdwlynduntbn L nwjugd 185200 8 1481.6
33691420/685 |wpnpwwnp wanwtynietp (nbwgblntibp) pugduyndynubun 9L Inwlwgy 185200 8 1481.6
33691420/686 [wpnpwwnnp wanwniebp (nbwgbntbn) pugiulndynubun q< Inwluqy 37500 8 300.0
33691420/687 |wpnpwitnnp wanwuniebp (nbwgbbnubn) pugquiwlndwnublUn aL [nwluugd 19568 22 430.5
33691420/688 {wpnpwinnp wanwbnipbn (nbwgbunlbn) puquwyndynubun < [nwiljwigd 35250 2 70.5
33691420/689 (wpnpwinnp warputynpbp (nbwgbnbn) puguundwnubun G< [nwljwey 270000 5 1350.0
33691420/690 \wpnpwnnp warpwtgnipbp (nbwgbuntbn) puquwlndwnttn Q< [nwiljugd 22500 5 12.5
33691420/691 |wpnpuwitnnp wanwniphp (nlwgbnubp) puqdwlndwnttiun Q<L [Pl 57300 3 171.9
33691420/692 |wpnpwitnnp wgnwunipbn (nbwgblnubn) pugdulndwnubiun QL [nwiljugd 50600 3 151.8
33691420/693 |wpnpwnp wqrwynyatip (nbwgbunubin) pwabwlyndynubn gL [nwljuqu 50600 3 151.8
33691420/694 [WpnpWNp wanwiyniebn (nbwgblntibp) pugdwlnduyntbun 9L Inwiljugqd 65600 40 2624.0
33691420/695 [wpnpwwnnp warwtgnipbip (nbwgblnttp) puquwlndunubbn Q< Inwlgd 72500 3 217.5
33691420/696 (wpnpwwnp warwynietp (nbwgbunbibip) pugqduyndynubun q< (nuuljugd 72500 3 217.5
33691420/697 {wpnpuinnp wanwtgniebp (nbwgbnubp) pugqiwlndwnubln QL Inuljwgd 72500 3 217.5
33691420/698 {wpnpwinnp wanwniehp (nbwgbtnlbn) puguyndynubun 9L il 52100 4 208.4
33691420/699 {wpnpunnp worwnetp (nbwgbnlbp) puquuwyndynubun 4L [nwlwed 67500 2 135.0
33141211/700 pdolwliwt wy gnpdhplibip — wwpwquwlbp qL hwin 44000 1 44.0
33141211701 pdoljuiljwts wy gnpdhpubip — wWwpwgquiibn Q< huwiwn 261 1000 261.0
33141211/702 pdolwluwls wy gnpdhpubin — wwpwgwbp 9< huin 21000 20 420.0
33141223/537 pdolwljwu w gnpdhplbp — wwpwgquubn puqdwindunubiun Q< [nwlwad 45600 40 1824.0
33141223/538 pdpwiljw w)| ghpdhpubin — wwpwgwbp pwquwlndynlbn L (nuwilpuqd 46300 20 926.0
33141223/539 pdolwlwl wy) gnpdhpubn — wwpwgwbp pwgdwlnduntbun QL nwljgd 24400 2 48.8
33691160/559 phuhwlwl wgnwunyabip (nwgblntbp) gL huwn 111600 40 4464.0
33691160/560 phuhuuljut wgnuwinystp (nbwgblnltbip) L huwin 79200 40 3168.0
33691160/561 phuhuuljut wgnwuniphp (nbwgblnubp) G< huwtn 252000 40 10080.0
33691160/562 phubwlwy wgnwunyetp (nbwgbunutbin) 9 hutn 131400 40 5256.0
33691160/563 phupwlwl wanwlniebp (nbwgblunlbn) 9 hun 67500 2 135.0
33691160/564 phupwlwl wgnwlynipbp (nhwgbuntbn) 9L hwin 67500 2 135.0
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33691160/565 phupwlwl wgnwlniptp (nbwgblintbn) QL huin 283500 25 7087.5
33691160/566 phuhwljwl wgnwlnipbp (nbwgbunlbp) Q<L huwin 96300 2 192.6
33691160/567 phupwlwu wgnuunibp (nbwgblnttbp) QL hwn 96300 2 192.6
33691160/568 phipwlwl wgnwlniepbp (nbwgblntbp) Q<L hwwn 239400 2 478.8
33691160/569 phupwlw wgnwbymiepbp (nbwgblntbp) 9< huin 490000 10 4900.0
33691160/570 phuhwlw wgnwnuyebp (hbwgbUwnubn) L hun 75000 2 150.0
33691160/571 phihwlw wgnwuniebp (nbwgblnubn) 9L hutn 75000 2 150.0
33691162/1274 [wpnpwinnp wgnuwijnyatip (nbwgblntbp) 9L huwtn 64320 60 3859.2
33691162/1275 |wpnpwmnp wguynyatip (nbwgbntibn) < hwn 46000 2 92.0
33691162/1276 |Lpnpwwnnn wgnwtngetin (nbwgbtnubn) < huwitn 55200 60 3312.0
33691162/1277 |wpnpwwnnp wanutynipbp (nbwgbUntbp) Q<L hwwn 43600 2 87.2
33691162/1278 |wpnpwnnp wgnuwtynyatp (nbwgblinlibp) SL hwn 118800 60 7128.0
33691162/1279 |wipnpuwwnnp wgnuwitynyabp (nbwgbtntibp) 4L hwn 121280 2 242.6
33691162/1280 |wpnpwunnp wgnwtynyatn (hbwgblintbp) 9L huwin 92950 60 5577.0
33691162/1281 |wpnpuwwnnp wanwiynyabp (nbwgbtiinlibp) 9L hwwn 58240 2 116.5
33691162/1282 |wpnpwinnp wignuitynipbp (nBwgbbntbnp) gL hwin 69800 12 837.6
33691162/1283 |wpnpwwnp wgnwtnysbip (nbwgblintbp) < hwwn 24000 3 72.0
33691162/1284 |wpnpwnnp wanwtynipbp (nbwgbbntbp) G hwn 98500 8 788.0
33691162/1285 |wpnpwwnp wgnwinyetin (nbwgblnubn) Q< hwn 25600 2 51.2
33691162/1286 |wpnpwnnp wantynyabp (nBwgblintbp) < huwin 84000 3 252.0
33691162/1287 |wpnpwinnp wgnwynyabp (nbwgbuntbp) < hwn 56560 2 113.1
33691162/1288 |wpnpuwunnp wgnwiynyabp (nBwgblnlbnp) 4L hwwn 84000 3 252.0
33691162/1309 wpnpuwtnn wgnuwinyetp {(nbwgbunbin) < hwitn 53040 2 106.1
33691162/1310 Jwpnpuwnnp wgnwniptp (nbwgblintibn) SL hwwn 71680 40 2867.2
33691162/1311 |wpnplitnnp wgnwunyetbp (nbwgbunlbp) QL huitn 24850 3 74.6
33691162/1312 {wpnpwinnp wgnwupniehp (nbwgbunubn) 9L huwiwn 49840 2 99.7
33691162/1313 |wpnpwinnp wgnwuniehbp (nbwgblnubn) Q< hwitn 24300 2 48.6
33691162/1314 |wpnpwwnnp wgnwnyebp (nbwgbkiunubing 9L huwitn 70800 2 141.6
33691162/1315 {wpnpuinnp wgnwbpnyebp (nbwabuwnmubn) 9L huwwn 24300 2 48.6
33691162/1316 jwpnpwnnp wgnuwiyniebp (nbwgbUntbp) QL huwin 66880 3 200.6
33691162/1317 Jwpnpuwnnp wanwynysbip (nbwgbunbip) L huwiwn 23680 2 47.4
33691162/1318 jwpnpuwnnp wanwinyebp (nbwgbuwnubp) G huutn 46800 8 374.4
33691162/1319 Jwpnpwnnp wanwnyetin (nbwgblnubn) L huwn 24600 2 49.2
33691162/1320 |wpnpwnnp wgwynyatbp (nbwgblntbp) 9 huwn 54240 2 108.5
33691162/1321 |wpnpwnnp wgnutneln (nbwgblntn 3L huwin 24600 2 49.2
33691162/1322 |wpnpwnnp wgnwtynyatip (nbwgbtunbbp) 4L hwin 14240 2 28.5
33691162/1323 |wpnpwunp Wwgnutynyabin (nBwgblnlbp) < hwin 5400 15 81.0
33691162/1324 |wpnpwinnp wantniebp (nbwgbtnbp) 9L huwun 225000 8 1800.0
33691162/1325 jwpnpwuinp wgnwiynyabin (nbwgbunlbnp) GL huwin 26500 2 53.0
33691162/1326 (wpnpwinnp wgnwuniptp (nbwgblnubn) G< huwin 59760 2 119.5
33691162/1327 |wpnpwinnp wgnwnyetp (nbwgbunubn) 9L hwitn 349200 5 1746.0
33691162/1328 |wennwnnp wgnwunyebp (nfwgbuwnubp) 9L huwin 36800 6 220.8
33691162/1329 |wpnpuinnp wgnwuniebp (nbwgbuwnubn) Q< huwitn 81440 3 244.3
33691162/1330 |wpnpuwiinnp wgnwunyebp (nbwgbuwnubn) Q< huwin 24800 2 49.6
33691162/1331 {wpnpwnnp wgnwupnipbp (nbwgblinutp) 9L huwn 25280 2 50.6
33691162/1332 |wpnpuwinnp wgnwlniebp (nbwoblinubp) 9L hwtn 216554 20 4331.1
33691162/1333 |wpnpwwnnp wgnwnebp (nbwablnubn) Q< huwitn 264410 20 5288.2
33691162/1334 jwipnpwinnp wgnpuwiynyatp (nbwgblnubp) QL hwn 357000 20 7140.0
33691162/1335 |wpnpwinnp wgnwnypbip (nbwgblnlbp) QL hwun 239198 20 4784.0
33691400/563 phihwlwl wqnuwnpbin (nbwgblnlbn) pugqiwyndyntbtn 9 Inwljugd 96300 2 192.6
33691400/564 phuhwljwl wanwnipbp (nbwgbuntbp) puqdwlndwnubiun < Inwluqy 96300 2 192.6
33691400/565 phihwlwl wanwiynyebn (nbwgbunttn) pwgdwlndynubun 9< Inwljwgd 108000 2 216.0
33691400/566 phihwlwl wgnwiynyebip (nhwgbtutbp) pugdwlndwyntibin L [nwlywgd 96300 2 192.6
33691400/567 phihwlwl wgnuwiynyetp (nEwgbtntibip) pugqlulyndyntbln G< nwhwagd 121500 2 243.0
33691400/568 phihwlwl wanwynyetin (nbwgblntbin) pugqdwyndwynubun GL [uljugd 121500 2 243.0
33691400/569 phipwlwl wanwtympebp (nbwgbtinlbp) pugdwyndyntbun 9L [nuuljugd 106200 12 1274.4
33691400/570 phupwyw worwtympbp (nBwgbuntbn) pugdwyndynubtn Q<L Inwlugd 45630 12 547.6
33691400/571 phupwljut wgrwiymetbp (nBwgbunubp) pugdwyndynubtn q< [nwiljugyd 139500 25 3487.5
33691400/572 phuhwlwl wgnwniebp (nbwgblnubp) puqiwlndunubun q< [nwlwqy 50000 6 300.0
33691400/573 phipwlwl wgnwinebp (nbwgbunttip) puqiwyndunubun QL (nwlwqu 95400 25 2385.0
33691420/700 wpnpwinnp wanuwignipbn (nbwgblnubp) puquwyndwntiGtn < (nwljugud 26800 40 1072.0
33691420/701 [wpnpwinhp wanwnpbn (nbwgbunubin) puquwyndunttiun < [wilugd 26800 40 1072.0
33691420/702 [wpnpwnnp wanuwynyebp (nbwgbunubip) puquwlnduntbun < nuljugu 17120 1 17.1
33691420/703 {wpnpwnnp wanwiyhyebn (nbwgbtnubn) pugdulnduyntbin < (nwljusgd 59760 2 19.5
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33691420/704 (wpnpiutnnp wanwbniebp (nbwgbunubn) puquwndyntbtn Q< [nwiljugd 174640 2 349.3
33691420/705 (wpnpuwnnp wanwnipbp (nbwgbunubn) puquwlniwnubin QL (ulwgu 119520 2 239.0
33141211/703 pd7lwlwt wy gnpéhpbn — wwpwaquiliGn 9L huwwn 80000 1 80.0
33141211/704 pdoljwljwt wy gnpéhplbin — wwpwgqubn < huwwn 1230000 1 1230.0
33141211/705 pdobwlwl wy gnpdhpubp — wwpwgwibp Q< huwwn 215000 1 215.0
33141211/706 pdolwlwl wy gnpdhplibip — wwpwquitibp gL huwin 215000 1 215.0
33141211/707 pdolwlwl wy gnpdhpubp — wwpwgwlbp 9L huwin 90000 1 90.0
33141211/708 pdolwlwl wy| gnpdhplbip — wwpwgwlbp 9L huwin 69000 1 69.0
33141211/709 pdolwlwl wy gnpdhplbip — wwpwgwbn QL hitn 13000 1 13.0
33141223/540 pdwiljwt wy| gnpdhpubin — wwpwqubp puquulndunutiin 9< [puljugd 960000 18 17280.0
33141223/541 pdoluljwl wy) gnpdhplibn — wwpwgwbp puquwlndynutitn QL [l 103122 2 206.2
33141223/542 pdoluwljwl wij| gnpdhplibin — wwipwgwubn puqduyndwnutiun G Inwljwgy 108528 2 217.1
33141223/544 pdolwlwt wy gnpdhpubn — wwpwgwubp pugdwlnduntbun Qg [nuiljugd 60000 2 120.0
33691162/1336 |wpnpwuinnn wanwtnptn (nbwgbtnbn) < huwin 38000 3 114.0
33691162/1337 |wpnpwwnp wanwinptp (nbwgblntbip) q<L hwwn 87700 1 87.7
33691162/1338 |wpnpwwnnp wanwbyniptp (nbwgbunlibin) 9L hwin 24000 1 24.0
33691400/574 phupwlwl wanunpbn (nhwgbunubn) puquiwlndwntbiin q< (nuljwgd 190000 3 570.0
33691400/575 phuhwlwl wgrwunetp (nbwgbunutbp) pugdulynduynubun G< Inwlwgd 95000 3 285.0
33691400/576 phupwlwl wgnwnyebip (ntwgbuwnttn) pugdwlndyntbun QL (g 7200 ? :;i
g 0.0

33691400/577 phipwywt wonwtympbp (nGwgbuntbp) pugquulndynubun Qg nuwiljugu

37200 1 37.2
33691400/578 phdpwlwt wgnwynieptp (nbwgblnlbp) puqdwlndynubn q< Inwlgy 8 0.0
33691400/579 phihwlwt wgnwunyebn (nbwgbunubn) pugqiwlndwynubiun q< Inwluqy 115000 4 460.0
33691400/580 phuhwlwl wgnwynebp (nbwgbunttbn) puqdwlndwnubun G \nwiljwgy 1 0.0

3 0.0

33691400/581 phupwywl wanwyniptp (nEwgkbntbip) pugquwyndynubun < (wbjugd

53000 1 53.0
33691400/582 phuihwlws wanuwtyniebp (nbwgblunubn) puqiwlyndwntbun Q< nwiljugd 1 0.0
33691400/583 phupwwt warpwyniebp (nBwgbuntbn) puquwyndynubiin < Inwluqy 1 0.0
33691400/584 phuhwlwb wanwniptp (nEwqbunutp) puqiuyndynutun 9L \nwljugd 10 0.0
33691400/585 phuhwlwl warnuiynipbp (nbwgbunubn) pwqdwlndynubun q< Inwlwqu 446000 4 1784.0
33691400/586 phupwlwy wanwunyetp (nbwgbunubn) pugqiwlndunubtin QL [nwlwaqd 189000 1 189.0
33691400/587 phihwlwl wanwiynyetp (nbwghtinubin} puquwlndyntbn Q<L [nwlwaqd 145000 1 145.0
33691400/588 phupwyw wanwtynebp (nBwgblnttip) puqduyndynubun QL [nwluagd 145000 1 145.0
33691400/589 phupwyw warwiyngetp (nbwgblunlbp) pwquwyndynubun E14 [nwlywqd 1 0.0
33691400/590 phupwlw wanwiymphp (nbwgbunlbn) puguwyndynubun Q< Inwljuwqy 141000 1 141.0
33691400/591 phuhwlwt wanwyniebp (nbwgblnubp) pwgduwlyndwntbun 9L Inwlqy 150000 1 150.0
33691400/592 phipwwt warwymiptbp (nlwgbntbn) puquwyndyntbtn q< Inuljgy 205000 1 205.0
33691400/593 phuhwlwl wanwunebp (nbwgbunitp) pwquwyndwyntubiun S< Inwlwuqd 180000 1 180.0
33691400/594 phihwlwl wanwynpbp (nbwgbunttip) puqiwyndynubun < nwiljuigu 341000 10 3410.0
33691400/595 phihwlwl wanuwiynyetp (nBwgbtntiip) pugquwyndynubun < (g 250000 2 580.0
33691400/596 phipwywu waruwtymptn (nbwgbuntbp) pugquwlyndynubun Q< [nwilugl 33800 50 1690.0
33691400/597 phihwlw wanuwtynipbp (nBwgblnubn) puqdulndwntbn QL (g 32500 2 65.0
33691400/598 phuhwlwl wanuwlynipbp (nfwgbunubn) pwqiuwlyndunutun qL Inwlwqy 88000 2 176.0
33691400/599 phuhwlywl wanwunebn (nbwgbunubn) pwqdwyndwynubiin 9L [nuwlugy 32500 2 65.0
33691423/502 (wpnpwwnp warwtynebp (nbwgblnlbn) puguwyndynubun G< (nuuljugd 36852 14 515.9
33691423/503 {wpnpwinnp wanwbniptbn (nbwgbuntbn) pugquwlndynubun qg [nwlwgd 40935 16 655.0
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33691423/504 (wpnpwwnnp warputyniebp (nbwgbuntbp) pugiwlndwntbun Qg [nwlwad 71400 20 1428.0
33691423/505 |wpnpwinnp wanwuniphp (nbwqbunutn) puquwlndwntbln G [nwiluuq 91188 18 1641.4
33691423/506 |wpnpwinnp warunebp (nbwgbunubn) puqdwlndwnttiun QL [Pwljwgd 76500 24 1836.0
33691423/507 |wpnpuwinnp wgnuwunyztn (nbwgbuntbp) puquwndynttbun 4< [nuiljwiqd 121992 24 2927.8
33691423/508 |wpnpwinnp wgnwunpbp (ntwgblnutn) puqiwindynubun Q< [nwilug 44000 2 88.0
33691423/509 (wpnpwnnp wgnwbgngebp (nbwgblntbn) puquwyndynutitn Q< [nwiljwgd 30000 5 150.0
33691423/510 |wpnpwinhp wgnuwbpnpbp (nbwgbunubn) pugduwlniwynttiin 9< [ljwgy 255000 7 1785.0
33691423/511 |wpnpwnnp wqnwtynygebp (nbwgbunubp) pugdwlndyntbun L [Nl 140000 7 980.0
33691423/512 |wpnpwwnnp wanwiynietp (nbwgbunttip) pwglwlndynubun Q< [nwlgd 140000 5 700.0
33691423/513 (wpnpwwnnp wanwiyngetip (nEwgbunttp) pwgdwlyndynubun 9 [nwiljlugy 85000 3 255.0
33691423/514 |wpnpwwnp warwiyniebp (nEwgblntbp) pugdulyndynubun 9< Inwiljugd 265000 3 795.0
33691423/515 |wpnpwwnnp wartynipbp (nbwgblntbn) pugdwlyndwynubln q< Inwluqy 260000 16 4160.0
33691423/516 |wpnpwnnp wanwniebp (nbwgblnbn) pugqdwlyndwynublUn L (nwluqy 189000 24 4536.0
33691423/517 (wpnpuwwnnp warwbyniebp (nbwgbunlbp) puguwyndynubun Q< Inwlwqu 345000 8 2760.0
33691423/518 (wpnpwunp warpwbyniebp (nbwgbunlbn) puquwyndynubun Ele [nwljuqu 85000 3 255.0
33691423/519 (wpnpwnnp warpwbgniebp (nbwgbuntbp) pugdwlndynttiun Q<L [nwljugd 590000 5 2950.0
33691423/520 (wpnpwwnnp wygpwnyabin (nbwgbunbtn) pugdwndyntbun Q< [nwljugd 93000 5 279.0
33691423/521 |Wpnpwinnp wanwtnipbp (nbwgbunubp) pwqdwlndwyntbun < nwljwgd 150000 4 600.0
33691423/522 [wpnpwnnp wanwtynyetp (nbwgbtntbn) pugqdwlyndunubln 9L nwlwqy 627000 20 12540.0
33691423/523 |Wpnpwnnp wanwniyebp (nbwgblnbn) pugdwyndwynubUn q< [nuljwgy 300000 & 1200.0
33691423/524 (wpnpuwnnp wgrwnebp (nbwgbnlbp) pugiwyndynubun 9L [nwlwgy 258000 6 1548.0
33691423/525 {wpnptnnp wanwbniebn (nbwgbunlbn) puguwlndynubun Q< Inwlwiqud 890000 4 3560.0
33691423/526 (wpnpwinnp wanwnipbp (nbwgbunubn) puquwlndynubun QL (g 445000 5 2225.0
33691423/527 \wpnpwnnp warpwbnigpbp (nbwgbnubn) pwquiwndynutitn q< (nwiljug 225000 1 225.0
33691423/528 lwpenpwinnp warubngstp (nbwgbunubp) pugdulndwnttiun QgL (gl 215000 3 645.0
33691423/529 [wpnpwinnp wgnuitpnypbip (nkwgbintibp) puqdwlndwntibin Q< [nwlgd 122298 1 122.3
33691423/530 {wpnpwnnp wqrwgnipbp (nbwgblntp) pugdwlnduntbln L |nwlgd 108528 2 171
33691423/531 [wpnpwnnp wgnwiynabp (nbwgbtntibp) pwugdwlndyntbn q< Inwljugy 1800000 1 1800.0
24311129/501 quiiwgquil wlopquiwlwu phuhwlwb Ynpbn Q<L qpuid 20 1000 20.0
24311129/502 quitiwquil wuopquiwlwl phdhwlwl bnypbp <L apuud 90 160 14.4
24311129/503 quitiwqul wuopgquiwlwt phdhwluwt Ynyabip < gpuuldl 15000 20 300.0
33691160/573 phipwlwt wonwlyniphp {(nbwgbunubin QL hwin 45900 80 3672.0
33691160/574 phuhwljwl wgnwiynyebp (nbwgblnubn) < hwin 151200 20 3024.0
33691160/575 phupwlwl wgnwiynipbp (nbwgbunubn) < hwn 30240 20 604.8
33691160/576 phipwlwl wgnwiynuyebip (nbwqbunubp) QL hwwn 129600 20 2592.0
33691160/577 phihwlwl wgnwiynyebin (nbwgbnubp) < huwn 45900 140 6426.0
33691160/578 phipwyw wgnuwiynetp (nbwgbunibp) qL huwwn 22100 100 2210.0
33691160/579 phihwljul wanwbnipbip (nbugklnlibn) ac huin 22000 10 220.0
33691160/580 phupwlwt wqruwiymptp (nGwgblntbp) < huwin 21600 100 2160.0
33691160/583 phipwlwt worwtympbp (nBwgblntbp) QL husn 12996 15 194.9
33691160/584 phuhuwlwi wanwtynyetip (hbwgbunubnp) GL huuwn 340 30 10.2
33691160/585 phupwlw wgnwyniptp (nbwgbluntbipg QL hwin 44700 40 1788.0
33691160/586 phupwljwl wanwlynyetip (nkwghlinlbin) qc huwtn 76400 40 3056.0
33691160/587 phupwlywl wanwlynyelip (nbwgbluntbin) 9 huwtn 44500 20 890.0
33691160/588 phuhwljul wanwlynyebip (nbwghlunlbin) qc hwin 39200 10 392.0
33691160/589 phihuwljuwl wanwlynipbip (nbwghblnttn) qc huwiwn 42480 1 42.5
33691160/590 phupwywl wgnwlniplp (nbwgblnbn) qc hwn 248400 2 496.8
33691160/591 phihusliurts wgnulynipbp (nbwgblnlbn) qc hwn 25920 30 777.6
33691160/592 phupwlwt wgrpwlniebp (nbwgblnbbp) L hwwn 51840 3 155.5
33691160/594 phupwlwt wnwynipbp (nbwgbuntbn) <L hwiwn 70000 2 140.0
33691160/595 phihwlwt wgnwunipbp (nbwgblnubn) Q< hwin 762300 2 1524.6
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33691160/596 phipwlwt wgrwiynpbp (nBwgblntbip) 9L hwin 59200 1 59.2

33691160/598 phupwlwt warwiympbp (nbwgbnttip) GL hww 93000 45 4185.0
33691160/599 dhwlwy wgnuwynyebp (nbwgbunbbn) 9L hwiwn 54000 8 432.0
33691160/600 phupwlw wgnuwynetp (nGwgblwnubip) 9L hwin 27000 156 4212.0
33691160/601 phuhwlwy wanwlyniptip (nbiwghkuntbp) 9L hwin 642000 2 1284.0
33691160/602 phuhwywt wgnwjniabp (nbwgblnbp) G huwin 184800 5 924.0
33691160/603 phihwljwt wanwbynipbn (nbwgktntibp) 9< huwin 184800 5 924.0
33691160/604 phupwljwl wgnwljnyebn (nbwgbuntbp) 9 huin 47345 30 1420.4
33691160/605 phibwlwit wqnutynipbin (ntwgblunbtn) G hin 51561 25 1289.0
33691160/606 phuhwlwl wanwjniptip {nbwgbunttin 9L huin 51561 10 515.6
33691160/607 phuhwlwl wgnwlnipbn (nbwgbuinubn) 9 hun 212290 9 1910.6
33691160/608 phuhwljut wqnuwuniphp (nbughtnlitp) qc huwtn 12155 2 24.3

33691160/609 phupwlwl wgnwnyetp (nbwgblnubp) QL hwn 67150 2 134.3
33691400/600 phupwlwt wnwbynipbp (nbwgbunubn) puquwlndynubun QL nwyugd 162000 15 2430.0
33691400/601 phuhwlwl wgnwunyebp (nbwgbinttin) pwqdwlndyntbun < (nwiljgd 97200 15 1458.0
33691400/602 phuhwlwl wanuwynipbp (nbwgbnubp) pugiwyndunubun qL Inwiljugy 486000 15 7290.0
33691400/603 phuhwlwl wgnwunebp (ntwgbunutn) pugiwlndynubun G< [nwljwgd 270000 18 4860.0
33691400/604 phupwlwl wqrwuynipbp (nbwgbunibp) pugdwlndwntbin q< (nwljwgy 129600 12 1555.2
33691400/607 phupwlwt warwiympbp (nbwgbuntibp) pugiwyndwynubun Q< [nwlwigd 25000 1 25,0

33691400/608 phuhwljwl wgnwinyebp (nbwgblintbn) pugiwyndynubun Q< [nwlwq 53040 1 53.0

33691400/609 phuhwlwl wanuwnyebp (nbwgblnubn) puquwyndyntbln Qg nwiljugd 53040 1 53.0

33691400/610 phihwlwl wgnwuniptp (nbwgbunutn) puqiwlndynutun q< nwbjugd 53040 1 53.0

33691400/611 phuhwlwl wgnwunyebn (nbwgblnubn) puqdwyniyntbun < Inwiljugd 50000 4 200.0
33691400/612 phupwlwl wgnwunptp (ntwgbuntbp) pugdwlndyntibun qg Inwlwqy 36000 4 144.0
33691400/613 phupwywt wanwiymptp (nBwgbunttbp) pugqiwyndynubun GL [Pwiljwgu 387000 2 774.0
33691400/614 phupwlwt warwiympbp (nbwgblntbip) pugdwlyndwnubun QL nwlgy 78000 4 312.0
33691400/615 phupwywt warwtynipbp (nBwgbnlbn) pugquwindynubun qc Wil 78000 4 312.0
33691400/616 phupwliwt wonwiyniebp (nbwgbunubn) puquwndynubun Q< [nwiljuqy 114000 4 456.0
33691400/617 phihwlwl wanwlynipbp (nbwgbunibn) pugdwndynubun 9L Inwiljad 114000 4 456.0
33691400/618 phihwlwl wagnwunyebn (nbwgblnubp) pwgiwyndwnubun Q<L nwljugd 240000 3 720.0
33691400/619 phupwywi wgrwbynipbp (nbwgbuntbp) puqdwlndynubun 9< inwljwgy 600000 1 600.0
33691400/620 phupwlywl wqrwiynetn (nbwgbtntibp) pwqdulnduynubun 9< (nwiljugd 270000 3 810.0
33691400/621 phupwywl wanwynptp (nbwgbtntibp) pugqluyndynubun G< [l 210000 1 210.0
33691400/622 phuhwlwl waruwtynyebp (hbwgblnubn) puquwlndyntbun Qg g 16500 1 16.5

33691400/623 phupwlwy wanwniebp (nbwgbuntbp) pugquwyndynubun G [Pljwgd 51000 1 51.0

33691400/624 phupwywy warpnzbp (nbwgbunlbn) puguwlndynubn < [nwljugu 73920 3 221.8
33691400/625 phupww warpwbynepbp (nbwgbuntbn) puguwindunubtn q< inwljgd 85000 1 85.0

33691410/503 phuhuwlwl wanwlynipbp (nbwgbunttn) htnnty QL thinp 19900 7 139.3
33691410/504 phuhwlwl wgnwiyniebp (nbwgbunubp) hennly 9L lhwp 1780 10 17.8

33691410/505 phupwlwl wgnwupnyebp (nbwgbunubip) hinnly < thup 2500 2 5.0

33691410/506 phupwlwl wgnwiynipbp (nbwgtiuinutip) hinnty < huip 3500 1 3.5

33691410/508 phuhwlwl wanwinyptip (nbwglntbin) hinnidy < \hwp 1698 10 17.0

33691160/501 phupwlwt wqruwtynebp (nGwgbunutip) GL hwiw 170100 1 170.1
33691160/502 phupwlwt wgnwiynipbp (nbwgbuwnttip) 9L huwin 105900 7 741.3
33691160/503 phuhwlwl wanuynyatin (nbiwgblntibp) G< huin 708000 2 1416.0
33691160/504 phuhwlul wanwnietip (nbwghlintbin) L hiuwn 147800 2 295.6
33691160/610 phupuiluls wqnwlynebin (nbwgblnltp) q< huwin 162000 5 810.0
33691160/611 phuhwlywl wanwynyatip (nwgbuntbp) QL hwin 205400 3 616.2
33691160/612 phuhwlwl warnwynyetip (nbwghuntbn) q< huin 141000 3 423.0
33691160/613 phuhwlwl wgnwunyetp (ntiwgblnubp) SL hwin 18000 4 72.0

33691160/614 phuhwlwl wanulnyebp (Rbwghunttn) q< hww 220000 12 2640.0
33691160/615 phuipwlwl wgnwynyebp (nbwgbnubn) L hwun 39000 40 1560.0
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33691160/616 phihwlwl wgnwiynyetin (hbwgklunbbn) G huwin 225000 4 900.0
33691160/617 phuhwlwl wqnwiyniptn (nbwgblnttp) qc huitn 36000 20 720.0
33691160/618 phthwlwl wgnwiynyabip (nbwgblnubp) < hwn 137700 1 137.7
33691160/619 phuhwlw wgnwinphp (nbwgbinubn) GL huwin 60000 3 180.0
33691160/620 phupwlwl wgnwunplip (nbwgbnutn) QL huin 60000 3 180.0
33691160/621 ppupwlwl wgnqwiymptp (nbwgbinttip) GL huwiwn 495000 3 1485.0
33691160/622 phuhwlwl wanwtynyatip (nbwgblntbn) gL huwin 480000 2 960.0
33691160/623 phupwlw wgrwiyngebp (nbwgblntitin q< huin 415000 2 830.0
33691160/624 phuhwlw wgnuitynyetip (nbwgblnttn) < hwn 414000 2 828.0
33691160/625 phupwlw wanutyniptp (ntiwgbtintbp) G< hwiwn 414000 2 828.0
33691160/626 phuhwljwy wqnwlynipbp (nbwgbntbin L huwin 415000 2 830.0
33691160/627 phupwlwt warpwiympbp (nbwgblnltip) QL huwin 485000 2 970.0
33691160/628 phuhwlwl wgnultynyetip (nbwgklintbn) gL hwn 415000 2 830.0
33691160/629 phihwlwt wqnwynipbp (nbwgbunttbp) < huwin 415000 2 830.0
33691160/630 phupwlwl wanulynyebp (nbwghlintibn) 9< huitn 415000 2 830.0
33691160/631 phupwlwi wanwtynietip (nGwgblnutip) 9L hwin 525000 2 1050.0
33691160/632 phuhwlw wgnuwnyetip (nbwgklnubp) < huwiwn 485000 2 970.0
33691160/633 phuhwlwl wgnwnyetp (nbwghklnubp) 4L huwin 415000 2 830.0
33691160/634 phdpwlywl wanwiynuetp (nbwgblnttin) 9L huwin 415000 2 830.0
33691160/635 phuhuiliuil wqnwlynipbn (nbwgblnbbp) ac huitn 445000 2 890.0
33691160/636 phuhwlw wgnwnipbp (nbwgbnutbn) L hwn 415000 2 830.0
33691160/637 phuhwlwl wgnwynyetip (nGwqklnlbn) < hwwn 54000 8 432.0
33691160/638 phuhwlwl wgnwlynyetip (nbwgblwntbn) 9 huiwn 165600 2 331.2
33691160/639 phdhwljw wgnwunipbip (hbwgbunubn) L huwn 13000 8 104.0
33691160/640 phihwluwt wanwyniptbp (nbwgknbn) Gl hiun 66000 2 132.0
33691160/641 phihwlw wgnwynipbp (nBuwgklinubn) G huwn 22500 12 270.0
33691160/642 phuihwlwu wgnuwnipbp (nbwgblunutbn) QL huwwn 55000 2 110.0
33691160/643 phuhwlwt wgnuwtynyetip (hbwgklnubn) q< huuwn 152200 7 1065.4
33691160/644 phuhwlwl wgnwynyebp (nBwgblnlbn) 4L hwwn 490000 1 490.0
33691160/645 phuhwlwit wgnuitynyebip (nbwgblwnubn) <L hwn 410000 1 410.0
33691160/646 phuhwljwl wgnwunyetip (nbwgblinutp) 9L hwiwn 410000 1 410.0
33691160/647 phihwywl wgnwunyptp (nbwgbnubp) 9L hwn 410000 1 410.0
33691160/648 phuipwlywl wgnwnyebp (nbwgbiinutip) < hwwn 410000 1 410.0
33691160/649 phupwlwl wgnwynyebp (nbwgblnubp) q< hwun 410000 1 410.0
33691160/650 phipwlwl wanuwunpbn (nbwgbunutn) L huwn 15000 12 180.0
33691160/651 phihwlwl wgnwiynyatip (nkwgliinibip) 4L hwiwn 15000 12 180.0
33691160/652 phupwlwl wgnwunyetip (nbwgbinubin) < huwin 120000 3 360.0
33691160/654 phdhwlwl wgnwynyatin (nbwgblnbbp) < huwiwn 18400 6 110.4
33691160/655 phupwlwl wgnwnybn (nbwgbtnttn) g huwin 30000 3 90.0
33601160/663 phuhwljwl wanuiynphp (nbugtnbibn) q< huwitn 360000 6 2160.0
33691160/664 phipwywu wqnwiynuyetip (nbwglbitintbin) 9L huwwn 86600 1 86.6
33691160/665 phihwlwl wgnwynyatin (nbugbunibn) 9< huwin 90000 1 90.0
33691162/501 \wpnpwnnp wgnwunyebp (nbwgblnubp) 4L huwin 143100 3 429.3
33691162/502 \wpnpuwinnp wgnunyabp (nbwgbunubn) G< huwin 114000 3 342.0
33691162/503 |wpnpwiinnp wgnwunphp (nbwgbunutin) qL hiwn 124200 3 372.6
33691162/504 (wpnpwinnp wgnwynpbp (nbwgbunubp) G< huin 435000 10 4350.0
33691162/505 (wpnpwnnp wgnwnehp (nbwgbunubn) 9L hwwn 183600 10 1836.0
33691162/506 {wpnpwinnp wqnunyebp (nbwgbunubn) 9L hwin 42600 3 127.8
33691162/507 {wpnpwinnp wanwunphp (nbwgblnutn) Q<L hwn 39200 4 156.8
33691162/508 \wpnpwinnp wgnwunehp (nbwgblnubp) Q<L hwn 684000 10 6840.0
33691162/509 |\wpnpwiinnp wanwuniphp (nbwgblnutn) QL hwn 190400 4 761.6
33691162/510 |wpnpwinnp wanwuniphp (nbwgbunubn) QL huin 699000 3 2097.0
33691162/511 (wpnpwinnp wanwiyniehbip (nbwgbunubp) YL hwin 699000 3 2097.0
33691162/512 |wipnpwnnp wanwnipbp (nbwgbiintbp) QL hwin 300000 8 900.0
33691162/513 (wpnpwnnp wanulynyebp (nbwgbuntbp) 9L huiwn 199800 10 1998.0
33691162/514 (wpnpwiinnp wgnwiyniekp (nbwgbunubp) 9L huiwn 197100 2 394.2
33691162/515 (wpnpwennp wgrputynipbn (nbwgblnubp) q< huwin 174800 1 174.8
33691162/516 |wpnpwnnp wanuwnipbp (nbwgblinubip) L huwiwn 143100 6 858.6
33691162/517 |wpnpwinnp wanuwtynypbip (nbwgbunlbp) QL hwwn 206600 3 619.8
33691162/518 |wpnpwinnp wanwitgniplbp (nbwgblnubp) 9L huwn 108350 8 866.8
33691162/519 (wpnpwwnnp wanuwynyatp (nBwgbiuntbip) L hwin 180900 4 723.6
33691162/520 upnpwuinp wanwiynipbp (nbwgblntibp) Q< hin 52000 2 104.0
33691162/521 {wpnpwinnp wanulynuebp (nbwgblunbibp) qc huwn 330000 2 660.0
33691162/522 |wpnpwwnnp wgnwtynystp (nbwgbiiunubn) 9L hwin 190400 6 1142.4
33691162/523 |wpnpwwnnp wgnulynpbp (nbwgblntbp) 9L hwin 126000 6 756.0
33691162/524 |wpnpwinnp wgnutgnipbp (nbwgbUnlbp) Q< hwin 193800 8 1550.4
33691162/525 |wpnpwwnp wqnutynyebip (nbwgbnbbp) < hwwn 206600 6 1239.6
33691162/526 wpnpwwnnp wanwiynetin (nbwgblnubp) G< hwin 130900 6 785.4
33691162/527 |wpnpwuwnp wanwtynuetin (nbwgblnbin) L hwtn 197100 5 985.5
33691162/528 (wpnpwwnnp wanwityniabp (nbwgbunubp) 9L hwwn 189000 3 567.0
33691162/529 |wipnpuwinnp wgnuwtynyabip (nbwgbtntbin) 9< hwin 143100 10 1431.0
33691162/530 |Wpnpuiwnnp wqntnyetip (nbwgblnbtn) < hwun 128900 2 257.8
33691162/531 (wpnpwwinp wqnuwtynatip (nbwgbntbp) G huwn 345000 10 3450.0
33691162/532 |wpnpwinnp wantnipbip (nbwgbtinttin) Q< hwn 136400 10 1364.0
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33691162/533 wpnpwinnp wgnwlynyetin (nbwgblnubp) q<€ huwin 124200 10 1242.0
33691162/534 {wpnpwinnp wgnwynipbn (nbwgblnubnp) 9L hwwn 155900 10 1559.0
33691162/535 |wpnpwnnp wgnuynyebp (nbwgbuinubp) G< huwitn 138000 16 2208.0
33691162/536 [wpnpwnnp wgnwiynipln (nbwqbunubp) < hwiwn 39200 10 392.0
33691162/537 [wpnpwinnp wgnwyniplp (nbwgblnubp) G< huwitn 540000 2 1080.0
33691162/538 (wpnpwinnp wgnwynipbn (nbwgbiuinubn) G< huwwn 141800 2 283.6
33691162/539 {wpnpwinnp wqnwinipbp (nbwgbtinltp) < hwn 145000 8 1160.0
33691162/540 [wpnpwinnp wanwinyebp (nBwgblntbin) 9L huwitn 111400 8 891.2
33691162/541 {wpnpwnnp wanuiynipbp (nbwgbunutip) G< huwwn 187700 8 1501.6
33691162/542 |wpnpwnnp wanuwiynyebp (nbwgblnutp) QL hiuwn 147200 8 177.6
33691162/543 jwpnpwnnp wanwlynatip (nbwgtiinttipg < hwn 144000 8 1152.0
33691162/544 |wpnpwnnp warnuwiynyatp (nbwgbunitip) G< hwin 168000 5 840.0
33691162/545 wpnpwunp wanuwiynyatip (nGwgtiinuting GL hwin 157900 5 789.5
33691162/546 (wpnpwwninp waruwiyniptp (nBwgbntbp) 9< hwin 126000 3 378.0
33691162/547 |wpnpwunp wanwiyngebp (nbwgbunttip) G< hwin 111000 12 1332.0
33691162/573 wipnpuitninp wanuwbniehp (nbwgblinubp) G< hwin 178200 5 891.0
33691162/574 {wpnpuwnnp worpwbyngpbp (nbwgbuntbp) QL huin 150000 8 1200.0
33691162/575 (wpnpuwithnp wgnuwiynyetip (nbwgblnbp) 9L hwiwn 159900 2 319.8
33691162/590 {wpnpuinnp wonwiynipbn (nfwgblnubn) < hwwn 58000 3 174.0
33691162/654 [wpnpwinnp wgnwynipbp (nbwgbiuinubip) GL huin 64000 3 192.0
33691162/666 |wpnpwnnp wanuwiynipbp (nbwgbiunutip) Q<L hwin 155900 3 467.7
33691162/713 jwpnpwwnnp warutynyetip (nbwgbiunttip) L huwn 148500 3 445.5
33691400/501 phihwlwl wanwunyebp (nbwgblnutp) pugiwyndyntbun qL Inwljuqy 174000 4 696.0
33691400/502 phihwlwl wanwunyebp (nbwgblnutp) pwquwlyndwnubiun q< nuwljwgd 85000 3 255.0
33691400/503 phihwyw wanwympbp (nbwgbuntbp) puqiwlndynubun L nwljwgd 195000 2 390.0
33691420/501 (wpnpwinnp wgnwigniebn (nbwgbtinutp) puqduynduntbin 9 (g 525000 8 4200.0
33691420/502 |wpnpwwnnp warwiynptn (nEwgbunttbp) pugiulndynubun qc [nwlgy 525000 4 2100.0
33691420/503 {wpnpwnnp wanwgnietin (nbwgblntbn) pugquwlndwntbn aL [nwlwuqu 148700 460 68402.0
33691420/504 (wpnpuwinnp wanuwnyztn (nbwgbnubn) puquwlndyntbln QL (g 46080 400 18432.0
33691420/505 {wpnpwnnn wqnwigniebp (nbwgbtnutp) pwqdwlnduntbtin QL (g 240000 5 1200.0
33691420/506 [WpNpWNNp wnuwiniptn (nbwgbuntip) pugqlwyndynubn Q< Inwywgd 100000 1 100.0
33691420/507 (wpnpwnnp wanwnitp (nbwgbtntbn) puqdwlndynubun G< Inwljugu 114000 1 114.0
33691420/508 (wpnpwwnnp wanutgnipbn (nbwgbtnubn) pwquwyndwnubun G (nwlwigd 210000 8 1680.0
33691420/509 (wpnpwnnp wanwunyabn (nbwgbnubin) puqiwlmiuyntbun QL nwiljugud 240000 7 1680.0
33691420/510 [wpnpwnnp wqnuwgnybp (nbwgbuutbn) puqdwlnuunubun QL [nwiljugqd 66000 1 66.0
33691420/511 (Wwpnpwwnp wanwnipbp (nbwgbtntbn) pugqiwinduntbbn < nwluqy 416667 3 1250.0
33691420/512 (wpnpwnnp wanwyntetin (nbwgbnubn) puqiwlndwnubun a< Inwlwqu 416667 3 1250.0
33691420/513 Lwpnpwnnp wanwnipbn (nbwgbunubn) puquwyndwynbbln Q<L [nwiwaqy 288000 1 288.0
33691420/514 {wpnpwinhp wanwnebn (nbwgbunubn) puquiwniwynttitin Q< Inwiljug 61200 5 306.0
33691420/515 (wpnpuwnnp wanwnyebn (nbwgbunutp) pugqdwlnduntbin QL nwbjugy 61200 5 306.0
33691420/516 (wpRpwnnp wanwniptp (nbwgbinutn) pugdwinduynubln q< nuljugy 61200 5 306.0
33691420/517 (wpnpwinnp wgnwnipkn (nbwgbunubn) pugdwlndwyntbtn 9L (gl 36800 5 184.0
33691420/518 |wpnpwnnp warwiniptn (nbwgbunubn) puquwlndynutiun Q< [nwlwagd 540000 2 1080.0
33691420/520 (wpnpwnnp wqnuiygniebp (nbwgbuntn) puqduinduntbin Q< Inwlgd 26000 5 130.0
33691420/521 wpnpwnnp wanwitgniztp (nbugblntbn) pugdwinduntbln QL Inwlwgd 397500 4 1590.0
33691420/522 (pnpwnnp wonwniebn (nbwgblnutn) pugduwlndyntbun qL Inwluqd 360000 1 360.0
33691420/706 (wpnpwwnnp wanwiynpbn (nbwgbintibn) pwgiwndynttun Qg [nwbugd 330400 1 330.4
33141211/501 pdolwlywl wy) gnpdhptbip — wwpwgwtibip QL hiuwn 582 12 7.0
33141223/506 pdolwljwit wy| gnpdhplbin — wwpwqwubp pugdulynduntblin i L (nwlyugy 51000 15 765.0
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33141223/507 pdolwlwl w) gnpdhpubin — wwpwquubn puqiulndynubun q< Nl 25999.5 4 103.998
33191310/503 thnpdwunpubp 9< hwiwn 116.667 12000 1400.0
33211140/501 Phipnniphtu Bilirubin /Cunhwtngn — ninhn phihnniphuh npngdwu ac il 20.98 6000 1217
phup-hwywpwdnt
33211150/501 Uhquiynip Urea-Col/Uhquiynizh npnadwt phup-hwwiwpwdnt 9< hwtn 21.3 5000 106.5
33211160/501 HbiinpEsr CREA-Col HpBumbbhf nvgdall g a< hwtn 9.57 5000 47.9
hwyjwpwdnt
33211230/501 P i RER GARBON MDD oyaskas phige: 9¢ huitn 109.375 12480 1365.0
hwwpwdny
33211320/502 Chywinhwin B dhpnwh wunhgbth npwlwlwt hwjntwpbpdwt a¢ i 105 9600 1008.0
Rrhup-hwywpwdnt
33211321/501 eyt S dpuah gl A, Hi RN RO SR a< huwin 97.88 9600 939.6
rehup-hwdwplwént
33211321/502 ST A PO REREE AR R, | g hutn 105.36 8000 842.9
phup-hwywpuwdnt
33691160/666 phupwlwl wgnwiynpbn (nbwgbiuntbp) 9L hwwn 12,6 2000 25.2
33691160/667 phuhwljwl wanwiynyetp (nhwgbunubp) G< hwin 18.0 30000 540.0
33691160/668 phuhwlwl wanwynyabip (nbwgbnubp) < hwwn 178.2 1000 178.2
33691160/669 phuhwlwl wanwiynystin (nbiwgbntbn) G< hwin 18.0 5000 90.0
33691160/670 phupwywl wgnwniekp (nbwgbnubn) G< huwwn 26.4 1400 37.0
33691160/672 phihwlwl wgnwnetip (nbuwgblnubp) 9L huin 7.536 3000 22.6
33691160/673 ppupuwlwl wanwlymiptp (nbwgblwnlbip) QL hun 8.76 2000 17.5
33691160/675 ppupwlwt wgqwlyniebp (nbwgblnltp) gL hwn 33 800 26.4
33691160/676 phupwlwt wgnwlynipbp (nbwgbuntbp) q< huwn 26.4 1400 37.0
33691160/677 phupuwljwl wgnwlynyelip {nkwghlunlibn) ac hwin 26.4 1000 26.4
33691160/678 phuhwluwt wanunyebp (nbwgbtinbbn) qc hwwn 19.68 20000 393.6
33691160/679 phihwlul wanwiyniptp (nbwgbuuubn) qc hwin 83.28 15000 1249.2
33691160/680 phupwlwl wanwnyzbp (nbwgbnubip) QL hwn 345 192 66.2
33691160/681 phupwljwl wanwunplbp (nbwgbntbp) 9L hwn 345 192 66.2
33691160/682 phihwlwl wgnuynyebp (nhwgbintbp) L huwiwn 393.75 960 378.0
33691160/683 phupwlwl wgnuwunehbp (nbwgblnutin Q< huwun 393.75 960 378.0
33691162/714 [wpnpwinnp wgnwynipbp (nbwgbtiuinubp) < huwwn 155.13 9600 1489.2
33691162/715 (wpnpwwnnp wanwiynyetip (nbwgbunubp) L hiuwn 1120 1152 1290.2
33691162/716 [wpnpwinnp wgnuljniabp (nbwgblnubp) QL huwn 640 480 307.2
33691162/717 (wpnpwnnp wgnwiniptp (nbwgblnttip) 9L hwn 640 480 307.2
33691162/718 (wpnpwwnp wquwbynyatip (nGwgblnbibip) 9L huwwn 640 480 307.2
33691162/719 |wipnpuwinnp wgnwynipkip (nBwagbntbn) Q< hwin 153.75 5760 885.6
33691162/720 |wpnpwnnp wanutynipbp (nbwgblnbp) 9L hwin 69.36 8000 554.9
33691162/721 (wipnpwwnnp wgnwlyniptp (nGwgblwntibin) QL hwwn 405.6 600 243.4
33691162/722 (wpnpwwnp wanwiyniepbp (nbwgbunlibin) QL huwn 18 600 70.8
33691162/723 wpnpwunp warwtyniebp (nbwgblnlbn) G< hwiwn 33.84 1800 60.9
33691162/724 wpnpuwwnnp warnutynystin (nbwghkunubp) QL huwin 1000 60 60.0
33691420/707 (wpnpwwnp warwtyniebip (nbwgbunubp) puqduwyndynubun QL [nwywgd 74000 25 1850.0
33691420/708 (wpnpwwnnp warpwbnebp (nbwgbunlbn) puqiuwyndynutiun QL (g 62000 15 930.0
33691420/709 (wpnpwwnnp wanwinipbn (nbwgblntbp) pugdwlndynuttin 9L [nwiljugd 48000 150 7200.0
24311360/502 twnphntdh piappn < Uhingpuwd 2 0.0
24321650/501 qihgbpht QL pyngpuwd 0.1 0.0
33141211/524 pdoljwlwl wy) gnpdhpubip - wwpwgqwubp L hwn 10 0.0
33141223/508 pdolwlwit wy gnpdhpubin - wwpwgwubn puqiwyndwyntiiin q< Inwlwgy 2 0.0
33611430/501 uwihnwip jnnhn r05ca02, s01xa04, v03ab21 QL lhingpuwid 3 0.0
33691134/502 Lwihnwih pinppry al2ba01, b05xa01 9L Yhngpuwd 0.3 0.0
33691160/686 phupwlwl wgnwynipbp (nbwgbunlbp) G< hwin 1 0.0
33691160/687 phipwljwt wanwunyatip (nbwgbiiunutin) QL hwiwn 1 0.0
33691160/688 ppupwlwl wgnwunyatp (nGwgbiinutip) G< huwin 1 0.0
33691160/689 phipwywl wgnuwiynipbp (nbwgblntbp) QL hww 1 0.0
33691160/690 phuhwlwl wgnuwnyetip (nbwgblwubn) QL hwiwn 1 0.0
33691162/725 jwpnpwinnp wnwunphp (nbwgbunubn) QL hwwn 1 0.0
33691162/726 (wpnpwinnp wanwuniphp (nbwgbunubp) L huwin 1 0.0
33691162/727 {wpnpwinnp wgnwuniphp (nbwgbnubn) S huwin 2 0.0
33691162/728 jwpnpwinnp wgnwuniphp (nbwgblnubn) QL huwwn 1 0.0
33691162/729 |wpnpuwtnnp wanwynyebp (nbwgbuwnubp) YL hwn 2 0.0
33691162/730 (wpnpwnnp wanuwiynyabp (nbwgbilnttipg 9L hwwn 1 0.0
33691162/731 (wpnpwnnp wanutynabp (nbwgbuntibip) QL hwwn 1 0.0
33691162/732 (wpnpwwnnp wanuwtynetp (nbwgblntitipg SGL huwtn 1 0.0
33691162/733 jwpnpuwnnp wgnutynipbp (nbwgbtnbbp) L hwtn 2 0.0
33691162/734 wpnpuwnnp warwtynietbp (nbwgblntbip) QL hwwn 1 0.0
33691162/735 wpnpwwnp wonwiynietbp (nbwgbnlbp) <L hwun 4 0.0
33691162/736 {wpnpwitnnp wrubgnyabp (nbwgblnubp) QL hwwn 1 0.0
33691162/737 wpnpwnnp worpwbyniptp (nBwgBlunlbing SG< hwin 1 0.0
33691162/738 jwipnpunnp worwlyniphp (nbwgblntbpg 9L hwwn 1 0.0
33691162/739 jwpnpwwnnp worwbyngebp (nbwgBluntbp) QL hwiwn 1 0.0
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33691162/740 jwpnpwnnp wqrubynatip (nbwgblnttip) <L hwwn 2 0.0
33691162/741 wpnpwwnnp wqruwbynpbp (nGwgblntbip) QL hwin 2 0.0
33691162/742 jwpnpwnnp waruwlynptp (nbwgblnbibp) QL hwun 1 0.0
33691162/743 wpnpwwnnp wanuwtymatp (nbwgblntibp) GL hwin 1 0.0
33691162/744 pwpnpwiinnp wgnwbyniyabp (nbwgblnbbp) < hwin 1 0.0
33691162/745 |wpnpwwnnp wanuwyniebp (nbwgblnlbp) L hwun 1 0.0
33691162/746 (wpnpwnnp wgnwniyebip (nbwgbbnbbp) QL hwwn 1 0.0
33691162/747 wpnpuitinp wgrubniebp (nbwgblnubn) < hwwn 3 0.0
33691162/748 {wpnpwwnnp wonwiyniphbp (nbwgbnlbp) QL huwn 1 0.0
33691162/749 \wpnpwinnp wgnwuniehp (nbwgblnbp) 4L huwin 1 0.0
33691162/750 Jwpnpitnnp wegnwingetip (nbwgbunubp) 4L huwin 1 0.0
33691162/751 {wpnpwiinnp wgnwynyetip (nbwgbunubp) G< hwin 1 0.0
33691162/752 jwpnpuwitnnp wanwinyatp (nbwghblnubn) G< hwwn 1 0.0
33691162/753 jwpnpwinnp wgnwnyehbp (nbwgbnubp) G< huwiwn 2 0.0
33691162/754 (wpnpwwnnp wanwynyebp (nbwgbunubp) QL huin 2 0.0
33691162/755 [wpnpwnnp wgnuwyniyebp (nbwgbiinubp) QL huwwn 2 0.0
33691162/756 jwpnpwinnp wanwynabp (nbwgbnubip) GL huwin 1 0.0
33691162/759 |wpnpwinnp wgnwtynpbip (nbwgblnutip) L huwitn 1 0.0
33691162/760 jwpnpwwnnp wanuwyniptp (nbwgbuntibipg QL hwin 1 0.0
33691162/761 jwpnpwwnnp wgrwtynipbp (nbwgbiunlibipg 9< hwin 1 0.0
33691162/762 (wpnpuinnp wgnwtnipbp (nbwgbbntbp) QL hwn 1 0.0
33691162/763 (wpnpwinnp wgnwuniphp (nbwgblnbp) 9L hwwn 1 0.0
33691162/764 jwpnpuwnnp wanwniebp (nbwgbnbbp) 9L huwwn 2 0.0
33691162/766 |Jwpnpwinnp wgnwuniphp (nbwgbnbp) aL huwitn 1 0.0
33691162/767 |wpnpwnnp wgnwnipbp (nbwgbunubip) G< huwin 1 0.0
33691162/768 {wpnpwnnp wgnwiynipbp (nbwgbiunubn) G hwn 1 0.0
33691162/769 |wpnpwnnp wanwnyebp (nbwgbunubip) L huwn 1 0.0
33691162/770 |wpnpwinnp wgnuwniphp (nbwgbnubip) L huwitn 1 0.0
33691162/771 |wpnpwinnp wgntyniphp (nbwgbntbp) < hwtn 2 0.0
33691162/772 jwpnpwinnp wanwiynyebip (nbwgblunubp) 9< hwin 3 0.0
33691162/773 wpnpwwnp waruwiynetp (nbwgbnbbp) QL hwwn 2 0.0
33691162/774 |wpnpwwnnp wgnuinipbp (nbwgbunbp) 9L huwin 1 0.0
33681162/775 (wpnpuitnnp wqnwuniehp (nbwgbunubn) L huwwn 1 0.0
33691400/504 phipwlwl wanwiynebp (nEwgblntbp) pugduyndynubun QL (wljuugd 1 0.0
33691410/509 phuhwlwy wgnunyebp (nbwgbinubp) hbnnly QL {hup 0.5 0.0
33691410/510 phuhwlwl wgnwnipbp (nbwgkliinubp) hbnnldy QL thwp 0.1 0.0
33691410/511 phupwlwl wqnwunyplp (nbwgblnubip) hinnly Q<L hwp 20 0.0
33691410/512 phuhwlwl wgnuwiynyebp (nbwgbiinubp) hnny QL {hunp 20 0.0
33691410/513 phupwlwl wanwynyabp (nbwgtunutp) hinnty 9L hup 1 0.0
33691411/503 phihwlw wanwiynetp (nbwgkunubin) tingh Yud gpuitiniutip 4L Uhynapuad 0.5 0.0
33691411/504 phuhwlwl wanuwyniebp (hbwgbtnubn) thnzh Ywd gpwtingtbp QL Uhingpuwd 0.5 0.0
33691411/505 phuhwlw wanwynyebp (nbwgbunubp) tingh Yud gputinglbip q< Uhingpuwd 0.5 0.0
33691411/506 phihwljwt wanwymnpbn (nbwgbuinttin) tingh Yud gpuunyubp 9L Yhingpwd 2 0.0
33691411/507 phihwlwl wanuiniptp (nwgbutnutipg tingh Yuwd gpuwunyutip Cle Yhingpud 2 0.0
33691411/508 phihwlwt wanwiynptp (nhwgkuinubing tngh Gud gpuitingutip 9< Yhingpuwd 3 0.0
33691411/509 phihwlwt wanuwiyniptip (nbwgbuntbn) tingh Ywd gputingtip Qg Uhingpud 30 0.0
33691411/510 phuhwlwt warpwlynyetip (rbwgbtnubng tngh Ywd gpwtingubip Q< Yhingpwd 40 0.0
33691420/710 {wpnnwwnnp wanwlyniptp (nhwgblnttn) puguwlndyntibn 9 Inwlugd 1 0.0
33691420/711 (wpnpwwnnp wanwyniatin (nbuwghklnubng puqiwindwnubun Q< Inwlwqd 1 0.0
33691420712 Lwpnpuinnp wanwiyniptn (nbwgbunubn pwquwyndwntbln Q< (nwlywgd 1 0.0
33691420/713 |wpnpwinnp wqnwniebp (nbwgbunutp) pugduinduntbun q< nwiljugd 1 0.0
33691420/714 (wpnpwnnp wanwynipbp (nbwgbunbp) puqdwlnduntbn qc Inwlwgy 30 0.0
33691420/715 (wpnpwwnnp wanwnibp (nEwgklntbp) puquwlndunubun SG< ntlugd 4 0.0
33691846/501 Yhwnpnuwepny hinuwpent L Yhingpwd 0.5 0,_0
33141211/534 pdoljwliwt wy gnpdhpubin — wwpuiguiibip 9L huwin 5700 800 4560.0
33141211/535 pdolualwt wy, gnpdhplibip — wwipwguitbp ac huwn 5700 800 4560.0
33141211/541 pdoljwlwt wy gnpdhplbip — wwpugquitibp 9L hwin 5700 550 3135.0
33691160/692 phupwlw wgnwiympbp (nbwgbuntbp) QL huwn 600 120 72.0
33691160/693 phupwlw wgnwiymipbp (nbwgblntbp) < huwwn 49800 5 249.0
33691160/694 phupwlw worwiynsbp (nbwgblntbp) < hwun 3400 2 6.8
33691160/695 phupwluwu wgnuwuniplp (nbwgblnlbp) 9L hwwn 48000 2 96.0
33691160/696 phuhuwlwt wgnuiunebp (nbwgbintbp) GL hwwn 58000 2 116.0
33691162/776 |wpnpuinnp wgnuniphp (nBwgblntbn) G huwwn 16.8 1000 16.8
33691162/777 wpnpwwinp wgquwnyakip (ntwgbunbp) G huitn 16.8 1000 16.8
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33691162/778 |wpnpwunnp wanwinpbn (nbwgblnubn) < huwin 16.8 1000 16.8
33691162/779 |wpnpwnnp wgnuwynpbp (nbwgbinubp) QL hiun 16.8 1000 16.8
33691162/780 (wpnpwnnp wqrutynyabip (nbwgblnttip) QL hwwn 16.8 1000 16.8
33691162/782 |wpnpwwnnp wgnwiynyabin (nbwgblnubp) G huwin 16.8 1000 16.8
33691162/784 |wpnpwwnnn warutynystn (nbwgbntbn) 9L huwin 16.8 1000 16.8
33691162/785 |wpnpwinnp wgnitynysbp (nbwgbtintbp) QL huin 16.8 1000 16.8
33691162/786 (wpnpwinnp wanwtnipbp (nbwglnutip) g< hww 16.8 1000 16.8
33691162/787 (wpnpwinnp wanuwynabp (nbwgbunlibp) G hwin 16.8 1000 16.8
33691162/788 |wpnpwinnp wgputynbp (nbwgbntbp) Q< huin 16.8 1000 16.8
33691162/790 |wpnpwnnp wgnutynysbip (nbwgbunubp) QL huitn 16.8 1000 16.8
33691162/791 (wpnpwinnp wgnwiynyship (nbwgblnbp) Q< hiin 16.8 1000 16.8
33691162/792 (wpnpwunp wgpwtynyatin (nbwgbtnubp) QL hwiwn 16.8 1000 16.8
33691162/793 |wpnpwwnnp wgnuynyebip (nbwgbuntbip) QL huwin 16.8 1000 16.8
33691162/794 |wpnpwinnp wgnwiynipbp (nbwgblntbp) QL hwtn 16.8 1000 16.8
33691162/798 |wpnpwinnp wanwiynyekip (nbwgbtnnttp) 9 huwwn 16.8 1000 16.8
33691162/799 |Wpnpwinnp wgnwnelp (nhwgbunubp) Q<L huiwn 16.8 1000 16.8
33691162/800 |wWpnpwwnnp wgnuwiynisbp (nbwgbnubip) QL hwwn 16.8 1000 16.8
33691162/801 (wpnpwwnnp wanuynyebp (nbwgbuntitp) G huun 16.8 1000 16.8
33691162/802 (wpnpwwnnp wanwignyatip (nbwgbnbbp) 9L hwwn 16.8 1000 16.8
33691162/803 |wpnpwnnp wgnwiynyabin (nbwgbtunubp) 9 hwwn 16.8 1000 16.8
33691162/804 |wpnpwwnnp wgnuitynysbip (nbwgbntbip) L hwn 16.8 1000 16.8
33691162/807 |wpnpwnnp wigrwiynyabin (nbwgbtnubp) q< huwin 16.8 1000 16.8
33691162/810 |wpnpuwnnp wgnuiynuyabp (nbwgblnbbp) L hwn 16.8 1000 16.8
33691162/811 |wpnpwnnp wgnutyniphp (nbwgbbntbp) L hwin 16.8 1000 16.8
33691162/813 |wpnpwitnnp wgruunipbp (nBwgblntbn) Q<L hwn 16.8 1000 16.8
33691162/814 (wpnpwnnp wgrwiyngebp {(nbwgbluntbp) 9L hwwn 16.8 1000 16.8
33691162/815 |wpnpwitnhp wqnwuniphp (nbwgblnlbp) QL hwwn 16.8 1000 16.8
33691162/816 |wpnpwinnp wgnwuniphbp (nbwgblnubn) QL hwwn 16.8 1000 16.8
33691162/817 |wpnpwitnnp wgnwuniphp (nbwgbunlbp) ag hwin 16.8 500 8.4

33691162/818 |wpnpwinnp wgnwunyebp (nbwgbunbn) a< hwuwn 16.8 1000 16.8
33691162/819 jwpnpwinnp wgnwniebp (nbwgbUnubp) 9g huwn 16.8 1000 16.8
33691162/820 jwpnpwnnp wgnwunietip (nbwgbuntbn) Q< huwiwn 16.8 1000 16.8
33691162/821 jwpnpwnnp wgnwignehp (nbwgbuntbp) G< huwin 16.8 200 3.4

33691162/901 (wpnpwinnp wqnwiyniyebp (nbwgblnubp) Q<L huuwn 16.8 400 6.7

33691162/903 (wpnpwinnp wgnwiynebip (nbwgbunubp) 9L husn 16.8 1000 16.8
33691162/904 |wpnpuwnnp wgnwnyebp (nbwgbunubing L huiwn 16.8 500 8.4

33691162/908 |wpnpuwnnp wanwnyebip (nbwgblntbp) Q< hun 16.8 1000 16.8
33691400/505 phuhuuljwt wqnuunyetin {(nbwgbtntbn) pugqdwyndynubiin < [nwljugud 40000 2 80.0
33691400/506 phuhwljwt wqnwunyebp (nbwgbunubp) puwgdwindynubun 9L nwljwgd 24000 4 96.0
33691400/507 phuhwlwt wqnwynipbp (nbugblnubp) puwgqdwlynduynubiun q< nwljugd 28800 2 57.6
33691400/508 phuhwlwl wgnuwynebp (nbwgblnutp) puqdwndwyntbun qL Inwlwgy 14400 2 28.8
33691400/510 phuhwlwl wgnwunebp (ntwgblnutn) puqiwlndwntbun 9L by 18000 3 54.0
33691400/51 phuhwhwt wanwynyatp (nhwghlntbp) pugdwlndyntbun G< (Puljugd 23000 3 69.0
33691400/512 phupwyw wanwtynptp (nBwgbunttip) pugqiulyndunubun G [nwlwgd 16800 8 134.4
33691410/514 phupwlw waruwtymyebp (nbwgblnlibip) hlinniy QL [htp 1500 3 4.5

33691410/516 phupwlwl wgnwiynyatip (nbwgblintibp) hbnny GL [ptnp 3000 30 90.0
33691411/511 phupwlw wanwynyetp (nbwgbtntibp) tingh Yud gpuwtnyutp 4L Yhingpud 41800 25 104.5
33691411/512 phuhwywt wanwtynyetip (hbwgkunubn) tingh Ywd gpwtingltip QL Yhingpwd 38800 1 38.8
33691411/513 phupwlwt waruwtyniptp (nbwgbuntbip) hingh Yud gpuwtnigutip G< Lihingpud 44000 3 132.0
33691411/514 phupwlwt wnwyniebp (nbwgbntbn) thingh Ywd gpwtnybn < Yhingpwy 40000 3 120.0
33691411/517 phupwlwl wanwbynieptip (nbwgbtntbp) tingh Yud gpwtngubip QL Ghinapwd 49600 0.5 24.8
33691411/518 phuhwlwl wanwynipbp (nbwgbbntbp) dingh Ywd gpwunyubp 9L Uhingpwd 37000 4 148.0
33691411/519 phuhwlwl wgnwunipbn (nbwgblntbp) tingh Ywd gputingubp < Uhingpwd 42000 3 126.0
33691411/520 phipwlwl wanwinietn (nbwgbuntbp) tingh Yud gpuunyubip q< hngpwd 80000 0.25 20.0
33691411/521 phipwywl wanwinyetn (nbwgblntibp) tingh Yud gpwunyubp aL Yhingpuwd 99200 0.25 24.8
33691411/522 phihwlwl wanwynyetin (nbwgbtntibp) thnzh Yud gpuitnyutp 4L Yhngpuwd 49600 0.5 24.8
33691411/523 phupwlw wanwiymptp (nbwgbtntibip) tngh Yud gpwnyubp G< Lhingpuwd 4600 2 9.2

33691411/524 phuhwlwl wanuwlyniyetin (nbwgbtnubng tnzh Ywd gpwlingup QL Yhingpud 28800 2.5 72.0
33691411/525 phuhwlwl wanwtyniepbp (hbwgktntbn) tnzh Ywd gpwlingutp Q<L Lihingpud 44800 2 89.6
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33691411/531 phupwlwl wgnwuynyetip (nbwgbunutn) tingh Yud gputniyubp G< Yhingnud 34800 1 34.8
33691411/532 phihwlwt wgnuwinetn (nbwgbunttbp) thingh Ywd gputnyubp < Yhingnwd 34800 0.5 17.4
33691411/533 phupwlwt wgnwuynystip (ntwgbuwmutp) tingh Yud gputnyubp q< Yhingpud 40000 0.5 20.0
33691411/534 phihwlwl wanwynyatip (nbwgblintbin) tingh Yuwd gpuingitip qc Uhinapwd 100000 0.25 25.0
33691411/535 phihwlwl wqnuwtynetin (nbuwgbntbp) tingh Yud gputngubin q< Lhingpuwd 47000 1.5 70.5
33691411/536 phihwlwt wanutynptin (hbwgblntbp) ingh Yuwd gpuiunyubp G< Uhingpwd 4000 1 4.0
33691411/537 phupwlwt wgnwljmpebn (nbwgbunttbp) thngh Ywd gpuwtnyutp qg Yhingpuwd 10000 2 20.0
33691411/538 phupwlwt warpwtynystip (nbwgbinbibp) tingh Yud gpuwunyubp q< Yhingpwd 3000 5 15.0
33691411/539 phupwlwt warnwinyestp (nbwgblnttp) thngh Yud gpuiunyubp QL Yhingpwid 3000 5 15.0
33691420/718 |wpnpwinnp wqnwuniebp (nbwgbunutn) puquiwyndwynutUn Q< (nwlywgd 66000 2 132.0
33691420/719 |wpnpuwnnp wanwbygnyebp (nbwgbunubip) pwqiwlndwnubtn QL [wyuwigd 30000 1 30.0
33691420/720 |wpnnwnnp wanwtnyetp (nbwgblinubp) pugquwlniynutn QL [nwiywgd 168000 1 168.0
33691420/721 |wpnpwinnp wanwynipbp (nbwgbunutp) pwquwlnduniubtun Q<L [nwijugd 168000 1 168.0
33691420/722 |wpnpwinnp wanuwtynyebp (nbwgbunubn) pwgdwlndynubin qc nwljuwgd 168000 1 168.0
33691420/723 (wpnpwnnp wgnwiynyebp (nbwgbnubp) pugqdwlnduntbin q< [wjusgud 90000 5 450.0
33691420/728 |wpnpwwnnp wanuwtynebp (nBwgbuntibip) pugdulnduyntbln QL [nwljugd 40000 2 80.0
33691420/729 |wpnpwwnnp warwbniebp (nbwgblnbn) pugqdwlyndwynubun Qg Inwluqy 40000 2 80.0
33691420/730 (wpnpwnnp warbyniebp (nbwgbnlbn) puguwyndynubun QL Inwilyay 40000 2 80.0
33691420/731 |wphpwinnp wqnwuniphp (nbwgblnubn) puqdwndwnubun qL Il 40000 2 80.0
33691420/735 |wpnpwinhp wqnwniebp (nbwgbunutbn) puqiwyndwynutun G< Inwluqd 25000 1 25.0
Vs 0.0
pd72uljut uwppwynpnuitbip
33181110/506 htdnnhwihgh uwppbp L hiuwn 5692500 1 5692.5
33181110/507 hunnhwihgh uwppbp G< hwin 6355900 1 6355.9
33181110/508 hbdnnhwihgh uwppbp L huwwn 717600 1 717.6
33161200/503 Funnulnwubp 9L hwtn 13600000 1 13600.0
33111340/501 u“‘fn‘g;';“z‘“”“ qhip8iyht (ehun), aunnuies bl =R} © g huin 13700000 i 13700.0
33171700/501 whgquiywgiwl uwppbp G hiuwn 1 0.0
33191520/501 wipjw hnutbpupldw uwppbp Q< hwwn 1 0.0
38511220/501 :}nr:uwuhwjhb {dnbnh]muwhﬁj;ﬂ{wd Gplwluwht (phunbnywn) ac — i 0.0
wiht dwunwnhuw
38591200/501 phuhwywl jwpnpunnphwinud Yhpwinynn uwpptip L hwwn 1 0.0
6 0.0
33121200/501 upwnh wluwwnwlph huynrnie)wl vwppbp q< hwin 378000 7 36460
33121200/503 upwnh wluwinwbph huynaniys)w uwpphbp <L hwn 1 0.0
funtiwuwiglwd ppUwdth Jwnwywpwpdwl uwppbp, npnup
33151270/501 aL h 3 0.0
/ Uhpwnynw B prlwdtwiht phpwuhunu wn v
42121310/501 pdalwilut bwuinwlubpny Yhpwngnn wndwbp G< hwwn 9 0.0
42121310/502 pdolwlwt Uywinwlubpny Yhpwnynn wndubn QL hwuw 18 0.0
42931100/501 {wpnpwinnphwlwt ghunph$niqubip — wwpwgwbp G< hwwn 21400000 1 21400.0
42931100/502 {wpnpwinnphwlpwt gitunph$nigubp — wwpwgwubip <L huwin 1 0.0
0.0
Uuinwhwihg uyniptip
24451140/502 futnwhwiuhs Unyat 9< 1y 40 29
HAGATERE RN " 2100 15 315
24451141/516 whitnwhwlihg hbnmiy Wniplp qc hinp 2100 500 1050.0
24451141/518 wuwnwhwths hnny Wniebp < {hinp 1615 200 323.0
24451141/520 wihitnwhwlpg htnml Ynipbp qc ihtp 2500 20 50.0
24451141/521 whitnwhuitihs hbnniy Wnipbp qc {hup 1493 525 783.8
24451141/522 wiutwhwuhs hannly Uniyehbp qL ihtnp 6000 400 2400.0
50 0.0
24451141/523 wuwnwhwihs hnml Unyetip QL lhinp 7990 T 7
24451141/524 wiutnwhwuhs htinniy Unipbip L thunp 3400 200 680.0
24451141/525 wutnwhuttihs htnniy ynitp ac thup 7400 100 740.0
24451141/526 wiutnwhuwtips hbnnily Uniehbp 9L thup 1700 100 170.0
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33111500/507 Spwp wnbiphihqughwih q< hwwn 47 300 14.1
33111500/508 dpwp unbiphihqughwjh < hwtn 58 10000 580.0
33111500/509 dpwp unbphihquighwih 9< hwin 32 3000 96.0
33111500/511 dpwp unbiphthqughwih 9< hwin 156 500 78.0
33111500/512 Spwn uinbiphihquighuwih G hwn 26 3000 78.0
33111500/513 dpwp uinbpphquighuyp QL hwwn 88 100 8.8
33111500/514 hunhbwwnnp dwupfwgbpdywdnyes)wl G< hwin 7.8 1000 7.8
33111500/516 hunhlwunnp dwupbwgbpéywéniawl 9< hwin 5.8 2000 1.6
7177.5
EiEhunpulywl wwpwuptbp
31711620/501 Lnwwnhnnwiht (LED) jnwwwnnt q< hwn 1300 5 6.5
31711620/502 Lnwwnpnnwht (LED) jnuwiwnn 9L hwin 1200 20 24.0
31711620/503 Lnwwnhnnwht (LED) |nwwwnnt G< hww 1500 30 45.0
31711620/504 Lnwwnpnnwihu (LED) jnwwwnnt QL hwwn 3900 140 546.0
31711620/505 Lnwwnhnnwyht (LED) jwiw Q< hwin 460 50 23.0
31711620506 Lnwwnhnnuwiht (LED) |nwuwnnt aL hwwn 1200 20 24.0
31711620507 Lhwwnhnnwiht (LED) inwwinnt 9L hwwn 7000 30 210.0
31512360/501 Lnwwpdwl wpnwpht 9L hwn 9000 5 45.0
31512360/502 $nnngh [nwwwnnt QL hwwn 8544 10 85.4
3716E20/508 Lnwwwnn 60*60, 96W 6500K gL hwn 7100 20 142.0
31711620/509 Lnwwwnnt 60*60, 96W 6500K < hwin 7820 20 156.4
31512360/503 Lnwwnhnnwiht (LED) nuwwnnt G< huin 2700 20 54.0
31211180/50 Utgwinhs Ut untinuny q< huwtn 1200 15 18.0
31211180/502 Utigwinhs Ubl unbnuny wpuwpht 9L huin 1400 15 21.0
31211180/503 Ubgwinhs Bplynt unbinting QL huuwn 1500 5 7.5
31211180/504 Ubigwinhs biplynt uinbintiny wpunwpht QL huin 1600 5 8.0
31684100/508 Ywpnwly hnnuwugnwiwihu dhwgnuwinyg 9 huwin 1400 25 35.0
31684100/509 Qwpruly hnnwgnuiwpt dhwgnuing wpunwphl QL hwn 1586 15 23.8
31684100/501 Gpgwiily Uy nbin o< huwin 300 25 7.5
31684100/502 Gppwiiwly Gpynt nbn 9L hwwn 600 15 9.0
31684100/503 Cpgwlwl bipbip nbn qL hww 900 5 4.5
31684100/504 Fupnguwly hnnuitignuiny q< hu 280 30 8.4
31684100/505 Qwpruly hnnuwibignuing bplwpwgdwl jwph hwdwp g huitn 460 20 9.2
31231200/501 Mywunhly innuptip Eielnpuigotinh huduip ptpbubugntu 9< husn 350 60 21.0
dwwuitting
31231200/502 Ubiljinnbughtu bllunpwdntunwdwiht winup K806 G805 dnnbith q< huwin 125 20 2.5
31231200/503 l;|1l[:;1qum1hh kbl pwinunwdwiht wnuh KB20-2 G-805 ac iiih 250 15 38
nn
31231200/504 E:rgﬁqbwlm Ll pwdnunwdwiht winuh K820-3 G-805 ac o 400 10 4.0
31681700/503 Uwinndwwn whgwinhsubph tinwh wpnwpht bwnunbudws 2(+1) ac huwtn 345 5 17
dnnnyubiph hwdwp
31211180/509 Utjinniwn wigwinhy Q<L hwin 4444 4 17.8
31211180/510 Uywnndwn wlgwinhs L hwun 4244 4 17.0
31211180/511 Uywnnuwwn wlgwnhy 9L hwn 3644 4 14.6
31211180/212 Udinndwwn wlgwinhs QL huwin 1244 12 14.9
31211180/513 Ugwnnudwin wlgwinhs 9L hwin 1144 12 13.7
31211180/514 Udinndwin wugwinhy Q< huwiwn 1044 12 12.5
44322200/501 Cnuwiph dwintu G< dbinp 178 100 17.8
44322200/502 Snuwliph dwiniju QL dtinp 238 100 23.8
44322200/503 <nuwlph dwiniju GL dbwnp 348 100 34.8
44322200/504 Cnuwlph duwinyu 9 dkinp 396 100 39.6
44322200/505 Cnuwbiph dwiniju 9L dbnp 525 100 52.5
44322200/506 Cnuwliph duigniju < Ubiwnp 648 100 64.8
44322200/507 <nuwliph dwniju QL Uk 614 100 61.4
44322200/508 Znuwlph dwyniju Q< dbwnp 936 100 93.6
44322200/509 Znuwbiph duwynuu G JdGnp 1198 100 119.8
44322200/510 Znuwlph dwiniu qc dtnp 1980 100 198.0
44521230/501 ujjwuwndwub PA 66 wupwly dwiniup hwdwp 9L hwn 440 3 1.3
44521230/504 wwuwndwub PA 66 wdpwl dwiniuh hwdwp qL hwin 560 3 1.7
44322550/501 Uwinifup wunip 9L huwwn 3 300 0.9
44322550/502 Uwinifuh wunip QL hwtn 5 500 2.5
44322550/503 Uwintup wunip 9L hwwn 5 500 2.5
31651400/502 k. dblniuhs dwuuidbu QL hwwn 135 50 6.8
32442400/501 huptiwubnddnn nbpuhuwiwht plaY(KIEMMHIK)2+2 2,544 CH-2 &< hwn 60 300 18.0
31711770/501 :Ugnuju.qhh—hnjwu wubphlywt fupngwlnd(nepexopHnk TpoHMK) ac batn 590 8 10.6
z
31681700/504 Udunndunn Uugwinhsubiph Snup GL hwn 1200 5 6.0
2nndul Gujwu (160-480°S) pdwjht Eypwu Br
32351120/501 220V/40  MaansHan craHuuma (160-480°C) yudpposoli aucnineit G< huwin 21144 2 42.3
220V/40 naankHUK
32442400/502 Din  nbyubp din  peiika qc hwn 425 5 21
32324800/501 <bnnunwgnyg Q< hwwn 150000 1 150.0
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39711290/501 Uhypnwihpwiht Juwnwpwutp S hutn 50000 3 150.0
32551170/503 Ubipwp hbnwunu 9 huwn 28571 7 200.0
Spuwublywlwhtl wupwiplbp b bynypbp
30197620/502  |pnup, A4 $npiwinh 9¢ wiuh ) o0
1430 1500 2145.0
30197620/504 pnue, A4 Snpdwinh huptwlusnit ghipptn 9< inti 2470 9 2.2
30192800/501 hlstwluysntt whunwl / guwwhnwl 30*4004/ Gl huitn 1.2 10000 12.0
30192800/502 hugtwlugsnits whuwl / quwwpuinwl 20°304dd/ 9 hwi 2.1 5000 10.5
600 0.0
30199420/501 udnigutiph hwdwp, 11l
/ pntne Udngutiph hwdwp, unutdywapny QL hwwn 3 300 56
30197322/501 Lwiphg, 20-50 phpph hwdwp 9L hwin 490 100 49.0
30197100/501 Ywphsh dainwnwiwpl Yuwbp, ded Q<L tnnuh 0 10 0.0
30197112/501 Yuaphsh Utnunuipunt Yuugbn, dheht a¢ —_ = 35000 gg
30197111/501 Ywiphgh dbinwnwiwpb Yuwbp, tinpp qC innuh gl 9.3
44 100 4.4
1800 0.0
30192710/501 udwd , hu
/ unubidwdwinhun, ghwubljwlught q< hwn 50 1000 50.0
30192231/501 ulyng wnihdbpught 9L hwn 0 200 0.0
30 0.0
30197340/501
/ wuywiwnh i i 105 15 16
39263600/501 gpswunnuth, gpuublywlwghu QL hwn 145 200 29.0
thwutnwpnpebiph hwiwp bwuwnbudws, ubnuth gpw npdnn 200 0.0
30193200/501 q<
v nupwluzwpbn huitn 1600 100 160.0
30192100/501 nbinht hwuwpuly G< hwwn L S
69 200 13.8
150 0.0
3/50
30192133/501 uphs 9L hwwn 50 75 38
200 0.0
3926 b
3400/501 wpwy fuypbw /, dhght QL wnith 59 100 8.0
200 0.0
5
3926340/5M witdpwly fuypby /, thnpp QL inntth T 700 28
360 0.0
39263530/501 ubnuwly Ayhwut/, dbd q¢ huwtn = = =
200 0.0
39263520/501 ubnwl Myhwuby, dheht < hwwun e 700 X
200 0.0
39263510/501 ubindwl /hwut/, thnpp 9L hwn 5 100 )
500 0.0
h
30192231/502 ulyng Q< wwn 75 =00 555
800 0.0
1 1
30192160/50 auphs 124 a4 huwitn o i e
800 0.0
160, hi
30192160/504 aunphg 74 Q< wn 04 300
500 0.0
30 b g
192125/502 dwplybp huwin 29 300
200 0.0
9
39241210/501 Ulpuwn, gpuubtjwluwihu huwn 140 100
30141200/501 hupuuuuing, gpuibtywliught 9 hutn 39 o
2 nE, qn J} ) 2700 15
500 0.0
3 uty 9
0192130/501 dwnpuntbip huwn 5 300
3500 0.0
30192121/501 gphs gunhlwynp q< hutn 75 3000
.0
30197231/501 pRRWWWUWY, ynhdbpwiht punwup, )| q< hwn T 'f:gggg g
5000 0.0
30199260/501 hwinney U4 dpwp 9L hwn T 5000
30192114/501 Ywpdhp pwuwp, Yupph pupdhlh hwdwp Qg hwn 160 fg 0.9
30192114/502 Yuwynyin pwwp, Yuhph pwpdhyh hwdwp QL hwwn 160 153 0.0
30192111/502 Pwlwph pwpdhl QL huin 0 20 0.0
39263200/501 ?"l:"“imw”‘”’hh Abia; dhatnd. 70-200kg; b i hineal a< hun 1350 50 67.5
2upn
22851200/501 PrRWWwWlLl QL huin 140 300 42.0
22851200/502 pERRWWwlwy G huitn 430 300 129.0
22851200/503 RRWWwlwY Q< hwin 470 200 94.0
200 0.0
22851100/501 wpwqwlwpubp < hwtn 50 700
300 0.0
22851200/510 prRwwwuwlutp 20 duyny QL hwn 330 50
22851200/512 prpwwwbwlubn 60 Suyny a< hwn 580 200 116.0
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30195700/502 gpwinwunwlubph dwppdwl uwndig qL huwn 0 100 0.0
30192350/501 hwiguhs-npuwiwplnuht dopbuwtbph dwwwybuubp 9L huwn 58 1920 111.4
Stnbuwlwt b ghtwpwpwljwl bywbwlnipjwl wwypwiptbp
32551170/503 wljwp hbnwfunulibp QL hutn 8 0.0
31685000/501 Eibynpuiljwt Bplwpuguwl wp q< hwin 10 0.0
30239150/501 wughs uwpp, puquudniilighntivg G hwun 1 0.0
35121330/501 Gwnphfu Ynnbph ulwuwdnpdwl uwpbp q< hwtn 11 0.0
30232110/506 Lwgbpwhu nughs Q< huwtn 6 0.0
18141100/503 wohuwinwpwht dknunglbip G< qnyg 124.25 240 29.8
18421130/502 dtiningutip 9L qnyg 145 1500 217.5
18421140/502 dblwugquidiw equwgnpddwl dknungubip 9L qnyg 2.996 30000 89.9
18931160/501 [Ywgph wwjnwwlubp GL hwwn 5499 5 27.5
18931180/504 wupwlpubiph thwpbpwynplwl nnypuwyubp 9L huwn 12000 0.0
18931180/505 wwpwpbiph hwebpwnpdwl nnwpwliubp QL huwin 12000 0.0
500 0.0
19641000/505 wnihkphiauwihu wwnl, wnph hwdwp < huwin 4002 500 3001
19641000/506 wnihkphibuwht wwply, wnph hwdwp gL huwin 243 2800 680.4
19641000/507 wnihkphiBuwht wwpl, wnph hwdwp QL hwwn 165 1600 264.0
19641000/508 wnihkphbuwht wwply, wnph hwdwp QL huwwn 140 2000 280.0
24451141/514 wiuwnwhwhs hbnny wnyetip Q< |hwp 264 500 132.0
31441000/503 dwpwnyng, AAA nbuwlh L hwn 50 300 15.0
31442000/502 dwpulng, AA tnbiuwlh L huwin 50 300 15.0
31442100/501 nunwlps dwpunyngubip 9< hwwn 184.92 100 18.5
31442100/503 Ynunwlhs dwpinyngubp < hwwn 199.5 200 39.9
31685000/501 Elwpulwt Eplwpugdwls wp a< hwin 1495 25 37.4
31685000/502 flaunpulwl Gpljwpwgdut jwp Q< huwwn 1970.4 25 49.3
31685000/503 bywpwlwl Eplupwgdwl wp Q< huin 3990 10 39.9
33141118/501 wlabinnghlubp SL hwin 370 50 18.5
33141201/502 Pwfuhjutip qL huawn 2.8 300000 840.0
33711210/502 dblwuguidjw oguiwgnpadwl wudbkinnghlubn < hiuwn 390 5000 1950.0
33711480/503 ofiwn G hwtn 120 500 60.0
33751100/503 dbljwuguidjw oguiwgnpddwl wwlnhplbp L hwin 120 200 24.0
33751100/504 dhlywlguidiw ogunwgnpddwl inwlnhpubp qL _hwin 150 200 30.0
33761000/503 gqniqupwlp pna, nngnuny QL huww 80 4000 320.0
33761000/504 gniguwpwip pnwe, nnynting 9< hwin 80 2000 160.0
33761300/503 abinph el upphsubip < huwin 148 1200 177.6
34331400/502 wywnndbipbtuutibph gnpgbip G huwin 1392 50 69.6
39221190/501 fudbgne gph nwpwbip < huwin 18438 10 184.4
39221220/501 hwagnwwnh snpwungubn QL huwn 10434 10 104.3
39221350/503 Elwbiqudjw oguugnnduwl pwdwlubn qc huwtn 35 15000 52,5
39221410/502 wybubp 9L hwin 100 0.0
39221420/502 funquiiwlitip GL hwin 1269.6 50 63.5
39221430/502 funquitiwl-uwniug wwwlh Jwppbynt hwdwp, nbnpub QL hwn 2328 10 23.3
39221480/502 gnigupuwtp funquwlubn q< hwwn 449 200 89.8
39221490/502 uwyniuglbip L huwiwn 77.77 800 62.2
39224331/502 | wwundwub < huwn 399 80 31.9
39224331/503 hy| Wiwuindwub < huwin 171 50 8.6
50 0.0
39224342/503 wnpwpyn, danwnjw 9L hun 5350 100 5390
39224344/502 wnpuinly phptinuw a< hun i L
1188 50 59.4
200 0.0
39511130/50 uwjuwiuutn < hwn 1549 1000 1549.0
39511130/502 ultuiibp < hwin 150 200 30.0
39511130/503 uwwiibp G< hwwn 100 200 20.0
39513200/502 el wlaknnghl, bplpbipun q< huwin 220 1000 220.0
1000 0.0
39522330/502 dwppnn Yunnpubp G< hwwn 735 2000 7700
39713410/502 hwwnwlyh Jwppdwt uwpptip G< huwin 1308 100 130.8
39713410/503 hwnwlh dwppdwl uwppbp SL hwin 450 250 112.5
39713410/504 hwwnwlh dwppdwl uwppbp QL hwn 4000 100 400.0
500 0.0
39831100/503 (Ywgnn Ynyebip QL |hinp 58 1000 T68.0
39831100/504 |dwgnn Wnyebp L lhwp 72 7000 504.0
39831210/502 uwwuph Ywgdwl nnbpghntbp G< hwin 94.96 1000 95.0
39831243/504 (wgph thnzh wynndwun qL Uhingpuwd 325.03 700 227.5
39831245/502 own, htinniy o< |htnp 168 1500 252.0
39831247/502 whinwhwunn htmnly' uwbhwgnygh hwduwp (funwinip) G< |ptnp 336 1500 504.0
39831278/502 uwjuuph [Ywgdwu thnh gL hwtn 1596 1:;{? 70908
39831278/503 uwjwuph [Ywguwl thngh GL hwn 290 50 14.5
39831280/502 wuywh dwpphint dhgng qc {hnp 276 500 138.0
39831283/503 huwinwlh (Juwguu jwe q<c huwin 876.78 1000 876.8
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39831283/504 hwnwlh (Jwgdwl jwp 9< hwn 349 300 104.7
200 0.0
39831283/505 hwinwlh Yugdwl jwp q< hwin 7500 1000 10000
39835000/502 hwiwnwly dwippbint dnn, wjwundwub, thwjnjw 9L hwn 1000 50 50.0
100 0.0
39836000/502 wybip, unynpwljw q< hwwn 350 200 1900
39837000/502 quiuwlty &< hwn 350 50 175
42961300/502 hhahbuhly wwpwgwbinh nhuwbuubplbp 9L hwtn 3996 20 79.9
44211280/502 dinnbip 9L hwin 292.8 100 29.3
44521120/504 nnwt thwlwubp Q< hwiwn 10 0.0
44521120/508 nnwl thwlwuubp L hwn 4428 10 443
44521120/509 nnwl thwlwuubp 9L hwwn 10 0.0
42414700/501 Ubpbulubp ac huin 3300000 1 3300.0
44163280/1 funnnywlwiht wwypwupubp Ul huwin 46200 15 693.0
44221200/501 uwhnn nnubip QL pd 139920 30 4197.6
16311400/501 funinhtéhs dbpbuwubp L hwitn 130000 T 130.0
18441210/501 uwnwywpinubp 9L huun 10400 1 10.4
30194220/501 gdwgpulwy dwuwwybuubp QL huwin 1380 1 1.4
31171200/501 |wpuwy hnfuwlbpwhsubp QL hwn 300000 1 300.0
31442100/505 Ununwlihy dwpunlnglitip qc huwin 9999 60 599.9
31681900/501 Ebyunpulwt whnuhs (nnk) QL huwwn 18000 1 18.0
33191350/502 wtiuuwyulubp q< huwtn 14444 1 14.4
33191350/503 wwuw)wlubp 9L hwwn 25000 1 25.0
39241141/501 by’ gpuublyuluhl qc hwn 744 10 7.4
39241141/502 nutiwl’ gpuubtywljwht Q< hwin 135 10 1.4
39241210/503 dypuwitn, gpuubtjwlwht qL hwun 2250 2 4.5
39241250/501 Swnbiph dypwn (ubwwnnp) 9L hww 2400 2 4.8
39712300/501 Yuwpuwhwpnwphsubp < huiwn 11310 2 22.6
42121430/501 quiquht Gugwiljubip (Ynuwpbunptitp) ac huitn 68000 1 68.0
42121710/501 ququiht Yndwpbunpubiph dwubp QL hwin 2300 1 2.3
42661300/501 bnwlguw uwnppbip L hwn 18420 1 18.4
42671100/501 qnpdhpliiph pnupsubp < hwn 1200 2 2.4
42671170/501 JnEWjWYNn unng q< hwn 109800 1 109.8
42921240/503 hbnniyughp wnpéwwllbp Q<L hwin 1500 3 4.5
42921240/504 htnnyughp wnpéwwllbn < hwwn 840 3 2.5
43121170/501 wdnifuh Ywd pwph hnpwinhsubp <L hwwn 39000 1 39.0
43121170/502 wdnipup Yuid pwiph hnpwwnhgutip 9< hwiwn 18500 1 18.5
43411300/501 phwninup Yud hwdwlgh juwnUhsttin Q< hwwn 6300 1 6.3
43411500/501 hnlynn uwppbip < huwiwn 62400 1 62.4
43411500/503 hnlynn uwpphp a< huitn 19680 i 19.7
43411500/504 hnlynn uwpphp o< huwin 15900 i 15.9
43611290/501 pwph hnpwinhstbiph dwubip 4L huwn 2790 2 5.6
43611290/502 pwph hnpwwhsubiph dwubip G< huwn 2000 2 4.0
43611290/503 pwph hnpwinhsubiph dwubip GL hiwn 900 2 1.8
44112730/504 linpnn ulwywnwly 9L huwin 870 2 1.7
44411100/501 snpwlubip QL hwin 8400 5 42.0
44511100/501 shinph gnpdhplbip q< huwtn 2700 2 5.4
44511100/502 ahinph gnpdhplibip qc huwin 4444 i 4.4
44511100/503 abinph gnpdppltip 9L hwn 1200 1 1.2
44511100/504 abinph gnpdhplibn q< huwin 1500 1 1.5
44511100/505 abinph qnpdhplibip q< hwwn 790 3 2.4
44511100/506 abnph gnpdhplbip < hwin 19200 1 19.2
44511100/507 abinph gnpdhpubp G< hwwn 1860 2 3.7
44511200/501 abinph unngibip G< hwin 1944 2 3.9
44511200/502 abinph unngubip < hwin 1550 2 3.1
44511200/503 Gbinph unngutin QL huin 1440 3 4.3
44511200/504 atnph unngubip oc hwn 1144 2 2.3
44511240/501 wpguwukp L hwin 2880 2 5.8
44511240/502 wpgultbip 4L huutn 7980 3 23.9
44511240/503 wpguilitp < huwin 1344 3 4.0
44511270/502 dnipélip < huin 7400 1 7.4
44511270/503 dnip6hip q< huwn 1500 3 45
44511270/504 dnipibip qL huwin 1320 2 2.6
44511330/501 wunnunwlwhwlubp L hwin 19700 g 59.1
44511330/502 wunnunwlwhwuubp < hwwn 6500 3 19.5
44511330/503 wununwlwhwuubp G hwwn 690 2 1.4
44511340/501 quiihyntub uwnip < huwiwn 4444 3 13.3
44511343/501 quijihynu L huiwn 2700 2 5.4
44511343/502 qujhynu L huwiwn 644 3 1.9
44511343/503 qujhlynt SL huwin 530 2 1.1
44511343/504 quijihynu < huwin 1200 1 1.2
44511343/505 quiihlynls q< huwin 1440 1 1.4
44511343/506 quij(hlynu YL huwin 3200 1 3.2
44511343/507 quuj{hlynt SL hwn 3880 2 7.8
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44511343/508 quijihyntu 9L huwin 660 3 2.0
44511343/509 guihynt L hwiwn 1080 3 3.2
44511343/510 quyihynt SL huin 740 3 2.2
44511350/501 winnunwywhwuubph uwjptip GL hwin 2280 1 2.3
44511360/502 qnphpubiph nbnwihnfutiwl thgngltin (Y huwin 4200 3 12,6
44511370/501 gnpdhpubiph hwwpwaniutip < hwwn 850 5 4.3
44511370/502 qnpdhpUibph huupwdniubn G< hun 7300 2 146
44511370/503 gnpdhpubiph hwdwpwdniutip L hwwn 10680 2 21.4
44511370/504 gqnpdhplliph hwywpwéniubp QL huin 1620 3 4.9
03411120/501 huwyinwitynyehg wwinpwunywsd wpnwnpup Q< hwwn 5700 100 570.0
14211000/504 wywq, zhiwpwpwlywl GL fud 13800 30 414.0
14211111/502 dwlpwfupf L fud 8900 24 213.6
14811300/501 hnbnn uwywnwyubp Q< huin 178 20 3.6
14811300/502 hnlinn uwwnwlubp ac huitn 178 20 3.6
14811300/503 hnlnn uwywnwiubp < huwin 178 20 3.6
18421130/503 dbinungubip SL qnyg 138 50 6.9
18931130/502 dwlipngbiph wwplbp 9L huwin 65 300 19.5
24911500/502 unupié {wkpngny) 4L huwin 1060 20 21.2
24911900/503 uwihyh unuhtd QL yhingpwd 100 1500 150.0
30192230/501 ulyns’ Bplynndwth unuldywd 9L huwin 1140 10 1.4
30197323/501 Yuwiphs, 50-hg wybiih phpph hwdwp G huwn 2400 2 4.8
31211180/515 wiinndwn wlgwinhsubin QL hwn 4900 2 9.8
31211180/516 winndwun wlgwinpsubip L huwn 2190 2 4.4
31211180/518 winndwin wugwnhsubip 9L hwiwn 690 20 13.8
31211180/519 witnndwin wugwnhsubip 9< huwin 620 5 3.1
31211221/501 whgwinhsubip 9L hwiwn 1790 15 26.9
31221200/501 fupngulbiph nwuhlubp — Jupnwyubip QL hwin 1540 50 77.0
31221220/506 dhwguwl tnuwhbip < hwiwn 295 30 8.9
31221242/501 rynipki 9L hwn 2.1 2000 4.2
31221242/502 nynipkiy L huwitn 156 50 7.8
31221242/503 nynipt CYs hwtn 195 100 19.5
31331192/501 balnpwyw dwyniu’ U4 4L utrnp 214 200 42.8
31331192/502 Erblpnpuilwt dumifu’ UdJS G< dbitnp 49.5 400 19.8
31331192/503 Eiblnpubwy dwinifu’ UddS GL dbwnp 781 100 78.1
31331192/504 Eiblnpuiluwt duynifu' UddS L Ulnp 1880 10 16.8
31531100/501 Eiblnpuibwt judwbp L huutn 3890 40 155.6
31641216/501 huwinntly winnunwy Q< hitn 2.4 1000 2.4
31641216/502 huwwnntly winnwnwly 9L hwn 3 1000 3.0
31641216/503 hwwnntly wnnwnwly QL hwn 5.4 1000 5.4
31641216/504 huwnnily wnnunwy 9L huwin 9.3 1000 9.3
31641216/505 huwinnily wnnunwy 9L hwin 4.5 500 2.3
31641216/506 hwinntl wnnunwly q< hwin 1.98 1000 2.0
31641216/507 hwinnil wnnunwly 9L hwwn 1.68 6000 10.1
31651400/503 ublyniupy dwwwibuubp GL hwiwn 120 50 6.0
31651400/504 dbiynwhs dwwwykuubp &< huin 690 30 20.7
31651400/505 ublyniuhs dwwwybliubp o< huitn 78 20 1.6
31651400/506 ublyniuhs dwwwybliubp a< huin 210 20 42
31681700/507 pwdwlwpwp wnth Q< huiwn 219 15 3.3
31681700/508 pwdwlwnwp wnnwh Q< huin 8640 1 8.6
39132220/502 Yuifuhsubip 4L hwn 150 60 9.0
39132220/503 Yuifuhsubp G< huin 42 200 8.4
39221460/501 pdht' Ubplwpwpulwi q< huin 1540 20 30.8
39221460/502 dpdpt’ ubplwpwpwlwl GL huin 240 10 24
39221460/507 Upaht' ubplwpwpwljwl 9L huwin 186 20 3.7
39221460/508 paht' Ubphwpwpwluwl 9 huwin 267 20 53
39224331/504 NNy Wiwundwub ac huwin 1140 15 17.1
39812600/501 dwppnn dwanifubp — dhinzhtibp qc huwin 750 5 3.8
42921240/505 htinnwghp wwnpwtwlyubn L hwiwn 3333.3 3 10.0
42921240/506 htinniyughp wuip§wliwliubp qc huin 1100 10 1.0
42921240/507 hbnniywghp winpéwbiwlubp QL hwin 810 3 2.4
42951300/501 huwippligunn dbpbuwubph Jwubp QL hwwn 650 3 2.0
44111200/504 gbubln 9. Uhinapud 58.9 2500 147.3
44111400/503 Yuifunup wnwuwnwn GL pu 1310 54 70.7
44111400/504 ulundh wnwuinwn 9 pd 1940 100 194.0
44111412/502 Ubiply, shtwpupwljut ac Yhingpuwid 470 800 376.0
44111413/505 jninwlinply G< Yhingpuwd 1790 10 17.9
44111413/506 Jninuiibnly ac Uhingpud 1260 15 18.9
44111417/501 Uwhiwbpl a< Yhingpud 186 100 18.6
44111419/501 gnuwg S< hwin 300 15 4.5
44111446/502 dblnwhsubip L hwn 1740 30 52.2
44111448/501 obipuwjht deynwhs bynyebip QL huwiwn 1070 60 64.2
44111448/505 obipduyht dklnwhs Wynypbip QL huwin 690 30 20.7
44111710/502 uwihly, Yepwdhlwlwy, hwnwlh hwdwp QL pu 2860 200 572.0
44112210/501 nwihp qc U 2940 50 147.0
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44112730/505 Ywpnn ulwywnuly qc hwin 1680 3 5.0
44112730/506 Yunpnn uuidunwy < hwn 172 100 17.2
44112730/507 Ltnpnn uluigwnuwly < hwin 540 5 2.7
44141200/501 opewlwlubp q< hwn 750 50 37.5
44163400/506 Yepwnpngdwl wlnipubip — wwpgqniuwlubp 9L hwwn 744 400 297.6
44171100/508 uwhlubip (ohtwpwpnipyui) L pu 877 288 252.6
44171100/509 uwihlyubip (phuwpwpnyzguwl) 9L pd 1489 288 428.8
44171110/503 uwhlubph fuwsniy < hwin 990 30 29.7
44191700/502 w)| quliwgul ghtiwnwpwlw Unyatp GL Yhingpuwd 1050 13 13.7
44191700/507 w)| quwqu phtwpwpuwlwl bnyabp G< Uhgngpud 720 15 10.8
44211610/501 wlyniuubip F< hwwn 68 300 20.4
44211610/505 wllyniitibip Gl huwiwn 40 300 12.0
44211610/506 wulyniutbp < huwitn 275 100 27.5
44211610/507 wulyniutbp G huwin 198 100 19.8
44211610/508 wulyniuubp G< hwun 195 100 19.5
44311120/501 thgwiwpbip 9L Uhingpwd 570 5 2.9
44311170/503 bnwlgdwl wwpwgwbp GL hwtn 29 500 14.5
44322550/504 dwiniup winpubp 9L hwin 336 5 1.7
44322550/505 dwnijup wunipubp 9L hwiwn 336 5 1.7
44322550/506 dwnifuh wlmipubp < hwin 570 3 1.7
44331410/506 Ywifunp wnwuwnwnh ghulwwwn wpndhy 9< gbwdbiinp 96 60 5.8
44331410/507 Ywunh wnwunwnh ghuljwuwn wpnhy < géwiibinp 180 6 1.1
44331410/508 Yuipunih wnwuwnwnh ghujwujwin ypndhy < gowbinp 180 15 2.7
44331410/509 Ywiunuh wnwumwnh ghuwwwwn wpnbhp GL géwdbinp 320 100 32.0
44331410/510 Yuwlunuh wnwuwnwnh ghuwwwn wpndhy QL gdwubinp 340 80 27.2
44423480/501 dwlybpbiuh wnuhbp G< huwin 790 10 7.9
44423480/502 dwlbpbuh nnupbp qc huwtn 990 10 9.9
44423480/503 twhbpbup winupbip L hwin 1480 5 7.4
44423600/504 Lusniu dwwyuwdbuubp QL hwin 570 20 11.4
44511260/501 hnywpnine 9L pd 8790 1 8.8
44511260/503 hnjwpeninp q< pd 8790 1 8.8
44511260/504 hnlwpenine q< pu 7900 1 7.9
44521120/510 il (hwlyutiibp a< hwin 290 150 43.5
44521120/511 il thwljwlubp QL huwitn 1238 60 74.3
44521230/505 wiipwljubp a< huwtn 990 3 3.0
44531191/502 tplwpeh funnndwlubp 9L dbkwnp 850 400 340.0
44531191/503 tiplwpl funnndwubp 9L dbnp 1480 100 148.0
44531200/501 ny wwipnipwlwynp wdpwgdwu nbitnuwubp QL hun 480 110 52.8
44531200/502 ng wwpnipwlwynp wipwgdwl nbnwutbp QL hwiwn 240 220 52.8
44531260/501 wwpnipwljwdnp wdpwgdwl nbuwubip < Inwlugd 650 50 32.5
44831500/502 |nidpsubip < Yhingpwd 1080 3 3.2
44921500/501 dtihwdwadhly' ghwuwyhl 9< Uhingpuud 184 150 27.6
44921500/502 Shithwdwéhly' ghuyuwhu 9L Yhingpuwid 54.6 5100 278.5
44921500/509 dbpwiwdhly’ ghujuwihl G< Lpyngpud 127.5 1050 133.9
44921500/510 ablihwdwadhly’ ghujuwihl GL Upngpuud 162 150 24.3
09211631/501 hwlwlnnnghnt jninkin G< Uhngpuwd 3 0.0
38621300/501 hwibih' nhunnnuluwt qc hwwn 30 0.0
39351100/501 Ynjninpubiph dwppdwb uwppbip QL hwn 1 0.0
39722400/505 w)| Yuguinuwhte inbifutiblwih dwubp Q< hwitn 50 0.0
39722400/517 wj| Yeugwnwht wbfuupluwih dwubp G hwwn 100 0.0
39722400/518 wy) Ybbgunuht nbfuthwh dwubip QL hwin 100 0.0
39812500/501 opuwidtiliniupy Wyniebin 9< hwin 10 0.0
42131490/501 up$nu < hwiwn 200 0.0
44131100/501 ynjninnt fughip < hwwn 5 0.0
44131100/502 Ynyninnt fughip L huwitn 5 0.0
44161230/512 funrnywlubph wwpwqubp 9< huwin 40 0.0
44161230/513 Junnniwlubph wwpwguitp < hwwn 40 0.0
44161230/514 funnnywubph wwpwquiibp G< hww 50 0.0
44161230/515 funrnywubph wwpwgutibp GL huswn 15 0.0
44161230/516 funnnyuiubph wwpwgwubp QL hun 40 0.0
44161230/517 funqnduiliubph uwpwgubn ac huwtn 50 0.0
44161230/518 funnnuwlubph wwpwgwbp QL hwwn 40 0.0
44161230/519 funnnyuljubph wwpwgwibn L hwwn 15 0.0
44161230/520 funnnyuwlubiph wwpwgqwbp L hwin 15 0.0
44161230/521 funnnuwlubph wwpwguwbp < hwun 15 0.0
44161230/522 Junnnywlubph wwpwqubp 9L hwwn 5 0.0
44161230/523 funnnulubph wwpwgwubp G< huwwn 20 0.0
44161230/524 funnnywlubph wwpwquiibp < hwwn 20 0.0
44161230/525 funnniwljubiph wwpwgwubp 9L hwwn 50 0.0
44161230/526 funnnywlutiph wwpwgwubp L hwin 20 0.0
44161230/527 funnndwltph wwpwugubibp q< huwtn 20 0.0
44161230/528 funnnyuwljutinh wwpwgwbp GL hwwn 15 0.0
44161230/529 funnnywlutiph wwpwgwubp 9l hwin 15 0.0
44161230/530 funnnywijubinh wwpwguwbp G< hwin 50 0.0
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44161230/531 funnnyulubiph wwpuwgquiubip Q< hiuwn 50 0.0
44161230/532 funnnywlubph wwpwgquiubp QL huwwn 50 0.0
44161230/533 fjunnnywyubiph wwpwquittbnp G huwitn 50 0.0
44163140/502 oph — gnpnpgnt funnnuuwlutip G dbnp 80 0.0
44163140/503 onh — gninp2nt funnnywlubip G dbnp 80 0.0
44163140/504 gnh — gninpgne funnnywlutin L dbwnp 8 0.0
44163140/505 oph — gninpant funnywltip 9L dGwp 8 0.0
44163140/506 oph = gnjnpant funnnywlubp 9L dbnp 16 0.0
44163200/503 junnnuwlubph Jhwgdwl dwubip qL huwn 20 0.0
44163200/511 funnnywliiph dhwgdwu dwubp QL hwn 20 0.0
44163200/512 funnnuwubph dhwguwl duubp ac huin 30 0.0
44163200/513 funnnywlubiph dhwgdwu dwubip < hwin 30 0.0
44163200/514 funnnywlubph dhwgdwu dwubp <L hwwn 20 0.0
44163200/515 funnniwlubnh dhwgdwu dwubip < hwin 15 0.0
44163200/516 funnniwlubiph Jhwgdwu dwubp L hwin 15 0.0
44163200/517 funnniwlubph dhwgdwl dwubip < hwin 15 0.0
44163200/518 funnnywlubiph dhwguwl dwubip | % hwwn 15 0.0
44163200/519 funnniwlubiph dhwguwt dwubip < huwwn 20 0.0
44163200/520 funnnyulubph dhwguiwl dwubip QL huwwn 20 0.0
44163200/521 funnnywlubph dhwgdwl dwubn QL hwin 20 0.0
44163200/522 funnnyuwlubph dhwguwl dwubp QL huwn 20 0.0
44163200/523 punnnywlubiph Uhwguwl dwutip qc huwin 20 0.0
44163200/524 punnndwlubph Uhwguut dwubip 9 huwin 20 0.0
44163200/525 funqnywyubiph dhwgdwt dwubp < hwwn 10 0.0
44163200/526 funnnuwlubph dhwguwl duubp ac huwin 10 0.0
44163200/527 funnnduwiluph dhwgdwt dwubip Q< hwin 10 0.0
44163200/528 funnndwlubiph dhwgdwl dwubp (Y hwitn 10 0.0
44163200/529 funnnuwlbph dhwgdwl dwubp 9< hwin 10 0.0
44163200/530 funnnywlubiph dhwgdw dwubip L hwn 10 0.0
44163200/531 funnnulubph dhwgdwl dwubip 9< huwitn 10 0.0
44163200/532 unnnywlubiph dhwguw dwubp GL huwin 10 0.0
44163200/533 funnnywijubph dpwguwl dwubip Q< hwwn 10 0.0
44163200/534 funnnywlutiph dhwgdwl dwubp L hwwn 20 0.0
44163200/535 funnnyuwlutph dhwgdwl dwubp G huain 20 0.0
44211610/509 wlyniubip G< huwwn 10 0.0
44211610/510 wlyniuubip < hwin 10 0.0
44211610/511 whilyniuubp Q< hwiwn 10 0.0
44211610/512 wblyniuubip QL hwiwn 10 0.0
44211610/513 wlyniuubip a< hwiwn 10 0.0
44411100/502 dnpwlubp 9L huin 30 0.0
44411100/503 snpwlubip G< hwiwn 30 0.0
44411100/512 dnpwlubp qg huwin 100 0.0
44411300/501 (Jwgwpwitbp 9< huin 25 0.0
44411300/505 Jwgwpwlibn G< huwn 20 0.0
44411500/507 thwljuwl’ gunuwé- Q<L hwin 20 0.0
44411500/508 thwlwl' glinuwé- < huwin 20 0.0
44411500/509 thwlwt' gnwé— gL huwitn 20 - 0.0
44411500/510 i’ qunwa- 9L huwin 20 0.0
44411500/511 i’ - < huwitn 20 0.0
44411500/512 thwluwt' gunus— 9L hwn 20 0.0
44411500/513 thwlul’ qunwd- q< huwtn 20 0.0
44411500/542 iy’ gunuid— QL hwin 80 0.0
44411740/501 gnigpwbiwlynp Q<L hwwn 25 0.0
44411742/501 griqupubwlntiph defuwlihqd q< huitn 50 0.0
0.0
Ubktugwnuijht mbluthliw b wywpwgwkp
30211200/503 rynipulhn hwdwlwinghsubp ac huwin 289998 10 2900.0
38311100/502 Eyunpnuwght Ypbinplibip — wwpwguwibip GL hiutn 16800 1 16.8
38311100/503 Eilunpnuwghte Ypbinplibp — wwpwqwbp QL hiun 6950 5 34.8
39711140/502 YEUgunuwht vwnlwpwtbp QL hwin o I_f 52'360
39714210/501 onnpiulihs, 9000 BTU 9L hwin 8 0.0
39714220/501 onnpwlhs, 12000 BTU SG< hwin 100000 8 800.0
39714220/502 onnpwlhg, 12000 BTU 94 hwwn 179900 g 53.9?5
39717100/501 hnuhwphsutip qc hwin 5000 10 50.0
0.0
Cwdwlwpgswiht uwppwynpnud
30211280/602 Zwiwlwpghs wdpnnep dbljnud G< hwiwn 325000 35 11375.0
30239110/501 Sujhs pwquwbnitilighntiw) o< huitn 185000 3 555.0
30239110/502 Sughs 3-p dblynud 9 huin 125000 20 2500.0
30239110/503 Sughs thnpn GL huin 67000 10 670.0
30237411/501 Ulhtuply 9L hwin 1600 20 32.0
30211170/501 Uhlypminhly G< hwin 32000 2 64.0
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32561600/501 Unjwuyintip 9L hwin 13000 50 650.0
32421300/501 Uyhs/8 port 9L hwwn 5000 10 50.0
32421300/506 Utlhs/5 port q< huwin 4000 10 40.0
32421300/507 Uihs/24 port 9L hwwn 40000 3 120.0
30231100/501 WIFI uwpp 9L hwwn 7560 10 75.6
30232231/501 Zwdwlwpgswght Ynan uljuiwnuly q< hwwn 27000 2 54.0
32421100/502 Swuguyht dunifu Q< hwwn 25000.2 2 50.0
Wulhnnuwiht wjwpwqwbp
39518100/502 Uwghinwybinbuh hwywpudnt < hwin 389 0.0
39141200/501 ubippuwbh bpbu QL hwwn 128 0.0
30511100/501 Owdlyng (wntiw), hwuwn) q< hwwn 65 0.0
39511100/502 Dwdlyng (wnbiw), pupuwly) 9< hwin 54 0.0
39516122/501 Puwpd 9L hwwn 100 0.0
39511100/506 ubpdwl (pupwl) < hwwn 70 0.0
39511100/507 Ubpdwl (dhght) < hwwn 20 0.0
395111501502 Ludwinpuwuthy Q< hwwn 173 0.0
39511130/511 Uwiwt nh wnbnuidinfubint huidwp 9L hwn 70 0.0
39511130/514 Uwifw 4L hwn 25 0.0
39514100/501 Upphs guidpnguhtu QL huwiwn 36 0.0
39514200/501 Upphs hijh G huin 6 0.0
38514500/501 bpbuupphy G< huwwn 36 0.0
39514100/502 Upphs puwdpuwljw gG< huin 10 0.0
Utuniun
3200 0.0
15321200/50
/504 funwgywd hjnie 9L {htnp = T600 T080.0
5280 0.0
15321200/505 hu
g g < ipuan 745 2640 1966.8
1600 0.0
15821500/504 [ s qG< L
PR A 1430 800 144.0
1600 0.0
15842110/505
/ Untidbin, onynpunwujwin 9< ug 710 300 T586.0
8000 0.0
41111100,
o it gnip +< than 1752 500 87.6
npwiuwnpunwiht wypwiptbp b bynekp
09132200/3 pkiught, nbgnuywp EUS lhuip 490 3000 1470.0
0913220011 phught, nbgnywp uu |hinp 480 300 144.0
09135200/3 htinnily qug (=01 [htnp 150 1000 150.0
ounusnk@3NrLLEP
70311200/503 twpwdpubph dwpdwlwnipjwl dwnwjnyajnit G npwd 17952000 1 17952.0
50311120/501 buauAPg Rt wIARYPH Whuuibdat - ipuitinogiui a¢ A 1644300 1 1644.3
Swinwinyainiuubn
792111501 wntphwnnpuwlwt dwnwjnysiniutbp 9< npuwd 1884000 1 1884.0
7163111011 uwppbiph unnigdwl dwnw)nyejniiubip Uy npwd 426000 1 426.0
98111121/501 whnwlignipwy wwwhnydwl dwnwjnyznitubp q< npwd 2816666 1 2816.7
50421100/503 prgnuls g Rt ALSyuSnpRGRHD — UHURIAING a< nnw 1572000 1 1572.0
Swnwiniaintitibin
48221400/1 hutdwguNiguIRG beh jupigpauty hidwhungsuit Spugpespls ) AW 990000 1 990.0
thwpliptbp
98111121/2 wiinwbigniejwl wuywhnddwl Swnwjnigniilbp uu npwd 480000 1 480.0
501111801 wnndbipbuwubph (dwgdwt — Uiwuwnhy dwnwjngzmutbn uu rpuud 558000 1 558.0
50531230/501 qhlbpuwnnpbbph UEpwlnpnguuwt — wwhuwwldul q¢ npw 408000 1 408.0
Swnwinyjniuubp
71351540/1 wnbifutthuwlwl hulnnnip(wt dSwnwjnyjniilbp uu npwd 300000 1 300.0
98111140/1 hiinhtwlwht huynnnipjwl dwnwjnyajniutibp uu rhuud 100000 1 100.0
70311200/502 wnwnwdptibiph Jupdwlwinye)wl Swnwjnupniitip G< npwyd 17952000 1 17952.0
50731100/501 UMb UG GapuRne R Whugiliut ac Ay 4600000 1 4600.0
Swnuinuainiuibn
Ywhnyph YEpwunpnquwl Swnwjnipniuubp
50851100/501 Ywhnyph Jepwunpngdwl — wwhywdwt dwnwjnip)niibn G hwwn 38000 3 114.0
50851100/502 Gwhnyph Japwinpngdwl — wwhywldwl dwnwjnipniulitn Qg hwin 30000 3 90.0
50851100/503 Ywhnyph Yapwunpngudwy — wwhwwidwl Swnwjnipgniittp 9< hwtn 72000 1 72.0
50851100/504 Ywhnyph Yapwunpnguwt — wwhwwbdwl dwnwjnigniiutp qg hwtn 53400 5 297.0
50851100/505 Luhnyph Yapwunpnguwt — wwhujwtidwl Swnwniegniutbn < hwwn 31923 39 1245.0
50851100/506 Ywhnyph Ytpwbinpnguuwt — wwhuwwidwt dwnugnygjniutbn G< hun 73800 5 369.0
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50851100/507 Ywhnyph Yapwunpngdut — wwhwwidwl dwnwjniypgniitibn QL hwn 66600 15 999.0
50851100/508 Ywhnyph Yapuwtnpngdwt — wwhywudwl dwnwjnyzgniitibp < hwn 72000 1 72.0
Swuwgpwljwl Ownujnipntl 1
79821180/950 unyuigpulwt — pupfudwl dwnwjnipniulibip GL npwd 39600 1 39.6
79821180/951 inwapwlwy = pusfudwy dwnw)nipyniuubip 9L npwd 12600 1 12.6
79821180/952 nwwgpulwi — pwohudwl dwnwjnyzjniutibip < npwd 164000 1 164.0
79821180/954 inwwapuiljwl — pwsfudwl Swnwjnigniiubp 4L npwd 164000 1 164.0
79821180/955 nwwgnulwi — pugfudw Swnwjnyeyniubp 9< nnwd 10200 1 10.2
79821180/956 nwywgnpwwl — pwofudwl dwnwjnyziniulbp Q< npwd 24750 1 24.8
79821180/957 nwwgpulwl — pusfudwl dwnwjnyeniiubp 9L npwd 19800 1 19.8
79821180/958 inwywgpulwl — pugfudw dwnwnyeniitibp 9L npwd 33000 1 33.0
79821180/959 unywgpuwwl — pugfudwt dwnwjnygniiubp S npwd 19560 1 19.6
79821180/960 nywgpuljwl = pugfudwl dwnwynipniiin < npwy 29340 1 29.3
79821180/961 nywigpuljw = pugfudwl dwnwjnipniiubp QL npwd 39600 1 39.6
79821180/962 nwgnulwt — pwgfudw dwnwjnipniubin G< npwud 39600 1 39.6
79821180/963 inwywgnpuljwl — pugfudwy dSwnwjnyniibn QL npwd 19800 1 19.8
79821180/964 nwyuwgpuywl — pugfudwt dwnwnysgniiubn < npwd 41000 1 41.0
79821180/965 wiyuwgpuljwy — pwsfudw dwnwnipniutbin 9L npwyd 19800 1 19.8
79821180/966 nwwgnpuwt — pughudwy dwnwnyniitbp QL npwd 39600 1 39.6
79821180/967 nwywgpulwl — pwohudwl dwnwjnyzniuubp QL npwd 19800 1 19.8
79821180/968 inuywgnuwhwl — pushudwl dwnwnyaniulbp 9L npwd 42000 1 42.0
79821180/969 nwwgpubiut — pwzhudwi dwnwjnysniuubp qGL nnwd 39600 1 39.6
79821180/970 inwwgpuliut — pwshudwt dwnuyniginiubp L npwid 79200 1 79.2
79821180/971 njwgpuwiuw — puphudwl dwnwynyajniuubp 9L npwd 13120 1 13.1
79821180/972 nwwapuiliut — pwpudwt dwnuyni@nitlbp QL npwd 8200 1 8.2
79821180/973 nwugpulwl — puohudwt dwnwnyagniulbp QL nnwd 63360 1 63.4
79821180/974 nwwgpuliwt — pwohudwt dwnwniainiiubp qL npwd 1140 1 1.1
79821180/975 nwuwgnpuliut — pwaudwl dwnuynie)niitbp G< i 2550 1 2.6
79821180/976 nwwgpuilwl — pwgpudwl dwnwynipjniitbp G< il 1700 1 1.7
798211807977 nwwignuiljwt — pughuduwls dwnwniagniibp 9L npwd 1500 1 1.5
79821180/978 nwwigpuiljwt — pwzpudwl Swnwgnipniitbp 9L npwd 57400 1 57.4
79821180/979 nwywgpwliut — pwapudwt dwnwgnyagniuubip Q< npwyd 3400 1 3.4
79821180/980 nuuigpualjut — puzudwl Swnwnyejniutibip L npwd 5040 1 5.0
79821180/981 nwwgplulut — pwaudwl dwnwjnyejniutbp G npwd 2550 1 2.6
79821180/982 wwywgpuiljwl — pugpudwl dwnwjnyzniubp G npwd 99000 1 99.0
79821180/983 nywgpuiliwl — pwppulwl dwnwynye)niiubp < npwd 19560 1 19.6
79821180/984 nywgpuljwl — pugpulwul dwnwynipnilbp G< npwd 9840 1 9.8
79821180/985 nwwgnwljut — pwpudwy dwnwynygniutbip QL rpuwid 39600 1 39.6
79821160/987 inwigpulw — pwsfudwl dwnwjnyzniubp G< npwd 358800 1 358.8
79821180/988 inwwgpulwl — pugfudwy dwnwinyejniititin QL npwid 3800 1 3.8
79821180/989 unywgpulwy — puwgtudwl dwnwjnipniibp Q< npwud 198000 1 198.0
79821180/990 nywgpuwl — pwstudwl dwnwnyaniiubp QL npwd 198000 1 198.0
79821180/991 inwwgpuijwl — pugfudwt dwnwnyeniitiin L npwid 99000 1 99.0
79821180/994 inwywgpwlwl — pugfudwl dwnwnyniiubn L npwd 1296 1 1.3
79821180/998 nwjuwgpulwl — pugfudwy dSwnwnyeniibp < npwd 39600 1 39.6
79821180/999 wywgpulw = pugfudw dwnw)nipyniuubip q< npwd 38600 1 39.6
Sujwqpwljwlt Twnwjnipntt 2

79821180/1000 nywgpulwt — pwghudwl dwnwjnyzniuubp QL npwd 43020 1 43.0
7982118071001 inywgpuiljw — pugfudwl Swnw)nipiniiutip QL npwd 28,800 1 28.8
79821180/1002 nwywgnpulwl — pwsbudwl dwnwinizniiubin q< npwd 6,300 1 6.3
79821180/1003 iiywgnulwy — pugfudw dwnwjnupniibin L il 1200000 1 1200.0
79821180/1004 inwywgpuwi — pusfudwl dwnwjnyaniuibin 9L npwd 35940 1 35.9
79821180/1005 nwwgpuiljwl — pwohudwl dwnwjnyzniuubp q< npwd 35940 1 35.9
798211801006 nwywgpuywl — pugfudwy Swnwjnyesniittip 4L nnwd 4,200 1 4.2
79821180/1007 nwwigpulwt — pughudwy dwnwnygniibp L nnwd 4,400 1 4.4
79821180/1008 nyuwgpwwl — pugfudwy dwnwinyeniitibin < npwd 8,700 1 8.7
79821180/1009 nwyuwgpuwl — pugfudwt dwnwnipjniittbip QL npwd 4,350 1 4.4
79821180/1010 inywgpuwljwl — pwofudwl dwnwjnyzjniiibip < npwd 116,000 1 116.0
79821180/1011 nwwgpwlwl — pughudwy dwnwnyagniiubip L nnwyd 15,000 1 15.0
79821180/1012 nwwgnpuijui — pugfudwt dwnwjnysniiubp < npwd 13,200 1 13.2
79821180/1013 nyuwgpuljwl — puzfudwy dwnwnpjniibp < nnwd 80280 1 80.3
7982118011014 inwjwgpulwl — pwsfudwl dwnwjnyainiuubp < npwd 15,400 1 15.4
79821180/1015 nwjwgpulwl — pwohudwl dwnwjnyziniuubp q< npwd 29,000 1 29.0
79821180/1016 wywgpulwl — pugfudwl dwnwjnipiniubin q< i 14,900 1 14.9
79821180/1017 nuwgpulwi — pushudwl dwnwjnyainiuubp L npwid 88,000 1 88.0
798211801018 inwugpuiliuit — pwzhudwt dwnwjnipiniilbn L il 282960 1 283.0
79821180/1019 inwwgpuljut — pwahudwl dwnuwynipniutiip G il 300000 1 300.0
79821180/1020 nwywgpuliwt — pwshudwt dwnwjnaniutbp a< npwd 300000 1 300.0
79821180/1021 wnujwgpuwiuw — pwziudwt dwnwjnynivubn < il 1,900 1 1.9
798211801022 nwwgpulwl — pugfudwb dwnwnyainiuubin 4L npwd 9,600 1 9.6
79821180/1023 nwwgpulwl — pwshudwl dwnwniyeniuubp G& npwid 300000 1 300.0
79821180/1024 nuwgpulwl — puhudwl Swnwjnigniulbp < npwdd 4,800 1 4.8
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79821180/1025 nwywgpuywl — pusfudwy dSwnwjnyniitbp G nnwid 44160 1 44.2
79821180/1026 nywgpulwl — pustudwl dwnwnyagniubp < npwd 22,800 1 22.8
79821180/1027 wnyuwgpuljwl — pugfudw Swnw)nyyniiubip GL npwd 300000 1 300.0
79821180/1028 nywgpulwl — pugfudwl dwnwnyniibp L npwd 1 0.0
79821180/1029 nuwgpuluw = pugtudwt dwnwjnipniitibip QL npwd 323400 1 323.4
79821180/1030 nyugpulwl — puwsfudwl dwnwynyziniiubp L npwyd 1 0.0
7982118071031 inuwgpuijwt — pwgfudwl dwnwjnignittbp 9L npwy 1 0.0
79821180/1032 nwgpulwy = pwstudwy dwnw)nyppniutibip Q< npwd 1 0.0
79821180/1033 wnwgpulwl — pwgfudwl Swnwjnyeniubp G npwd 1 0.0
798N180/1034 inwyuwgpuijwl — pwzfudwt dwnwjnyesniitibip 9L rpwid 1 0.0
79821180/1035 wuwgpulwi = pusfudw dwnw)nipyniuubip Q< npwd 1 0.0
79821180/1036 wnywgpulwi — pugfudwi dwnwjnieniiubip 94 npwd 1 0.0
7982118011037 nywgpulwl — pwshudwy dwnuinypniiibn Q<L iy 1 0.0
79821180/1038 nywgpulwl — pwzhudwy dwnwinyeniiibin 9L npwd 1 0.0
79821180/1039 thuywgpulwl — pusfudwl dwnwjnipniuubp G rpwd 1 0.0
75821180/1040 wiyuwgpuiljwt = pugfudw dwnwjnipniilbipn 9 npwud 1 0.0
79821180/1041 inwywgpulwl — pugfudwt dwnwnyiniittbn L npwd 1 0.0
79821180/1042 nwywgnpuiwl — pugfudwy dSwnwnyniiubp 9L npwd 1200000 1 1200.0
79821180/1043 unyuwgpulwl — pughudwy dwnwnyniiubp QL npwd 1200000 1 1200.0
79821180/1044 nwwgpulwl — pwstudwl dwnwnyeniubip 9L nnwd 22200 1 22.2
79821180/1045 nwywgpwlwl = pugfudwl dwnwjnyaniiubp 9L npwd 67080 1 67.1
79821180/1046 nywgpulwt — pwziudwl dwnwjniepniutbp < npwd 22200 1 22.2
79821180/1047 nywgnwlu — pwaudwy dwnwjnysjniutbp G ) 114,000 1 114.0
79821180/1048 nywgpuwljwl — pwobudwl dwnwinysniiubip QL nnwd 132,000 1 132.0
79821180/1049 unywgpulwl — puighudwt dwnwnyesniiibp 9L npwd 33,000 1 33.0
Syuwqpwlwl wypwipubp 3
22451240/501 pluuly L huwin 2,33 50000 116.4
20451240/502 pLwul) q< huwtn 2.45 10000 245
22451240/504 pluuly < hwiwn 6.78 15000 101.7
22451240/505 pluuly X hwn 2.44 12000 20.2
23451240/506 plusuly < hwin 2.50 2000 5.0
22451240507 pluly < huwin 250 2000 5.0
22451240/508 plutly < huwin 2.33 20000 46.6
22451240/509 puwitly qL hwin 2.20 5000 11.0
22451240/512 pluily q< hwin 2.40 2000 4.8
22451240/513 plutly 9L hwwn 2.47 8000 19.8
22451240/514 pluuly < hwin 2.30 5000 1.5
22451240/515 pluiy GL hwin 2.30 4000 9.2
22451240/516 pLuty < hwin 2.30 5000 1.5
22451240/517 pluuy 9L huwin 2.30 2000 4.6
22451240/520 pluly 9L hwin 2.48 8000 19.8
20451240/521 Pl < huwin 2.48 10000 24.8
22451240/524 pluiuy aL hwwn 3.47 20000 69.4
22451240/525 pluly 9L huin 1.04 40000 41.5
22451240/526 pluwuly < huwn 2.39 13000 31.0
22451240/527 pluuy GL huwin 2.20 5000 11.0
224512404528 pluily 9L huwtn 2.38 20000 47.5
22451240/530 Pl < hwun 210 10000 21.0
22451240/531 pluy Q< huin 1.90 20000 38.0
22451240/533 pluil 9L huutn 2.04 50000 102.0
22451240/534 pluitiy a< huwwn 1.50 15000 225
22451240/535 pluly a< hwin 1.55 50000 77.4
22451240/536 pluuly YL hwwn 1.55 40000 61.9
22451240/537 pluil 9L hun 1.91 25000 47.7
22451240/538 plutl o< hwin 85.0 1000 85.0
224512407542 pluuly SL huwn 2.50 1000 2.5
22451240/543 pluuy GL huwtn 2.30 4000 9.2
22451240/544 plwuy QL huuin 2.30 2000 4.6
22451240/545 pluuy QL hwin 2.30 2000 4.6
22451240/546 pluiuy L hwn 1.90 38000 72.2
22451240/547 pluily G huwin 1.90 20000 38.0
22451240/548 pluuy G< huwiwn 2,50 1000 2.5
22451240/549 plutly < huw 4.18 5000 20.9
22451240/554 Pl < huuun 2.20 2000 4.4
22451240/556 pruuly G hun 2.20 2500 5.5
22451240/558 pLuly qc huwin 2.46 10000 24.6
22451240/559 pluy L huin 220.0 600 132.0
22451240/560 pluiuy 9L hn 210 5000 10.5
22451240/567 ppul q< huwin 2.46 11000 27.1
22451240/568 pluuy 9L huwin 2.38 20000 47.5
Suwjwgpuljwl wuypwupubp 4
22111200/501 |Lnu4tqun{wér wy| gppbip | a9< huwin 3 0.0
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22111200/502 wnwagnywd w)| gppbp G< huun 3 0.0
22111200/503 nwwignywd wy gppbip <L hwin 10 0.0
22111200/504 nwwgpywd wy gppbp L hwn 1 0.0
22111200/505 nwjugpywd wy gnpbip < hwin 50 0.0
22111200/506 nwjwgnpyuwéd wj gpphip Q<L hwun 10 0.0
22111200/507 nwywagnuuwd w) gppbip < huwn 5 0.0
22111200/508 wnwywapywé wy gppbip 9< hwwn 20 0.0
22111200/509 nwwignyud wy gppbip 9L hwin 10 0.0
22111200/510 nwwigpuwd wy gppbip GL hwin 15 0.0
22111200/511 nwwgpwd wy gppbp G< huwin 8 0.0
22111200/512 nwwgpyuwd wy gpebp QL huwin 2 0.0
22111200/513 nwjwanpduwd wj| gppbp QL huwin 10 0.0
22111200/514 nwugpywd w) gppbip QL huwwn 100 0.0
22111200/515 nwwgpuwd wy gppbip QL huin 100 0.0
22111200/516 nwwgpyuwd w)) gpphbp QL huwin 20 0.0
22111200/517 wnwwigpuuwd w) gpphip GL hwwn 10 0.0
22111200/518 nwwgpwd wy gppbp QL hwwn 60 0.0
22111200/519 inuwjwigpywd wy) gppbip G huin 120 0.0
22111200/520 nywgpywd wy gppbp L huwn 12 0.0
22111200/521 nwwigpywd w)) gppbp 9L huwin 5 0.0
22111200/522 inwignwad wy gppln QL huwn 10 0.0
22111200/523 inuywignywéd wy| gppbn 9L hwitn 7 0.0
22111200/524 nwwgpywd wij| gppbp QL hwin 2 0.0
22111200/525 inwuwgplwd wj gppbp L hwwn 2 0.0
22111200/526 nwwgpyws wj| gppbp < hwin 3 0.0
22111200/527 nwwgpwd wy gpphp < hwwn 4 0.0
22111200/528 nwwapluwd wy gppbp GL hwwn 4 0.0
22111200/529 wnuyugpyuws wy gpplip 9 huitn 4 0.0
22111200/530 nwwgnwsd w) gppbp QL huin 2 0.0
22111200/531 wwgpywd wy gppbip QL huwiwn 2 0.0
22111200/532 wnwwgpdwd w) gppbip q<L huwn 14 0.0
22111200/533 wnwwigpdwd wy) gpphbp L hwin 60 0.0
22111200/534 nwywgnywséd wy gppbp 9L hwin 180 0.0
22111200/535 inwwgpywd wj gppbp QL hwwn 120 0.0
22111200/536 inuwagnywéd wy) gppbn 9L hwn 120 0.0
22111200/537 nwwgpywéd wy gppbip 9L hwin 40 0.0
2211200/538 wnwjwagpduwd wj apphkp G< huwn 35 0.0
22111200/539 nwwgptwd wy gppbp QL huwwn 20 0.0
22111200/540 wnwwgptuwd w) gpphp QL hun 150 0.0
22111200/541 wwwgpyuwd wy gppbip G huwwn 40 0.0
22111200/542 inwjwgnywé wy gppbip L hwin 10 0.0
22111200/543 nuwgpywd wy) gppbip QL hwin 15 0.0
221M1200/544 nwwagnywd wy gppbp QL hwin 15 0.0
211200/545 inwwignywéd wy gppln QL hwin 10 0.0
2A11200/546 nujugpywd w)| gppbp aL huwin 5 0.0
2111200/547 nwwgpywé wy gpphip a< hwn 10 0.0
30197236/501 prpwwwuwl' wwugnghp G< hwwn 2000 0.0
224512404570 putiutn hwdwdwuwghp 9L hwin 2000 0.0
22451240/571 putljutin nbnwwnnidu < hwwn 5000 0.0
30192151/501 Yupp, wyunndwun, nnnuulyniu G hwiwn 9 0.0
Uzfuwwnwlptibp
45461100/501 okupbiph, shtinieiniubinh pupwghly Unpngdwt wyuwwnwputip QL npwd 11830140 1 11830.1
45331111 onwthnfudwl uwppbiph nbnwnpdwl wofuwnwbptbip uu npwud 990000 1 990.0
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